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]mWjX UkjUYW�Wj U � m Y mjW�hXj a �]VhU�X �X� WjX � Xj �U� Wj� W k]mUYX Y]jUlhW WVhXVU�XV Wl � mV �jm� WjUV ml�WVhmkU� mXlWV � TXj V] WV�]Wj�X Wl kWlWjUZ � �Xj ZUV X�Xjh]lmYUYWV\]W � W �U �jmlYUYX � TXj V] U�X�X � �U� mWl�mU �
ikjUYW��X UZ � j � � �� � TUjWYWV a �Xj ZU X�Xjh]lmYUY YW �XlX �Wj V] kj]�X YW hjU�U� X Wl[Uj�WZXlU � � jU�mUV �UZWlhm � TXZ �Xj � XVhjUj� W V] �m]YUY a � �Xj ZU �XZU�XjU� m l �jX�WVmX!lUZ �
" #Ulh hX h�Ul$ �Xj ]VW�]Z UlY mlhWjWVhmlk ZWVVXlV V�UjWY �� TjX �WVVXj ihV]X %$U�U$ m �
� jU� mUV U gWXlUjYX TWZZm��U � Xj WlVW�Uj� W \]& WV ]l � XlhW 'UjZX a � �U� Wj UhWlYmYX UhXYUV � mV �XlV]ZhUV �
ikjUYW��X UZ � WjVXlUZ � U]hXjmYUYWV YWZ "lVhmh]hX ijkWlhmlX YW � UYmUVhjXlX�(U � YWZU )U�]ZhUY YW ' V � iVhjXl � m�UV � � WX �(Vm�UV �Xj V] �XZU�XjU� m l W mlhWj&V Wl ZU �jWVWlhWhWVmV � ikjUYW��X UZ 'XlVW� X `U� mXlUZ YW "l�WVhmkU� mXlWV ' mWlh (*�UV � +&�lm�UV �Xj �U� Wj� WXhXjkUYX ZU � W�U \]W � W � Wj� mhm YWYm�Uj� W Wl �Xj� U W,�Z]Vm�U U WVhU ml�WVhmkU� m l � +U�!

� m&l UkjUYW��X UZ '%` "'-+ a ZU �]lYU� m l i`+%�'.i^ � ZU i`T'�+ �Xj ZXV V]�VmY mXV\]W � m�mWjXl �XVm� ZW hWlWj ZXV WZW� WlhXV �UjU hjU�U� Uj �
i�jW�mX ZU �X��U�(U a ml�Z]VX U ZU YmVhUl� mU a YW ZUV �� m�UV YWZ �i��i � -l WV� W� mUZ akjU� mUV "ZWUlU �Xj WZ UZmWlhX Wl WVhU / Zhm� U WhU�U �
ikjUYW��X UZ kj]� X YW WVhjWZZUV [W b� XYWZXV YW - VhjWZZUV TW�]ZmUjWVf YW ZU )'i�gT

�Xj ZXV U� WlXV VW� mlUjmXV U ZXV \]W � W �Ul ml� mhUYX �
^UZmWlYX YW WVhW 0�� mhX �mWlh(*�X a ZXV UkjUYW� m� mWlhXV � WjVXlUZWV ZXV YW� X U \]mWlWV

�Ul WVhUYX VXVhWlm&lYX� W a Uk]UlhUlYX � UZWlhUlYX Y]jUlhW WVhU WhU�U � i )Wj a �Xj hXYX �i � U�0 � 1 U � mV \]WjmYUV U� mkUV \]W �Ul �Ul�UYX � mV lWj� mXV W mlWVhU� mZmYUYWV �
) mlUZ� WlhW a \]mVmWjU YWYm�Uj WVhU hWVmV U ZU � W� XjmU YW � UjmU - ZWlU � mX ZU a Wl WhWjlXUkjUYW� m� mWlhX �Xj V] �X��jWlVm l �
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-lhjW ZXV �jX� ZW� UV �0V m��XjhUlhWV YW ZU UVhjX �(Vm�U VW YWVhU�U ZU �UZhU YW ]lU �ZUjUmYWlhm*�U�m l �UjU ZUV �]WlhWV YWhW�hUYUV U �]� UZhUV WlWjk (UV b� cee � W� f � Xj hWZWV�X� mXVVUhWZmhUZWV � -l ZU U�h]UZmYUY a YWhW�� mXlWV U WlWjk (UV �0V UZhUV U/l b��ee � W� f WVh0l VmWlYXX�hWlmYUV �Xj hWZWV�X� mXV '�WjWl$X� � -l �X�� mlU� m l �Xl WVh]YmXV �]Zhm�jW�]Wl� mU a WVhUVX�VWj�U� mXlWV � ZUlhWUl l]� WjXVXV YWVU�(XV hW jm�XV �
-lhjW ZUV � XVm� ZWV �XlhjU�UjhWV YW ZUV �]WlhWV kU�� U kUZ0�hm�UV a ZXV VmVhW� UV � mlUjmXV

�Xl U�jW�m l �jmlYUl W,�WZWlhWV � WjV� W�hm�UV a U ZUV \]W VW V]� U ZU jW� mWlhW YWhW��m l WlWZ jUlkX +W� YW � � mlUjmUV YW jU�XV � � -l ZU �jWVWlhW ml�WVhmkU� m l YX �hXjUZ lXV �W� XV
�X �UZm�UYX Wl ZU W� mVm l kU�� U XjmkmlUYU Wl � mlUjmUV YW kjUl � UVU �Xl U�jW�m l a YW� mYX UZU mlhWjU�� m l YW �jXhXlWV jWZUhm� mVhUV �Xl WZ � WYmX ZX �UZ � � m��X �jX �WVX kWlWjU jUYmU�m lkU�� U U hjU�&V YWZ YW�Um� mWlhX YW ZXV � mXlWV lW]hjXV \]W VW �jWUl Wl ZUV �XZmVmXlWV

pp
�

- V� W�(*�U� WlhW a �W� XV WVh]YmUYX WZ �UVX YW ]l X�� WhX �X��U�hX YW �U� X �U��X � Ukl&!hm�X a �U�U� YW W�W�h]Uj W�W�� mXlWV YW � UVU �Xl*lUYUV Wl ��XjjXV YW �Ujh (�]ZUV jWZUhm� mVhUVb� m�jX �]0VUjWVf � -l WVhW �XlhW,hX a �W� XV W,� ZXjUYX hU�� m&l ZU W� mVm l ZW�h lm�U VW�]l!YUjmU � � WlhjX YW ZXV � WhV VW kWlWjUl �UjWV jWZUhm� mVhUV UZ YW�UWj � mXlWV �UjkUYXV a \]W VXlXhjX V]��jXY]�hX YW ZUV �XZmVmXlWV
pp

� ^W jWVXZ� m Wl �Xj� U �XlVmVhWlhW ZU W�XZ]� m l YW WVhU
�X� ZU� m l YW �UjWV a hWlmWlYX Wl �]WlhU ZUV �&jYmYUV YW WlWjk (U jUYmUhm�UV � UYmU�0hm�U a �VW �UZ�]Z V] W� mVm l Vml�jXhj l � 'X��hXl ml�WjVU �
gU �XlhjX�WjhmYU �]WlhW g^ " ��c �e� �U VmYX WVh]YmUYU mlhjXY]� mWlYX ]l � XYWZX YW

� m�jX �]0VUj �UYj lm�X �UjU V] W� mVm l
γ
� i hUZ *l VW � XYm*� WZ � XYWZX YW �X� WjX Wh UZ �b�ee�f �UjU ml� Z]mj ZU kWX� Whj(U YWZ YmV�X � mj�]lWVhWZUj \]W U�XjhU ZXV �jXhXlWV � ZUl�X � ZU

�UjmU� mZmYUY Wl ZU hUVU YW U�jW�m l YW � UVU a \]W U V] �W� a m�� XlW ]lU Zm� mhU�m l WlWjk&hm�UU ZU �XhWl� mU ZZW�UYU � Xj ZXV � WhV � . W� XV �XZU�XjUYX Wl ZU m�� ZW� WlhU� m l YW Vm�]ZU� mXlWVYml0� m�UV b^T. f hjmYm� WlVmXlUZWV �UjU ZU hjUlV�WjWl�mU YW � UVU Wl g^ " �� c �e� � ^W
�X��UjUjXl ZXV �UZXjWV X�hWlmYXV �UjU ZU hUVU YW U�jW� m l �Xl WVhm� U�mXlWV UlUZ(hm�UV a YXlYWVW UV]� W \]W ZU U�jW� m l WV WV�&jm�U � X �]jjW UZ WVhUj WZ X�� WhX �X��U�hX ml� WjVX YWlhjXYWZ YmV�X � mj�]lWVhWZUj YW ZU �jm� UjmU � iYW�0V a &VhUV � XhjUV Vm�]ZU� mXlWV lXV � Wj� mhmWjXl
�XlhjUVhUj ZU �U�hm� mZmYUY YW ]l WV�WlUjmX YW U�jW� m l_W�W�� m l �XlhjU ]lX YW �XZmVm l YW
� mWlhXV �UjU W,� Zm�Uj WZ �X�� XjhU� mWlhX YW WVhU �]WlhW �
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TXj XhjX ZUYX a WVh]YmU� XV WZ �UVX YXlYW WZ X�� WhX U�jWhUlhW WV ]lU WVhjWZZU YW lW]hjXlWVUZhU� WlhW � UklWhm�UYU a UlUZm�UlYX Wl �Ujhm�]ZUj ZU W� mVm l YW �]� UZhUV WlWjk (UV Y]jUlhW]lU W,� ZXVm l kmkUlhW YW jU�XV � � �]jUlhW WVhU W,� ZXVm l a ]l YmV�X YW U�jW� m l hjUlVmhXjmXVW �Xj� U Wl hXjlX U ZU WVhjWZZU YW lW]hjXlWV � -l ZU � UklWh V�WjU YWZ �]ZVUj a WZ � W�UlmV� XYW '�Wlk � �]YWj� Ul �]WYW �jXY]� mj ]lU �XjjmWlhW YW �jXhXlWV jWZUhm� mVhUV \]W VW YmjmkWl
�U�mU WZ Y mV�X a YXlYW m��U�hUl �jXY]� mWlYX jU�XV kU�� U W mlm�mUlYX �UV�UYUV �UYj lm�UV
� WZW�hjX� Ukl&hm�UV � - Vh]YmU� XV �Xj VW�UjUYX U�� XV �jX �WVU� mWlhXV �

-l ZXV �UVXV �XlhW�� ZUYXV a YXlYW ZU � mlUjmU �XlhmWlW ]lU WVhjWZZU YW hm�X WV� W�hjUZ � X�Wl aZU �jX�UkU� m l YW ZXV jU�XV
γ

�]� WlWjk&hm�XV kWlWjUYXV Wl WZ �XZ]� Wl YWZ VmVhW� U � mlUjmX
�]WYW mlY]� mj WZ YWVUjjXZZX YW �UV�UYUV WZW�hjX� Ukl&hm�UV YX� mlUYUV �Xj WZ � W�UlmV� X YWYmV� WjVm l 'X��hXl ml�WjVU � . W� XV YWVUjjXZZUYX ]l � YmkX �UjU ZU Vm�]ZU�m l � XlhW 'UjZXYW �UV�UYUV ]lmYm� WlVmXlUZWV YWVUjjXZZUYUV Wl WZ �U��X jUYmUhm�X h&j� m�X � UlmVXhj � m�XYW ]lU WVhjWZZU YW kjUl � UVU � ^W W,� XlWl UZk]lXV YW ZXV jWV]ZhUYXV X�hWlmYXV a �XlmWlYXWl jWZmW�W ZU m��XjhUl�mU YW WVhW �jX� ZW� U �UjU ZU �XjjW�hU WVhm� U�m l YW ]l WV� W�hjXYWhW�hU� ZW U WlWjk (UV � U�XjWV \]W UZk]lXV � W� �
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i �� � `X � mXlWV VX�jW Vm�]ZU�mXlWV � XlhW 'UjZX � � � � � � � � � � � � � � � � � � � c��
i �� � gUV W�]U� mXlWV \]W YWV�jm� Wl ]lU �UV�UYUV WZW�hjX� Ukl&hm�U � � � � � � � � c��

� o��� uq ��s 
op�po��q� �v


� 2 2
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-l ZU � U�Xj(U YW ZXV �UVXV VW �Ul � UlhWlmYX ZUV VmkZUV Wl mlkZ&V a �U \]W VXl YW ]VX �0VU�� ZmX \]W Wl �UVhWZZUlX �
i�i) iY�W�hmXl �X� mlUhWY i��jWhmXl ) ZX#i�"g- iVhjX!jm�WZUhXjW � U�� U "�� Ukmlm gWkkWjXi�` i�hm�W � UZU�hm� `]�ZWm[i+^- []jVh UlY +jUlVmWlh ^X]j�W -,� Wjm� Wlh
'� bVmVhW� U YW jW�WjWl�mU YWZf 'WlhjX YW � X� WlhXV
'��% 'X��hXl � U�� U!�U� %�VWj�UhXj�
'%�T+-g 'X��hXl +WZWV�X� W
-i^ -,hWlVm�W i mj ^�X#Wj
-��-+ -lWjkWhm� �U�� U!�U� -,� Wjm� Wlh +WZWV�X� W
�gi^+ �U�� U!jU� gUjkW ijWU ^�U�W +WZWV�X� W
��[ �U�� U!�U� []jVh
.-^^ . mk� -lWjk� ^hWjWXV�X� m� ^�VhW�
.��[ . mk� � UVV � !jU� [mlUj�
"� "l �jU!�X� Xg��[ gX# � UVV � !jU� [mlUj�
�i�"' � U� Xj ih� XV��Wjm� �U�� U "� Ukmlk '�WjWl$X�
�-�g "` �]Zhm!- ZW� Wlh �UYmX!gml$WY "lhWj�WjX� WhWj `Wh#Xj$
� "gi��% �]Zhm� ZW "lVhmh]hmXl gXV i ZU� XV � U�� U � U� %�VWj�UhXj�
�
 � m�jX\]UVUj
%^^- % jmWlhWY ^� mlhmZZUhmXl ^� W�hjX� WhWj -,� Wjm� WlhT� ` T]ZVUj � mlY `W�]ZU

T% 
]UVm!TWjmXYm� % V� mZZUhmXlV
��+- �XVVm � !jU� + m� mlk -,� ZXjWj^T. ^� XXh�WY TUjhm� ZW .�YjXY�lU� m�V
�i �lmYUY iVhjXl � m�U
�� � ZhjU!� mXZWhU
�-�"+i^ �Wj� -lWjkWhm� �UYmUhmXl "� Ukmlk +WZWV�X� W i jjU� ^�VhW�
�gi �Wj� gUjkW i jjU�

2�



�g[i �Wj� gXlk [UVWZmlW ijjU�
�g[ " �Wj� gXlk [UVWZmlW "lhWj�WjX� Whj�
� � �XZ� �U�Wh
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�]jUlhW ZUV YXV / Zhm� U Y&�UYUV ZU UVhjXlX�(U kU�� U �U W�XZ]� mXlUYX a �UVUlYX YW VWj]lU jU� U �UVm W, hm�U YW ZU UVhjXlX� (U a U WVhU� ZW�WjVW �X� X ]l �U��X YW ml�WVhmkU� m l � XjV( � mV� U a � Wj� mhm&lYXlXV � mVZ]��jUj UZk]lXV YW ZXV WV�WlUjmXV �0V mlhWjWVUlhWV � U ZU �W�
�X�� ZW� XV YWZ �lm�WjVX � � W �W��X a WlhjW ZXV �jX� ZW� UV �0V m��XjhUlhWV YW ZU UVhjX �(Vm�UVW YWVhU�U ZU �UZhU YW ]lU �ZUjU mYWlhm*�U�m l �UjU ZUV �]WlhWV YWhW�hUYUV U �]� UZhUVWlWjk (UV b� cee � W� f �Xj hWZWV�X� mXV VUhWZmhUZWV � - VhW WV WZ �UVX �UjU ZU � U�Xj(U YW ZUV
�]WlhWV X�VWj�UYUV �Xj WZ mlVhj]� WlhX -��-+ YWZ VUh& ZmhW 'X��hXl \]W lX �Ul � XYmYX
�XjjWZU�mXlUjVW Wl �Xj� U � ZUjU �Xl �]WlhWV YWhW�hUYUV U �0V �U� UV WlWjk (UV �
[U� X WVhU � Xhm�U� m l a WZ X�� Whm�X �jml� m�UZ YWZ � ZUl �jX�]WVhX �UjU WVhU hWVmV �]W WZX�hWlWj �jWYm��mXlWV hW jm�UV Wl Ym�WjWlhWV WV�WlUjmXV UVhjX �(Vm�XV a jWZW�UlhWV U ZU �jXY]�� m lYW jUYmU�m l kU�� U a \]W �]WYUl �XlhjUVhUjVW �Xl jWV]ZhUYXV X�VWj�U�mXlUZWV � - Z U�h]UZm��]ZVX mlVhj]� WlhUZ �UjU ZU X�VWj�U� m l U UZhUV WlWjk (UV bYW �XhXlWV � lW]hjmlXVf �U

�W��X �Ujhm�]ZUj� WlhW X�Xjh]lX WZ �jX� VmhX YW WVhU ml�WVhmkU�m l �
gUV �X� ZU� mXlWV YW �]WlhWV YW jUYmU� m l kU�� U U�h]UZ� WlhW �Xl* j� UYUV ml�Z]�Wl a � XjlX��jUj UZk]lUV a U l/�ZWXV kUZ0�hm�XV U�hm�XV a jW� UlWlhWV YW V]� WjlX�UV a Uk]� WjXV lWkjXVU�jWhUlhWV a �]ZVUjWV a W�WlhXV W,� ZXVm�XV YW jU�XV kU�� U a Wh� � +XYXV WVhXV W� W�� ZXV ml� Z]�WlVmh]U� mXlWV �(Vm�UV �]� Ym�WjWlhWV YW ZUV \]W �XYW� XV WVh]YmUj Wl ZU�XjUhXjmXV a Y0lYXVWYm�WjVXV �Wl � WlXV � mXZWlhXV \]W X �]jjWl Wl jWk (� WlWV jWZUhm� mVhUV a U �W�WV Wl �jWVWl�mUYW �U��XV � Ukl&hm�XV X jUYmUhm�XV �]� mlhWlVXV a � YXlYW �]WYW X �]jjmj ZU U�WZWjU� m l YW

�Ujh (�]ZUV �UVhU �]� UZhUV WlWjk (UV �
-l �]UlhX U ZUV �]WlhWV kU�� U Wl WZ YmV�X kUZ0�hm�X a U ZUV �]UZWV VW �jWVhU �Ujhm�]ZUjUhWl�m l Wl WVhU hWVmV a �]��UV YW WZZUV VXl �UVhUlhW Y&� mZWV � �UjmU� ZWV a �Xl WV�UZUV hW�!

�XjUZWV YW �UjmU� m l \]W V ZX �]WYWl XjmkmlUjVW Wl jWkmXlWV YW Ym� WlVmXlWV � WlXjWV \]W ZUWVhWZUj a �X� X ZXV WlhXjlXV YW X�� WhXV �X��U�hXV a �U VWUl WVhjWZZUV YW lW]hjXlWV X Uk]� WjXVlWkjXV � - V � Xj WVhX \]W a WlhjW ZUV �XVm� ZWV �XlhjU�UjhWV �UjU ZUV �]WlhWV kU�� U lX mYWl!hm*�UYUV a ZXV � XYWZXV YW VmVhW� UV � mlUjmXV �Xl U�jW� m l �jmlYUl W,�WZWlhWV � WjV� W�hm�UV �
-l WZ hjUlV�]jVX YW WVhU hWVmV lXV �W� XV �X �UZm�UYX Wl ZU W� mVm l kU�� U XjmkmlUYU �Xj ZU

c
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����
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mlhWjU�� m l YW �jXhXlWV jWZUhm� mVhUV �Xl WZ � WYmX ZX �UZ � - V� W�(*�U� WlhW a �W� XV WVh]YmUYXWZ �UVX YXlYW WZ X�� WhX U�jWhUlhW WV ]lU WVhjWZZU YW lW]hjXlWV UZhU� WlhW � UklWhm�UYU �
�Xj XhjU �UjhW WZ �UVX YW ]l X�� WhX �X��U�hX YW �U� X �U��X � Ukl&hm�X a �U�U� YW W�W�h]UjW�W�� mXlWV YW � UVU �Xl*lUYUV Wl ��XjjXV YW �Ujh (�]ZUV jWZUhm� mVhUV � - VhXV / Zhm� XV VmVhW� UVVW YWlX� mlUl � m�jX �]0VUjWV �
gU WVhjWZZU YXlUlhW YWZ � UhWjmUZ U�jWhUYX Wl ZXV �UVXV �XlhW�� ZUYXV WV YW hm� X WV� W�hjUZhW��jUlX a �Xj ZX \]W V] �U��X jUYmUhm�X X�jW�W ]l � ZUl�X UYW�]UYX �UjU ZU U�VXj� m l YW

�XhXlWV kU�� U a � XVm� ZW� WlhW mlm� mUlYX �UV�UYUV WZW�hjX� Ukl&hm�UV � gU �jX�UkU� m l YW ZXVjU�XV kU�� U YWVYW WZ Z]kUj YW V] W� mVm l � ZUlhWU UV( ]l �jX� ZW� U �X�� ZW� X a \]W YW� W� XVU�XjYUj UZ mlhWlhUj � XYWZUj ]l WV� W�hjX YWhW�hU� ZW � i hUZ *l a �W� XV YWVUjjXZZUYX ]l � YmkX\]W � Wj� mhW ZU Vm�]ZU� m l � XlhW 'UjZX YW �UV�UYUV WZW�hjX� Ukl&hm�UV ]lmYm� WlVmXlUZWV �
i ZX ZUjkX YW WVhU hWVmV VW YU �jm� WjX ]l �jW�W �U�(h]ZX mlhjXY]�hXjmX UZ �XlhW,hXX�VWj�U� mXlUZ a U �Xlhml]U�m l VW mlhjXY]�W ZU �WlX� WlXZXk (U YW ZXV WV�WlUjmXV WVh]YmUYXV �VW �X� WlhUl ZXV U�Ul�WV jWUZm�UYXV Wl ZU ml�WVhmkU� m l a Wl�Xlhj0lYXVW U �Ujhmj YWZ �U�(h]ZX

� ZU � U�Xj(U YW ZXV U� XjhWV XjmkmlUZWV �

�
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gXV �XhXlWV �Xl WlWjk (UV �Xj Wl� m� U YW ZXV �ee $W� VXl ZZU� UYXV Wl kWlWjUZ jU�XVkU�� U � ^] WVh]YmX a ZU UVhjXlX�(U kU�� U a VW Wl �X �U VX�jW ZXV �jX �WVXV lX h&j� m�XV WlWZ �lm�WjVX a VmWlYX WZ /lm�X jUlkX YWZ WV� W�hjX WZW�hjX� Ukl&hm�X Zm�jW YW �Xlhjm�]� mXlWV
�jXY]� mYUV � Xj � ZUV� UV �UZmWlhWV �Xj ZX \]W ZU jUYmU�m l W� mhmYU � Xj Wl� m� U YW c � W� VWYW� W �UVm WlhWjU� WlhW U mlhWjU��mXlWV YW �Ujh(�]ZUV jWZUhm� mVhUV �

-,�W�hX U WlWjk (UV jWUZ� WlhW �]� kjUlYWV b≥ 10
� W� f a ZU jW�W�� m l YW WVhXV �XhXlWVYWVYW hmWjjU VW �W m��XVm� mZmhUYU �Xj ZU U�VXj�m l YW ZU Uh� V�WjU a � YW� W �U�WjVW ]hmZm�UlYXW,� Wjm� WlhXV VUhWZmhUZWV � +UZWV W,� Wjm� WlhXV �Ul VmYX ZUl�UYXV YWVYW ZU Y&�UYU YW ZXV ��e a

�jX� m�mUYXV �Xj WZ YWVUjjXZZX mlVhj]� WlhUZ YW ZU &�X �U � ^ml W��UjkX a ZU ml�m� mWlhW UVhjXlX!
� (U kU�� U hUjY Y&�UYUV Wl UjjX� Uj jWV]ZhUYXV Vmklm*�Uhm�XV � - VhX VW YW� m U Ym*�]ZhUYWVh&�lm�UV WV� W�(*�UV � UZ �Xj� mYU� ZW �jX� ZW� U YW VW�UjUj ZUV �Xlhjm�]�mXlWV �jXY]� mYUV WlWZ YWhW�hXj � Xj �]WlhWV ZWk (hm� UV YW jU�XV

γ
YW ZUV mlhWjU�� mXlWV YW ZXV jU�XV � V� m�XV b�Uj!h (�]ZUV �UjkUYUV � � lW]hjXlWV jWZUhm� mVhUVf �Xl WZ � UhWjmUZ YWZ �jX� mX jW�W�hXj a \]W kWlWjUlWl �Xj� U ZX �UZ l]W�XV �XhXlWV kU�� U � � W �W��X a ZU � WYm� m l YW jU�XV

γ
YW XjmkWl � V� m�XWl�jWlhU YWVU�(XV WlXj� WV UZ VWj WZ j] mYX YW �XlYX �]��X � U�Xj \]W ZU VW�UZ U YWhW�hUj WlWVhU �UlYU �

� UYX \]W ZXV jU�XV kU�� U mlhWjU�� mXlUl � WYmUlhW Ym�WjWlhWV �jX �WVXV U Ym�WjWlhWV WlWj!k (UV a ZUV h&�lm�UV YW YWhW��m l �Uj(Ul �Xl ZU �jW�]Wl� mU YW ZXV �XhXlWV U YWhW�hUj � - VhW WV]lX YW ZXV � Xhm�XV � Xj ZXV �]UZWV VW V]�Ym� mYW UZ WV� W�hjX kU�� U Wl �UjmUV �UlYUV � ��� �	WlWjk (UV U
E < 30

� W� a �
��	 WlWjk (UV WlhjW �e � W� � �e � W� a �
� �
��	 WlWjk (UV WlhjW
�e � W� � �e +W� a 

��� �
��	 WlWjk (UV WlhjW �e +W� � �e TW� bc TW��

1015 W� f � WlWjk (UV
�� ���� �	 �UjU

E > 30
TW� � i ZX ZUjkX YW WVhU hWVmV lXV jW�Wjm� XV � U�Xj� WlhW U ZU �UlYUYW UZhUV � �]� UZhUV WlWjk (UV �]UlYX VW �U� ZW YW �XhXlWV

γ
�

�� ����� ���� ������ ��!� "�� #  "��$� %� &' ( ) # *+ ( )� � * ( $� , # - # . # /� 0 1� ����23� $� � �� 
4���3�%��  "2%�� %� � 4 ����� 5%� 4%�$�  �� $� ��"4�� ���� ��� $� 4�����"� #  "��$�  % ��"�� �� 2�  ��"���� %� �"2��� �6���$�� "���� � ��2%�� 7�8 9�� ��$"��� : � ��$%���"� "���� � �� *; <�8 9�� ��6"��� : 0

�



�������� � 	 �������� �������������

gU hW�lXZXk (U YW jW�W�hXjWV �Xl �0� UjUV YW YWVhWZZXV� jWV]Zh U�jX� mUYU �UjU V]� WjUjZU �UjjWjU YWZ j]mYX YW �XlYX \]W U�W�hU U ZU YWhW��m l YW jU�XV
γ
YW UZhUV WlWjk (UV � gXV

�jml�m�UZWV mlVhj]� WlhXV \]W ]hmZm�UjXl WVhU hW�lXZXk (U �Ul VmYX WZ ^i ^!� bcd��f a WZ '%^![YW ZU -^i bcd�� ! cd��f � -��-+ bcddc ! �eeef � - Z WlXj� W U�Ul�W \]W U�Xjh -��-+U ZU UVhjXlX�(U kU�� U WV �jW�W� WlhW �X� WlhUYX Wl ZU �j , m� U VW��m l � gXV hWZWV�X� mXVU�h]UZWV \]W X� WjUl �Xj �jWU� m l YW �UjWV ]hmZm�Ul YWhW�hXjWV YW VmZm�mX Wl �W� YW �0� UjUV YWYWVhWZZXV � gUV l]W�UV � mVmXlWV \]W �XZUj0l ml�Xj� XjUl WVhU hW�lXZXk (U � �gi^+ bWZ ��		�

��� 
���� ���� ����� ��������� a \]W X� WjUj0 Wl WZ jUlkX �e � W� ! �ee � W� a � �Xl]lU VWlVm� mZmYUY \]W V]� WjUj0 Wl YXV  jYWlWV YW � Uklmh]Y ZU YW -��-+ f � WZ VUh& ZmhWmhUZmUlX i�"g- a �U ZUl�UYX � X� WjUlYX a WlhjW XhjUV �

)XhXlWV YW �]� UZhU WlWjk (U mlm�mUl Wl ZU Uh� V�WjU �UV�UYUV WZW�hjX� Ukl&hm�UV \]W
� Wj� mhWl ]lU YWhW�� m l mlYmjW�hU a U hjU�&V YW X�VWj�U�mXlWV YW ZU Z]� '�WjWl$X� \]W kWlWjUlZUV �Ujh (�]ZUV VW�]lYUjmUV YW ZU �UV�UYU � �]jUlhW WZ mlhWj�UZX WlhjW WZ �WVW YW X� WjU� mXlWV YW
-��-+ Wl WZ �eee � WZ jW�mWlhW� WlhW �Xl�jWhUYX ZUl�U� mWlhX YW l]W�UV � mVmXlWV VUhWZmhUZWVbi�"g- Wl �ee�f a ZUV /lm�UV X�VWj�U� mXlWV YW jU�XV

γ
a � U�Xj� WlhW U WlWjk (UV

> 50
� W� a

�Ul VmYX �W��UV YWVYW hmWjjU � WYmUlhW WVhU h&�lm�U � gXV �jml�m�UZWV YWhW�hXjWV '�WjWl$X�\]W VW Wl�]WlhjUl X� WjUlYX VXl .-^^ � �i�"' � gU VW�� m l � �� YWV�jm� W WVhU h&�lm�U YWX�VWj�U� m l a � V]V �jml� m�UZWV jWV]ZhUYXV U ZU �W��U �

� �� � �����

- Z hWZWV�X� mX -��-+ b������ 2� ��		� !�� ����� 2	�� ��������� f �]W ]lXYW ZXV �]UhjX mlVhj]� WlhXV \]W �Xj� U�Ul �UjhW YWZ X�VWj�UhXjmX VUhWZmhUZ 'X��hXl � - Z
'��% b'��% � "�	� �� ��		� !�� #$����� ��� f � XlmhXjW WZ � mWZX Wl jU�XVkU�� U Y]jUlhW d U�XV a YWVYW cdd c � �]W ]lU YW ZUV � mVmXlWV �0V W, mhXVUV YW ZU `i^i �iYW�0V YW -��-+ a hU�� m&l ZX �Xl �Xj� U�Ul [i+^- a ]l mlVhj]� WlhX X�hm� m�UYX �UjUYWhW�hUj �UjmU�mXlWV YW %]� X �]� j0� mYUV b�]WlhWV hjUlVmhXjmUV � ��[f Wl WZ jUlkX YW �e
$W� U c �d � W� & %^^- \]W X� WjU�U Wl WZ jUlkX YW e �e� U ce � W� & � '%�T+-g \]WhjU�U� U�U Wl WZ jUlkX YW c U �e � W� � -��-+ a WjU WZ mlVhj]� WlhX �UjU ZUV WlWjk (UV �0VUZhUV � �e � W� U �e � W� a �Xl ]l �U�� X Ulk]ZUj kjUlYW � jWVXZ]� m l Ulk]ZUj YW� WlYmWlhWYW ZU WlWjk (U YW ZXV �XhXlWV & VmWlYX V] � W� Xj jWVXZ]�m l YW � WYmX kjUYX U � � W� � i ZX ZUjkXYW ZU � U�Xj(U YW V] jUlkX YW YWhW�� m l ZU jWVXZ]� m l Wl WlWjk (UV WjU YWZ

20 − 25 %
�

� WZ hXhUZ YW ZUV �]WlhWV YWV�]� mWjhUV � Xj -��-+ a ��c YWhW��mXlWV U WlWjk (UV V]� WjmXjWV Ucee � W� �]WjXl ml�Xj�XjUYUV Wl WZ hWj�Wj �Uh0 ZXkX \]W �]W ZU ZmVhU X*� mUZ *lUZ YWZ hWZWV�X� mX
'<� "�2�( )* +,- ./ +0 12, # ���6"(�  �  %��� ���� �� �3���� $� �4 " 4� 0 7�$��� $��"� �� 5����  "� 6

4�"7 ��$� 5%� ��� " �� $� %�� �3����  ����$� � ����� $� %� 2� � 4�� "!� # $� ��$� 5%� �� 4� �8 � $� %�������!� � 4� "��!� $�8 � %�� � ���� $� "��"9��"!� 0 1� 4���  �� 5��� �$� �� �� "�������"!� $�� 5��!�
γ

����� � ����"�� $�� �4����� 5%� �5����  %  %4��7�"� ���� 3��� ��������� 0 :����� $� �� �3���� 4�� %��  ��"� $�
4���� 4������� �������$� $� ��$� ��� $� $������� �� �4 " 4� 5%�  � 4��$%��� �� �� 2� # 4��� "�"��$� $�6���� "��� �� ���������"� $� �� 4���3�%�� 0 1� 4�"��"4�� �"� "���"!� $� �� �3���� $� �4 " 4� � 5%� �� ������"$�$� 2�  � �2��� # � � � �$"$� 5%� � ��  %��$� �� ���$"� "���� $�� "� ��%� ����  � ;� $����"����$� 0
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γ
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b.Ujh� Ul Wh UZ � �eecf � - Z �jmhWjmX UYX�hUYX �UjU YW*lmj ZUV �]WlhWV ��-� � �]W WZ YW ]lUYWhW�� m l � �Xl Vmklm*�Ul� mU � U�Xj \]W �
σ

� Xj VX�jW WZ j]mYX YW �XlYX a �UjU ZUV �]WlhWV YWZ
� ZUlX kUZ0�hm�X � YW �

σ
U ZUhmh]YWV � U�XjWV \]W |b| = 5◦

� -lhjW ZUV �]WlhWV YWhW�hUYUV VWml� Z]�WjXl ]lXV �e l/� ZWXV kUZ0�hm�XV U�hm�XV bi�`Vfa � U�Xj� WlhW YWZ hm�X [g!gU�WjhUW X
� ZU�UjWV a c jUYmX kUZU, mU b'WlhU]j]V i f a ZU l]� W � U�Xj YW � UkUZZUlWV � � jUYmX �]ZVUjWV � gUVYW�0V a ]lUV c�e �]WlhWV \]W VXl p��o u�� �qtpqt�� ��t�q� uq 
 ����
 � qtr ��qpq� �o�ouq�� o�p�po�� a WVhX WV a lX �Ul �XYmYX Wl�XlhjUjVW �XlhjU�UjhWV � ZUjUV Wl XhjUV ZXlkmh]YWVYW XlYU � gU �U� U jWVXZ]�m l Ulk]ZUj YW -��-+ WV ]lU YW ZUV �jml� m�UZWV �U]VUV �UjU \]WWVhX VWU UV( �
gU YmVhjm�]�m l Wl WZ � mWZX YW ZUV �]WlhWV lX mYWlhm*�UYUV mlYm�U \]W �UjmUV YW WZZUV � Wj!hWlW�Wl U l]WVhjU kUZU, mU b�Wj ) mk]jU � �cf � iZk]lUV VW �Ul �XlX � mYX �Xj �0V YW �e U�XV a

� Wj� UlW� mWlYX �X� X ]l � mVhWjmX YWVYW ZXV � U� WXV jWUZm�UYXV �Xj '%^![ b^#UlWl�]jk WhUZ � cd� cf � ^W �Ul �jX�]WVhX Ym�WjVXV WVh]YmXV WVhUY (Vhm�XV \]W � Wj� mhWl � ZUVm*�Uj U WVhUV
�]WlhWV Wl kj]�XV �Xl �UjU�hWj(Vhm�UV �X�]lWV � � W�jWZV Wh UZ � b�eeef �Ul hWlmYX Wl �]WlhUZXV (lYm�WV WV� W�hjUZWV YW ZUV �]WlhWV lX mYWlhm*�UYUV WVhU� ZWV blX �UjmU� ZWVf �UZZUlYX ]lU Ym!
� mVm l WlhjW �]WlhWV �jmZZUlhWV �Xl WV� W�hjXV �0V Y]jXV U �U� UV ZUhmh]YWV kUZ0�hm�UV � �]WlhWV
�0V Y&� mZWV � �Xl WV� W�hjXV � ZUlYXV \]W VW ]� m�Ul Wl ZUhmh]YWV mlhWj� WYmUV b

5◦ ≤ |b| ≤ 30◦
f �gXV Ul0ZmVmV YW �XjjWZU�m l YW �X� WjX Wh UZ � bcdddf mlYm�Ul \]W a WV�U� mUZ� WlhW a ZUV �]WlhWVkU�� U �-� lX mYWlhm*�UYUV YWZ � ZUlX kUZ0�hm�X Vmk]Wl YmVhjm�]� mXlWV Vm� mZUjWV U ZUV YW ZXVjW� UlWlhWV YW V]� WjlX�UV � UVX � mU� mXlWV YW WVhjWZZUV %[ a ZX �]UZ jW�Xj� jWV]ZhUYXV �jW� mXVWl \]W VW ]VUjXl �]WVhjUV � WlXjWV � -lhjW ZUV l]W�UV � XVm� mZmYUYWV YmV�]hmYUV VX�jW ZU lU!h]jUZW�U YW WVhUV �]WlhWV � XYW� XV � Wl� mXlUj Uk]� WjXV lWkjXV YW � Wjj!`W#� Ull bT]lVZ�Wh Uh �eeef a � mlUjmUV [W_� b�X� WjX Wh UZ �eecf a � � m�jX �]0VUjWV bTUjWYWV Wh UZ � �eee a

� U] �� Ul![WjlUY Wh UZ � �ee� a �X� WjX Wh UZ � �ee�f � ^W �Ul �jX�]WVhX hU�� m&l WVhjWZZUV
� UVm�UV �Xl � mWlhXV �]WjhWV b[WlUkZmU Wh � UZ �ee ca [WlUkZmU � �X� WjX �ee�f a � jW� UlWlhWVYW V]� WjlX�U mlhWjU�h]UlYX �Xl l]� WV Uh � m�UV X � XZW�]ZUjWV b'X�� m Wh UZ � �ee c & []hh WhUZ � �ee ca �ee� & +XjjWV Wh UZ � �ee�f � ) mlUZ� WlhW a VW �U Ul]l� mUYX ]lU l]W�U �X� ZU� m l YW
�]WlhWV U kjUlYWV YmVhUl� mUV YWZ � ZUlX kUZ0�hm�X a �jX�U� ZW� WlhW YWZ �UZX b� jWlmWj �eecf �
'XlhjU�UjhWV UhjU�hm�UV �UjU WVhUV �]WlhWV �]� � mW� UV VXl �]ZVUjWV YW � mZmVWk]lYXV bW� �
+XjjWV a []hh � 'U� mZX �ee cf � � m�jX �]0VUjWV YW �U� U � UVU b� U] �� Ul![WjlUY �ee� �jW�WjWl�mUVf �

' mWjhU� WlhW a �]��X hjU�U� X WV U/l lW�WVUjmX �UjU � XYWj �Xl*j� Uj X jW��U�Uj �]��UVYW ZUV � XVm� ZWV W,� Zm�U� mXlWV a WV� W� mUZ� WlhW ZUV �0V WV� W�]ZUhm�UV � gU �/V\]WYU YW ]lUmYWlhm*�U�m l �UjU WVhXV W� mVXjWV YW jU�XV kU�� U VW �U �Xl�WjhmYX Wl ]lX YW ZXV �jX� ZW!
� UV �0V m��XjhUlhWV YW ZU UVhjX �(Vm�U YW UZhUV WlWjk (UV � �0V U/l a WZ XjmkWl YW ZU jUYmU�m lkU�� U �UjU UZk]lUV YW ZUV �]WlhWV �]�U �XlhjU�UjhW WVh0 � mWl WVhU� ZW� mYU VW Wl�]WlhjUWl YW�UhW a �X� X WV WZ �UVX YW g^ " �� c �e� a X WV � X�jW� WlhW WlhWlYmYU � -l WZ �UVX YW
�]WlhWV YWhW�hUYUV � Xj .-^^ b�WjW� XV U �Xlhml]U�m lf a Wl UZk]lXV �UVXV VW Y0 ]lU �Xml!
� mYWl� mU � XVm�mXlUZ a � WjX ZXV YUhXV �]Zhm�jW�]Wl�mU lX �UjW�Wl U�]lhUj �U�mU ]l WV�WlUjmX
�XlVmVhWlhW �

	:%����� �� ���4"���"!� $�� ���3 ��2�  � ��� "$��! � �� ��"���"� �� $"5������ 6��$� $� ����23� # 2������$���2%�� $" ���4���"� 5%� 4�� ���";�$� ���"���� ��6����" " # 
�"� �� � /%�� 9+;;': 0
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gXV jU�XV � V� m�XV ZZWkUl U ZU hmWjjU Wl �Xj� U mVXhj � m�U U ]lU hUVU� YW ∼ 1000
V−1�−2 � �l %]� X �]� � W\]W�X �X��UjUYX U WVhW WV WZ \]W �Xj� Ul jU�XV

γ
� lW]hjmlXV \]WUZ � mU� Uj Wl �Xj� U YmjW�hU YWVYW V]V �]WlhWV � Wj� mhWl YWVUjjXZZUj ]lU UVhjXlX� (U Wl WZVWlhmYX WVhjm�hX � gXV jU�XV

γ
� jU�XV � V� m�XV �0V WlWjk&hm�XV �XlVhmh]�Wl ZUV �Ujh(�]ZUV

�jm� UjmUV YW ZZ]� mUV Uh� V�Wjm�UV b��� � �� ���2�� � 2� �	�
 ���f a X �UV�UYUV WZW�hjX!
� Ukl&hm�UV \]W VW YWVUjjXZZUl Wl ZU Uh� V�WjU � gXV YWhUZZWV YW ZXV �jX �WVXV �(Vm�XV YW WVhUVZZ]� mUV �]WjXl XjmkmlUZ� WlhW YWV�jm�hXV � Xj �XVVm � � jWmVWl bcd� cf � �]WYWl �UZZUjVW �Wj!VmXlWV U�h]UZm�UYUV a � Xj W� W�� ZX a Wl � UmVVWj bcddef � i�h]UZ� WlhW VW jW�]jjW U Vm�]ZU� mXlWVl]�&jm�UV �UjU WVh]YmUj WZ �jX� ZW� U UZhU� WlhW �X�� ZW� X YWZ YWVUjjXZZX_jW�XlVhj]�� m l YWZZ]� mUV Uh� V�Wjm�UV �
gU �jm� WjU mlhWjU��m l YW ]lU ZZ]� mU VW �jXY]�W U ]lXV �e $� YW UZh]jU � -l WVhUmlhWjU�� m l VW kWlWjUl �Ujh(�]ZUV VW�]lYUjmUV a \]W YW l]W�X mlhWjU�h]Ul �Xl ZUV � XZ&�]ZUV YWZU Uh� V�WjU �UjU kWlWjUj �0V �Ujh(�]ZUV �_X �XhXlWV kU�� U bjUYmU�m l [jW� VVhjU� Z]lkf �

� WYmUlhW ZU jW� Whm�m l YW WVhXV �jX �WVXV VW YWVUjjXZZU ZU �UV�UYU � iZ �jml�m� mX WZ l/� WjXYW �Ujh (�]ZUV Wl ZU ZZ]� mU �jW�W jU� mYU� WlhW a � WjX UZ YmVhjm�]mjVW ZU WlWjk (U WlhjW �0VV]��jXY]�hXV a VW ZZWkU Wl UZk]l � X� WlhX U WVhUj � Xj YW�U� X YWZ ]��jUZ YW �jWU� m l YWl]W�UV �Ujh (�]ZUV a � ZUV \]W \]WYUl VW Wl �j(Ul Wl �Xj� U jUYmUhm�U X �XZmVmXlUZ a YW � XYX \]WZU �UV�UYU VW YWhmWlW � iZ hjUhUjVW YW �jX �WVXV jWZUhm� mVhUV a ZUV �Ujh(�]ZUV \]W jWV]ZhUl YW ZU
�UV�UYU WVhUl �XZm� UYUV Wl ZU YmjW�� m l YW ZU ml m�mUZ a � mWlhjUV \]W V] W� mVm l '�WjWl$X�U�Uj�U UZ ZZWkUj U ZU hmWjjU ]lU �XlU YW ]lXV cee � YW jUYmX b
��
 � � ��
f �

�<� �%8� $� ���� �! � "�� � $�4 ��$"���� $� �� ����23� $� �� 4���3�%�� # 5%�  "2%�� �� � 4 ����� 5%� ��
4��� ��� ����$� 0 �  3 �� 4������ � 3 ����2(�"�� 9∼ 1020

�8 : ���2�� � �� �"���� � %�� �� � � ���� � %��
4�� ��

2 4��  "2�� 0

������ � ��� � �� !�"#$�%& '& () � #*'� +�,-#�'!*). / (0&1� #*'� 1)(2$ �$)� +*'!'$3). *' 4 5 6#'& '�
&0 �*'& �7$)*)� $0& |b| < 10◦ 8 *'( 9'!$'! :) 2(010 ;<=;9 +=0> '!0 ' )( ? 5@@@. ?
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2007-11-22 - Up-to-date plot available at http://www.mppmu.mpg.de/~rwagner/sources/
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gU h&�lm�U YW YWhW�� m l �Xj � U� WX b'�WjWl$X� f YW WVhUV �UV�UYUV VW �UVU Wl ZU jW�W�� m lYW ZU Z]� \]W �� ����� ZUV �Ujh(�]ZUV VW�]lYUjmUV YW ZU �UV�UYU UZ � X�WjVW �0V j0� mYX \]W ZU
�WZX � mYUY YW ZU Z]� Wl ZU Uh� V�WjU � � UYU ZU YW� WlYWl� mU YWZ (lYm�W YW jW�jU��m l Uh� XV�&jm�X
�Xl ZU �jW�]Wl� mU a WVhU Z]� �UW Wl WZ jUlkX  �hm�X � WV jW�XZW�hUYU �Xj ]lU VWjmW YW �XhXh]� XVWl WZ � ZUlX �X �UZ YW ]l hWZWV�X� mX jW%W�hXj � -l kWlWjUZ a W, mVhWl Ym�WjWl�mUV \]W � Wj� mhWlYmVhmlk]mj ZUV ZZ]� mUV ml m�mUYUV � Xj jU�XV � V� m�XV YW ZUV XjmkmlUYUV � Xj �XhXlWV

γ
� - VhX WV

� mWjhX hU�� m&l �UjU ZUV �Ujh (�]ZUV YW ZU ZZ]� mU � YW �W��X a W, mVhWl W,� Wjm� WlhXV b]� m�UYXV U]lU UZh]jU �Xl�WlmWlhWf �X� X �"gi��% a \]W YWhW�hUl �]WlhWV
γ

�UVUlYXVW Wl ZU YWhW�� m lYW �Ujh(�]ZUV \]W jW�XZW�hUl Wl �Xj� U � Wj� UlWlhW bV]V jWV]ZhUYXV VW jWV]� Wl �Xj W� � Wli�YX Wh UZ �a �ee�f � TXj XhjX ZUYX a WZ � �	
 '�WjWl$X� YW ]lU �UV�UYU hmWlW ]lU Y]jU� m lYW U� WlUV ]lXV lUlXVWk]lYXV a �U�mWlYX lW�WVUjmU ]lU jWV�]WVhU �]� �WZX� YWZ YWhW�hXj �iYW�0V a W,�WZWlhWV �XlYm�mXlWV Uh� V�Wjm�UV � U]VWl�mU YW Z]lU VXl lW�WVUjmUV �UjU X�hWlWjYUhXV �Xl*U� ZWV a ZX \]W m�� XlW ]l �U� X jWlYm� mWlhX YWZ hmW��X YW X�VWj�U�m l �
�l UjjWkZX YW �UjmXV hWZWV�X� mXV U�]YU U ]lU � W� Xj jW�XlVhj]�� m l YW ZU hjU�W�hXjmU YWZU �UV�UYU a � UV( ZU �XVm� m l YW ]lU �]WlhW �UjU ZU �]UZ VW jW�X� Ul ]lXV �mWlhXV YW �XhXlWV

�]WYW ZZWkUj U WVhU� ZW�WjVW �Xl ]lU �jW� mVm l YW UZk]lXV � ml]hXV YW Uj�X bhUl �]WlU X
� W� Xj \]W ZU YW X�VWj�U�mXlWV VUhWZmhUZWVf � �l WV\]W� U YW ZU ZZ]� mU a � ]l UjjWkZX YWhW�hXj
�]WYW �WjVW Wl ZU ) mk]jU � �� �
gU �jm� WjU YWhW�� m l �Xl*U� ZW � WYmUlhW ZU h&�lm�U '�WjWl$X� �]W jW�XjhUYU Wl cd�d a

� �]W X�hWlmYU �Xl WZ hWZWV�X� mX jW%W�hXj YW ce � YW Ym0� WhjX YWZ %�VWj�UhXjmX � � m�� ZW� �
�<� �"2�� # �� ��$"��"!� ,4������; � �� �� %���$� $� �� ����"�����"!� $� �� $"4��� "�$%�"$� �� �� ���(�%�� $�� �"�� 4�� %�� 4���3�%�� ���2�$� 5%�  � �%�;�  %7 �"��������� �34"$� 0
�1� 5%���� �� �%� �"!� ��� �� ��6%�� � $�� ,��2��8� 9,��6: # 5%�  � 4� ���;���"$� �� �� ���"6��$��� $���5�����"� $� �� � ������ 3� �� �� ���2�

γ
0

�
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������ � �� � ;�-#'> ) *' #&) ((#� �) ) > %�6'!�$) / #& )!!'1(0 :3'!'&�0� �)!) �# *' '$$�%& +�3)�
!0&�)& ' )( ? ����. ?

.-^^ a WZ � 2�	 ������ � �������� 2� ��� �	 �U �X�� ZWhUYX Wl �ee� WZ �jm� Wj jW!ZW�U� mWlhX YWZ � ZUlX kUZ0�hm�X a �Xl ]lU VWlVm� mZmYUY YW ]l � W\]W�X � Xj�WlhU� W YW ' jU�U WlWjk (UV � U�XjWV \]W cee � W� � - Z hWZWV�X� mX �i�"' b�� 	�� � 	���	�� 2� ��	

	� 
	�� 2�� "	������� f \]W WV WZ YW � U�Xj Ym0� WhjX bc� � f X� WjUlYX � WYmUlhW WVhUh&�lm�U �U U�XjhUYX hU�� m&l jWV]ZhUYXV �]� mlhWjWVUlhWV � TUjU YWhUZZWV VX�jW �i�"' �Wj
�X� mlkX!^UlhU� Uj(U b�ee�f � gXV Ujh (�]ZXV YW jW� mVm l \]W ZmVhUl ZUV �]WlhWV +W� �Xl* j� U!YUV \]WYUl YWVU�h]UZm�UYXV �Xl �WZX � mYUY �jW� mWlhW UZ VWj WVhW ]l �U��X hUl U�hm�X � -l ZU
+U� ZU � �c �]WYWl �WjVW ZUV �]WlhWV kUZ0�hm�UV � W,hjUkUZ0�hm�UV jW�XjhUYUV UlhWV YW �]ZmXYW �ee� a �U� mWlYX jW�WjWl�mUV �UjU �UYU ]lU Wl ']m b�ee�f � �UZW ZU � WlU �X� WlhUj \]W ZUW� mVm l Ym�]VU Wl WZ jUlkX +W� hmWlW ]l WV� W� mUZ mlhWj&V �XV� XZ km�X UZ � Wj� mhmj WZ WVh]YmXmlYmjW�hX YW ZU jUYmU� m l ml �jUjjX� U YW �XlYX �Xl ZU \]W mlhWjU�h/U� � � W� W UkjWkUjVW U ZUZmVhU YW � m�jX �]0VUjWV ZU YWhW�� m l YW '�kl]V � ! ca Ul]l� mUYU �]� jW�mWlhW� WlhW � Xj WZW\]m� X YW �i�"' bi Z� Wjh Wh UZ � �ee�f �
i�h]UZ� WlhW a kjU� mUV U �XZU�XjU� mXlWV mlhWjlU�mXlUZWV a VW � ZUlWUl � VW WVh0l �XlVhj]!

�WlYX XhjXV kjUlYWV UjjWkZXV '�WjWl$X� \]W � Wj� mhWl �jW�WWj ]l ml�jW� WlhX WlXj� W Wl WZ

/����� ��� ����23� � ���� 5%�

Eγ ∼ 1 ��8  �� �6 ��6"$� 4�� �� "� 5����� 8� 4��� ����� 4��� � "� "�"���� ��$� �������� �2�(�"�� $�� "��$� 4�� �� 4���� � ,��4��� "�;�� � # ���� �� 5%�  � $" �%�"�3� � 3 �$������ 0 <� � �� �� � # �� ��� "�� �"6�� ��$"� 4��� �� "�������"!�
γγ

 �� $�� ��$�� $� ��2%�� �4� 0
�



��
������
γ
�� � ������ � ��� �������� � � 	 ��������

l/� WjX YW �]WlhWV +W� Wl ZXV U�XV �j , m� XV� � iYW�0V a U]� WlhUlYX WZ 0jWU �XZW�hXjU YWZUjjWkZX � ZU UZh]jU Wl \]W VW ]� m�U a VW mlhWlhUj0 �U� Uj ZU WlWjk (U �(lm� U YW ZXV �XhXlWV
γYWhW�hU� ZWV YWVYW hmWjjU a YW � XYX YW jWY]� mj ZU �UlYU lX �]� mWjhU � Xj X�VWj�U�mXlWV \]W

�U� WlhjW Ym��U WlWjk (U � ZU WlWjk (U �0, m� U YWhW�hU� ZW �Xj ZXV X�VWj�UhXjmXV VUhWZmhUZWV �

�)<�� �� � ����, ��  �� ����� "��� �� 4 ���";� $� �� "� ��%� ���� �� " ����� 0 8<
 ��� � 9��� :� %� ����2��  "� "��� � )<�� 0 ,�� � %� 4������� $� 2��� ��;��2�$%�� 5%� 4�$�3� "���%"� 4� ��
∼ 100���� ��4"� 0

d
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γ

'UhUZXkUYUV YWVYW ]l �jml� m� mX �X� X � XhWl� mUZWV �]WlhWV kU�� U a ZXV VmVhW� UV � mlUjmXV
�Xl W� mVm l YW jU�XV � �Ul VmYX � ZUl�X YW Ym�WjVUV WV� W�]ZU� mXlWV hW jm�UV � - Z mlhWj&V � XjWVhXV � XYWZXV VW � m mlhWlVm*�UYX U �Ujhmj YW ZU �Xl*j� U� m l X�VWj�U�mXlUZ \]W �jmlYUjXlZXV UjjWkZXV '�WjWl$X� � UZk]lUV � mlUjmUV YW jU�XV � W� mhWl a �Xl mlhWlVmYUY �UjmU� ZW a �XhXlWV
�Xl WlWjk (U � U�Xj \]W cee � W� � i ZU �W��U a VW �XlX �Wl � � mlUjmUV YW jU�XV kU�� U � g^ �e�d
� T^� [ c��d!�� YWhW�hUYUV �Xj .-^^ bi�UjXlmUl Wh UZ � �ee�U a i�UjXlmUl Wh UZ � �ee��jWV� W�hm�U� WlhWf & g^ " �� c �e� � '�kl]V � ! c YWhW�hUYUV �Xj �i�"' bi Z� Wjh Wh UZ � �ee� ai Z� Wjh Wh UZ � �ee� jWV� W�hm�U� WlhWf �
gXV � XYWZXV \]W YWV�jm�Ul Wl �Xj� U UYW�]UYU U ZUV � mlUjmUV YW jU�XV

γ
YW� Wl Wl / Zhm� UmlVhUl� mU W,� Zm�Uj V] W� mVm l U ZX ZUjkX YW �jU�hm�U� WlhW hXYX WZ WV� W�hjX WZW�hjX� Ukl&hm�X a

� �]��UV �W�WV �X�� XjhU� mWlhXV �UjmU� ZWV Wl WZ hmW�� X \]W Ym*WjWl VWk/l ZU �UlYU YWX�VWj�U� m l � i � XYX YW W� W�� ZX a ZU ) mk]jU � �c �]WVhjU ZU YmVhjm�]� m l WV� W�hjUZ YW WlWjk (UX�VWj�UYU �UjU T^� [ c��d!�� � g^ �e�d � gU W� mVm l YW g^ " �� c �e� VWj0 hjUhUYU � XjVW�UjUYX �0V UYWZUlhW a �U \]W �U VmYX l]WVhjX �UVX �Xl�jWhX YW WVh]YmX �

������ � ��� � �� !�"#$�%& '�� '$ !)( *' '&'!1 �) 0"�'!�)*) �)!) �� ���@ / ��= � 5��@��� ? �#�
"#� +����). ? �0� �#	 0� �' 3)&  !)&�60!> )*0 '& (#> �&0��*)*'� )�#> �'&*0 #&) *�� )&$�) *' � ?� /
5?� �� $ 8 !'�� '$ ��)> '& ' ? �' !'$0� �()& *) 0� &0 ��>#( 2&'0� 8 $0& !'6'!'&$�)� '& '( )! �$#(0 > '&�
$�0&)*0 ?

cc
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� �����
γ

gUV �]WlhWV � Wl� mXlUYUV � WjhWlW�Wl UZ kj]�X YW � mlUjmUV � YW kjUl � UVU b���� �
� 2�	 ���� � 
��� � 2���� f a WVhX WV a �XlhmWlWl ]lU WVhjWZZU YW kjUl � UVU bhm�X WV� W�hjUZ
% ! [f � ]l X�� WhX �X��U�hX a �U VWU ]lU WVhjWZZU YW lW]hjXlWV X ]l Uk]� WjX lWkjX � 'XlW,�W�� m l YW T^� [ c��d!�� a VW �jWW \]W Wl WVhUV �]WlhWV ZU W� mVm l � WVh0 � ml�]ZUYUU ZU U�jW� m l YW � UhWjmU YXlUYU � Xj ZU WVhjWZZU lXj� UZ VX�jW WZ X�� WhX �X��U�hX � - VhXhU�� m&l �]WYW X �]jjmj Wl � mlUjmUV � YW �U� U � UVU b
��� � 
�
 ���� � 
��� � 2���� f a
� Uj�UlYX ZU Ym�WjWl�mU WlhjW U��UV �ZUVWV lX V ZX ZU � UVU YW ZU WVhjWZZU lXj� UZ a VmlXhU�� m&l WZ � W�UlmV� X jWV�XlVU� ZW YW ZU hjUlV�WjWl�mU YW � UVU � -l ZUV .��[ mlhWj� mWlW WZ
���� �� �jXY]� mYX � Xj ZU WVhjWZZU a \]W kWlWjU ]lU hUVU YW � &jYmYU

Ṁwind ∼ 10−8 − 10−5 �
��j−1 � gXV � W�UlmV� XV \]W U�h/Ul m��]ZVUlYX WVhXV � mWlhXV a V] �Xl*k]jU� m l � W� mVm l VXlUZhU� WlhW �X�� ZW� XV � � WjW�Wl V] �jX� mU 0jWU YW WVh]YmX b�Wj ^W��m l � �cf � -l ZUV g��[VZU WVhjWZZU lXj� UZ �U W�XZ]� mXlUYX a VUZmWlYX YW ZU VW�]Wl�mU �jml� m�UZ �UjU W,�UlYmjVW �0VUZZ0 YW � mWjhU V]� Wj*� mW W\]m�XhWl�mUZ \]W ZU �XlhmWlW � VW Ym�W \]W ZU hjUlV�WjWl� mU YW � UVUX �]jjW � Xj YWjjU� W YWZ Z �]ZX YW �X ��W �

% hjU �XVm� mZmYUY �UjU ZU W� mVm l YW jU�XV � b� hUZ �W�
γ
f �Xj ]lU � mlUjmU WV \]W VW hjUhWYW ]l VmVhW� UV �Xl �XZmVm l YW � mWlhXV � ^mVhW� UV �Xj� UYXV � Xj YXV WVhjWZZUV �]� hW��jUlUV

�jmlYUl WVhU � XVm� mZmYUY a hjUh0lYXVW ]V]UZ� WlhW YW VmVhW� UV hm�X � ��%[ � - Z �jWlhW YW
��X\]W WVhU� mXlUjmX \]W VW �Xj� U UZZ( YXlYW VW W\]m�UjUl ZUV �jWVmXlWV YW U��XV � mWlhXVWV WZ VmhmX YXlYW VW U�WZWjUl ZUV �Ujh (�]ZUV \]W Z]WkX W� mhWl jUYmU� m l

γ
� TXj XhjX ZUYX a ZUmlhWjU�� m l YWZ � mWlhX YW ]lU WVhjWZZU YW kjUl � UVU �Xl WZ � mWlhX YW ]l �]ZVUj ZZW�U U ]lUVmh]U� m l �Xl � mWjhUV Vm� mZmh]YWV � - VhW WV�WlUjmX jW\]mWjW \]W WZ �]ZVUj VWU ZX �UVhUlhW �  �Wl

�X� X �UjU hWlWj ]lU hUVU YW �&jYmYU YW WlWjk (U jXhU�mXlUZ m�� XjhUlhW b
Ėrot ∼ 1036 WjkV−1f � �l W� W�� ZX YW WVhXV VmVhW� UV a �Xl W� mVm l

γ
�Xl* j� UYU a WV T^� [ c��d!�� � - Vh]YmXV

� mlW�0hm�XV YW g^ �e�d � g^ " �� c �e� �]WVhjUl \]W �Ul VmYX W,�]ZVUYXV YW ��]lUV�
�Wj�UlUV �Xj W,� ZXVmXlWV YW V]� WjlX�U \]W X �]jjmWjXl YWlhjX YWZ �UVUYX � mZZ l YW U�XVb� mjU� WZ a �ee�f � TXj ZX hUlhX a Vm �U� ]l �]ZVUj Wl WVhXV VmVhW� UV a VW hjUhU YW ]lX \]W WlW�W�hX WV jWZUhm�U� WlhW �  �Wl �

� U�Xj� WlhW a ZU lUh]jUZW�U YW ZU WVhjWZZU �X��U�hU Wl ZUV � mlUjmUV � lX WV �XlX � mYU a
�]WV � WYmUlhW h&�lm�UV WV� W�hjXV� � m�UV � Wl WZ jUlkX � mV]UZ ZU � UVU V]WZW WVhUj U�XhUYUWl ]l jUlkX \]W � Wj� mhW U��UV �XVm� mZmYUYWV � WVhjWZZU YW lW]hjXlWV X Uk]� WjX lWkjX � gUW� mVm l Wl jUYmX Wl �Xj� U YW �]ZVXV �jX�U� ZW� WlhW VWU U�VXj� mYU Wl �Xj� U W*�mWlhW � Xj WZ
� UhWjmUZ YWlVX YWZ � mWlhX WVhWZUj U � WlXV \]W WZ �]ZVUj VW UZW� W ZX V]*� mWlhW YW ZU WVhjWZZUY]jUlhW �UjhW YW V] � X� m� mWlhX Xj� mhUZ� � ^m WVhX X �]jjW � VW YWhW�hUl �]ZVU�mXlWV Wl jUYmX
�_X jU�XV � WVhUjW� XV Wl �jWVWl� mU YW ]lU WVhjWZZU YW lW]hjXlWV a � �]WYW jWV]ZhUj �0V
�jX�U� ZW WZ � W�UlmV� X YW mlhWjU��m l YW � mWlhXV WlhjW �]ZVUj � WVhjWZZU� � ^X�jW ZUV YXV
�]WlhWV � Wl� mXlUYUV � Wj� UlW�W Wl YW�UhW b�]�]V a �ee�Uf Vm WV &VhW WZ WV�WlUjmX X �0V

��� $����� "�� �� 5%��"!� $� � � � # 5%� 4��;�� %�� ���� "� 5��"�� $� �� �� � $�� �6 8 ��� ���4���� 0 7�� ��2������  � $� ���� �� �� "���"���"!� $� �� !�6 "�� # �  � �$�4�� %� ;���� $� � � � 4��� �� � ������ ���� �� 5%��"��� %�� 2��� "������9� # � 4 ��"��� ���� 4��� � ������ $� 2��� � � � 0
'< �� � �� 5%� ��%��� �� ��  " ��� � $� 7 �
 � *+�	6�� # 5%� �"��� %�� !�6 "�� �%� ���(���"��

e = 0.87
� % 4��3�$� � 

Porb = 3.4
��� 0

	� "� ��6��2� # � "�4������� ����� 5%� 4�� ��  $��$� �� �6 8 ��� ���4���� � %�� � ������ $� ��%����� #���� ��� � 6 * � ,"� � 6 *0
c�
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������
γ
�� � ������ � ��� �������� � � 	 ��������

� mWl XhjX a YXlYW WZ X�� WhX �X��U�hX lX WV �U�U� YW �jWlUj ZU U�jW� m l � X �UVmXlUZ� WlhWm��]ZVU �UjhW YWZ � UhWjmUZ \]W �UW VX�jW & Z a �Xj� UlYX ��XjjXV U ZX ZUjkX YW V] W� W YWjXhU�m l � 'X� X VW � Wl� mXl Wl ZU "lhjXY]�� m l a WVhXV VmVhW� UV VW YWlX� mlUl � m�jX �]0VUjWV �gWV YWYm�UjW� XV WZ �U�(h]ZX Vmk]mWlhW � mWlhjUV \]W Wl ZUV �j , m� UV VW�� mXlWV VW �jWhWlYWU�� ZmUj ZX �X� WlhUYX VX�jW ZXV XhjXV � XYWZXV U�h]UZ� WlhW � X�]ZUjWV �UjU ZUV � mlUjmUV YWjU�XV
γ
a �Xl�WlhjUlYXlXV Wl WZ �UVX YW VmVhW� UV YW kjUl � UVU � - Z 'U� mh] ZX ce hjUhU WZ �UVXYW ]l �]ZVUj UZhU� WlhW � UklWhm�UYX �Xl U�jW� m l �

� �� � � ������ �� ��������� �� ���� � ���
`XV jW�Wjm� XV U\] ( U ZUV WVhjWZZUV �Xl hm�XV WV� W�hjUZWV % a [ � �XZ�!� U�Wh b� � f a WVhjWZZUVYW kjUl � UVU b

> 20
�

�

f � UZhUV Z]� mlXVmYUYWV� b
105−106 g

�

f �Xl ZU �jWVWl�mU �UjU�hWj(Vhm�UYW Z(lWUV YW W� mVm l b�Xj ZX \]W VW UkjWkU ]lU ZWhjU W UZ hm� X WV� W�hjUZ Vm VW hjUhU YW ZUV
%[f �
gUV WVhjWZZUV [W �]WVhjUl �WZX � mYUYWV YW jXhU�m l �0V UZhU \]W ZUV [ bYWZ XjYWl YWZ

∼ 80 %
YW ZU �WZX � mYUY YW jXhU� m l �j(hm�Uf � VW �Ul X�VWj�UYX Wl WZZUV �UjmU� mXlWV Wl ZUmlhWlVmYUY YW ZUV Z(lWUV YW [UZ� Wj � Wl WZ %]� X �Xlh(l]X � YW Z(lWUV Wl WZ ]ZhjU� mX ZWhU b�� f �

� m��XV �U�� mXV VW W,� Zm�Ul �X� X �UjmU� mXlWV Wl WZ UV� W�hX YW ]lU Wl�XZh]jU YW � UhWjmUZ
� mj�]� WVhWZUj b�Wj W� � � XlXkjU�(U YW TXjhWj � � m� mlm]V a �ee�f � -l �Ujhm�]ZUj a ]lU Wl�XZh]jU
�0V �j(U \]W ZU WVhjWZZU VWj(U jWV�XlVU� ZW YWZ W,�WVX Wl ZU W� mVm l ml �jUjjX� X b
! f �Xj VX�jWWZ �UZXj �Xh V�Wjm�X lXj� UZ � ZUV Z(lWUV YW W� mVm l Wl WZ � mV]UZ � - Z �jX �WVX � WYmUlhW WZ
�]0 Z VW W,� WZW � UhWjmU YW ZU WVhjWZZU lX WVh0 YWZ hXYX � ZUjX � iZk]lUV �jX� mWYUYWV �Ul VmYXml�WjmYUV � WYmUlhW WVh]YmXV WVhUY (Vhm�XV YW ZXV � Wj* ZWV YW W� mVmXlWV � W,�WVX "� YW WVhjWZZUVmlYm� mY]UZWV � gU W, mVhWl� mU YW ]lU WVhj]�h]jU U��UhUYU bVm� mZUj U ]l YmV�X �Xl*lUYX �Wj�UYWZ � ZUlX W�]UhXjmUZf UZjWYWYXj YW ZUV WVhjWZZUV [W �UjW�W VWj ]l �]lhX � mWl WVhU� ZW�mYX �
%�VWj�U�mXlWV �XZUjm�&hjm�UV � ]hmZm�UlYX mlhWj�WjX� Whj(U YW �W��X �Ul � Wj� mhmYX YWhW�hUjWZ YmV�X YW

ζ
+U]jm b
]mjjWl�U�� Wh UZ � cdd�f � - Z � XYWZUYX YW WVhXV YmV�XV jW\]mWjW YWZ

�XlX �m� mWlhX YW �jX� mWYUYWV �(Vm�UV YW ZU Wl�XZh]jU � �UhWjV Wh UZ � bcd��f �Ul WVhm� UYXYWlVmYUYWV WZW�hj lm�UV YWZ XjYWl YW
10−12 − 10−11 k ��−3 Wl ZUV jWkmXlWV mlhWjlUV YWZYmV�X a �]lhX �Xl � Wj* ZWV YW YWlVmYUY �Xl YW� WlYWl� mU YWZ hm�X

r−n VmWlYX 2 < n < 4
�i�h]UZ� WlhW a ZU hWXj(U �0V U�W�hUYU �UjU WZ � XYWZUYX YW WVhXV YmV�XV WV ZU \]W ml�Xj�XjUZU � mV�XVmYUY �X� X � W�UlmV� X �UjU WZ hjUlV� XjhW YW � X� WlhX Ulk]ZUj a YW � XYX \]W WZ

� Wj* Z YW �WZX �mYUY U� m�]hUZ Wl �]l�m l YW ZU YmVhUl� mU U ZU WVhjWZZU VW � UlhmWlW � W� ZWjmUlXbgWW a ^UmX � % VU$ m a cdd cf ZX �]UZ WV �XlVmVhWlhW �Xl ZU W� mYWl� mU X�VWj�U� mXlUZ � '0 Z�]ZXVhjmY m� WlVmXlUZWV YW WVhUV WVhj]�h]jUV a � YW ZUV XlYUV YW YWlVmYUY \]W �]WYWl YUjVW Wl WZZUV
�Ul VmYX jWUZm�UYXV � Xj %$U�U$ m bcdd ca � hjU�U� XV �XVhWjmXjWVf �
TXj XhjX ZUYX a VW �jWW \]W WZ � mWlhX hWlYj(U UYW�0V ]lU �X��XlWlhW � WlXV YWlVU �

�0V j0� mYU bV]� WjV lm�U a �Xl �WZX � mYUY hWj� mlUZ
v∞ ∼ 1000

$� V−1f a m��]ZVUYU �Xj ZU
�,��4���6�� ��� �� �%� "�� "$�$ $� <$$"�2��� $� �� � ������ # $�$� 4��

LEdd = 4πcGM?mH/σT '
1.2 × 1038(M?/M�)

��2  
−1

0
c�
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γ

�jWVm l YW jUYmU� m l YW U�VXj� mXlWV YmV�jWhUV bZ(lWUV � XYm*�UYUV �Xj W�W�hX �XX� ZWj � WlWVhUV U�VXj�mXlWV VW hjUlV*WjW WZ m��]ZVX \]W �jXkjWVm�U� WlhW U�WZWjU WZ � mWlhX �UVhU ZZWkUjUZ W\]mZm�jmX \]W m�� Zm�U ZU �WZX �mYUY hWj� mlUZf � - VhW � mWlhX VUZW YW ZU WVhjWZZU Wl �Xj� U
�jW�WjWlhW� WlhW �XZUj X mVXhj � m�U a � VWj(U WZ jWV�XlVU� ZW YW ZU W� mVm l �� � - Z � Wj* Z YW
�WZX � mYUY WV Wl WVhW �UVX YWZ hm�X

v(r) ∼ v∞(1 −R?/r)
β a VmWlYX β ]l �Uj0� WhjX YWZ XjYWlYW ZU ]lmYUY bgU� WjV � 'UVVmlWZZm a cdddf � iZ WVhm� Uj ZU hUVU YW �&jYmYU YW � UVU a �UjUWVhjWZZUV YW hm� X %[ �Xl Z]� mlXVmYUY � hW�� WjUh]jU W�W�hm�U jWV� W�hm�U� WlhW Wl ZXV jUlkXV

5 < log(L?/L�) < 6
a �

4.45 < log Teff < 4.7
a �]WYW ]hmZm�UjVW ]lU jWZU� m l W��(jm�U �

log
(

Ṁ/(M�yr−1)
)

= 1.738 log(L?/L�) − 1.352 logTeff − 9.543
a X�hWlmYU �Xj gU� WjV �

gWmh�WjWj bcdd�f �
gUV hUVUV YW �&jYmYU YW � UVU Wl ZUV � � VXl ZUV � U�XjWV \]W VW �Ul ml �WjmYX a UZ�Ul�UlYX

∼ 10−4 �
�

�j−1 bgWmh�WjWj Wh UZ � cdd�f � gUV Z(lWUV Wl W� mVm l YW WVhUV WVhjWZZUV VXl
�Ujhm�]ZUj� WlhW Ul��UV � �l jW�UVX U�h]UZm�UYX VX�jW ZUV �jX� mWYUYWV YW ZUV WVhjWZZUV � � VWY0 Wl ' jX# h�Wj b�ee�f � gU VW�]Wl� mU YW V]�hm�XV WV� W�hjUZWV YW ZUV � � �UjW�W �XjjWV�XlYWjU WVhUYXV W�XZ]hm�XV b�jW�WVf YW ZUV WVhjWZZUV % � gU U�WZWjU� m l YW �Ujh (�]ZUV � V] �XlVW�]WlhWW� mVm l lX h&j� m�U Wl WZ WlhXjlX YW WVhUV WVhjWZZUV �]W �XlVmYWjUYU � Xj � � mhW bcd��f � -, mVhWW� mYWl�mU X�VWj�U�mXlUZ YW \]W ZXV � mWlhXV YW WVhjWZZUV % � � � �jWVWlhUl ml�X� XkWlWmYUYWVYW � W\]W�U WV�UZU X kj]� XV b�Z]��Vf a � Xj ZX \]W WZ � mWlhX VW �UjU�hWjm�U � WYmUlhW ]l �U�hXjYW ZZWlUYX

f ∼ 0.05 − 0.25
b\]W Y0 ]l �U�hXj � U � � WlXj Wl ZU hUVU YW � &jYmYU YW � UVUjWV� W�hX U � XYWZXV �X� XkWlWXV a

dM/dt ∝ f 1/2f � �lU �W� \]W VW �Ul �jX�UkUYX a ZXV � mWlhXVYW WVhUV WVhjWZZUV mlhWjU�h/Ul �Xl WZ � UhWjmUZ mlhWjWVhWZUj kWlWjUlYX �jWlhWV YW ��X\]W� �VX �U�UlYX �U� mYUYWV X �]j�]� UV b[WlUkZmU � 'U��U a cdddf � 'X� X ZUV WVhjWZZUV YW kjUl � UVUW�XZ]� mXlUl jU� mYU� WlhW V]WZWl Wl�XlhjUjVW �Wj�U YW V] Z]kUj YW �Xj� U�m l bW� � �Xj� UlYXUVX �mU�mXlWV WVhWZUjWV a \]W hU�� m&l �Ul VmYX WVh]YmUYUV �X� X � XVm� ZWV �]WlhWV YW jU�XV
γ
a

+XjjWV Wh UZ � �ee� f �

. W� XV �X� WlhUYX UZk]lXV UV� W�hXV YW ZU W� mVm l � WZ � mWlhX YW ZU WVhjWZZUV YW kjUl � UVU �i ZU �XjU YW � XYWZUj ZU W� mVm l kWlWjUYU Wl V]V ml� WYmU�mXlWV a ZXV �U�� XV YW � UhWjmU a YW
�XhXlWV � � Ukl&hm�X hmWlWl WVhj]�h]jUV �X�� ZW� UV a �UjU ZUV �]UZWV VW UYX�hUl YWV�jm�� mXlWVVm�� Zm*�UYUV � - Z �U�� X � Ukl&hm�X Wl ZU V]� Wj*�mW b

B?
f YW WVhjWZZUV YW kjUl � UVU VW WVhm� U\]W %]�h/U WlhjW ]lXV �X �XV � U]VV � ∼ 103 � b�XlUhm Wh UZ � �ee�f � gU kWX� Whj(U YWZ

�U��X �U VmYX �XlVmYWjUYX �Xj �UjmXV U]hXjWV b� � mhW cd�� & gU� WjV UlY 'UVVmlWZZm cddd �V]V jW�WjWl� mUVf � �]WYW jW�jWVWlhUjVW �UVm�U� WlhW �X� X ZU YW ]l jXhXj � gU �WZX �mYUY YWjXhU�m l YW ZU WVhjWZZU V]WZW VWj
v?

∼= (0.1 − 0.2)v∞
b'Xlhm � -�� WhV cd��f � 'Wj�U YW ZUWVhjWZZU WZ �U�� X � Ukl&hm�X WV U�jX, m� UYU� WlhW jUYmUZ a � mWlhjUV \]W UZ UZW� UjVW VW hXjlUhUlkWl� mUZ � [U� X ZU � m� hWVmV YW ]l � mWlhX WVhWZUj ��U hm�X� ZUV %]�h]U� mXlWV YWZ �U��X

� Ukl&hm�X �]WYWl UV]� mjVW
δB/B ≈ 1

� �
�<� � �� �4�5%� ����� �� ; "���� $� � ������ $� 2��� � � � �" ��$� � �� � �$"� "����� �����  � 4� � �"� �$�5%�  � 2����� %�� �%� "�� "$�$ $�

∼ 1032 − 1033
��2  

−1
� ����23� 

> 100
��8 9����2�"� �� �� 0 +;; *: 5%�� $�� � "�$� 6�8� 4���  �� $������6 �� ��� �� "� ��%� ���� ���%��� 0

�<� ��� ��%���"� # �� $"5% "!� $� 4���3�%�� ���2�$� �� �� ; "����  � $3 �� �� ���$"�"��� $� ��4�
c�
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- V �]��X ZX \]W �]WYW YW� mjVW VX�jW WVhXV mlhWjWVUlhWV X�� WhXV a � mWlhjUV \]W WVhW WV�U� mXWV X�� mU� WlhW Zm� mhUYX � - Z ZW�hXj �]WYW YmjmkmjVW � Xj W� � U gm�]lX� bcdd�f a � ^�U� mjX �
+W]$XZV$� bcd��f �UjU ]lU mlhjXY]�� m l �0V U�� ZmU �
TX �X YWV�]&V YWZ YWV�]�jm� mWlhX YW ZXV jUYmX �]ZVUjWV Wl cd�� VW ZXV mYWlhm*� �XlWVhjWZZUV YW lW]hjXlWV � UklWhm�UYUV a UmVZUYUV bVml �X��U�WjU � mlUjmUf � jXhUlYX U UZhUV

�WZX � mYUYWV � ^ ZX WVhW hm�X YW X�� WhXV VWj(Ul �U�U�WV YW W,� Zm�Uj ZXV � Wj(XYXV �XjhXV �WVhU� ZWV YW ZXV �]ZVXV X�VWj�UYXV a UYW�0V YW ZU UZhU � XZUjm�U� m l YW V] W� mVm l Wl jUYmX �
� WVYW WlhXl�WV VW ZXV �U YWhW�hUYX W� mhmWlYX Wl hXYX WZ WV� W�hjX a �UVhU ml� Z]Vm�W jU�XV
γ
YW UZhUV WlWjk (UV b� W�!� W� f � - Z W� W � Ukl&hm�X YW ZU WVhjWZZU YW lW]hjXlWV � V] W� W YWjXhU�m l YW� Wl WVhUj YWVUZmlWUYXV �UjU �]Vhm*�Uj ZXV �]ZVXV � gU jUYmU� m l \]WYU �XlhWlmYUWl YXV �XlXV UlkXVhXV U ZX ZUjkX YWZ W� W � Ukl&hm�X � WZ X�VWj�UYXj ZU YWhW�hU V ZX �]UlYX]l �XlX U�]lhU Wl YmjW��m l YW ZU � mV]UZ � gU WlWjk (U jUYmUYU VW W,hjUW YW ZU WlWjk (U � ml&hm�UjXhU�mXlUZ YW ZU WVhjWZZU YW lW]hjXlWV a \]W Wl �XlVW�]Wl� mU �jWlU V] jXhU� m l � U]� WlhU WZ

� Wj(XYX YW ZXV �]ZVXV �
gU jWkm l ml� WYmUhU YWZ �]ZVUj VW ZZU� U V] � UklWh V�WjU � -l WVhU jWkm l a jWV]ZhU ]lU

�]WlU U�jX, m� U� m l �XlVmYWjUj UZ �]ZVUj �X� X ]l Ym� XZX � Ukl&hm�X bjXhUlhW a lX UZmlWUYXf �^W ZZU� U jUYmX YW �XjjXhU�m l a X YWZ � mZmlYjX YW Z]� a U ZU YmVhUl� mU U ZU �]UZ ZU �WZX �mYUY YW
�Ujh (�]ZUV \]W jXhUjUl Wl �Xj� U j(kmYU �Xl ZU WVhjWZZU YW lW]hjXlWV mk]UZUj(U ZU �WZX �mYUYYW ZU Z]� � � WlhjX YW WVW jUYmX ZUV �Ujh(�]ZUV �UjkUYUV WVh0l ZmkUYUV U ZUV Z(lWUV YW �U��X
� Ukl&hm�X � -l WZ mlhWjmXj YWZ � mZmlYjX YW Z]� ZUV Z(lWUV VXl �WjjUYUV a � WjX ZUV \]W VW W,hmWlYWl
�0V UZZ0 YWZ jUYmX YW �XjjXhU�m l VXl U� mWjhUV �a � mVhX YWVYW Ujjm�U a VXl UjjUVhjUYUV Wl �Xj� UYW WV� mjUZ �

� W U�]WjYX UZ � XYWZX YW �XZYjWm�� � �]ZmUl bcd�df a �]VhX �]WjU YW ZU V]� Wj*� mW YW ZUWVhjWZZU YW lW]hjXlWV ZU �]Wj�U YW gXjWlh� VX�jW ZUV �Ujh (�]ZUV �UjkUYUV W,�WYW WlXj� W� WlhWZU �]Wj�U YW UhjU�� m l kjU� mhU�mXlUZ a ZX \]W �jXY]�W ]lU � UklWh V�WjU jm�U Wl �Ujh(�]ZUV\]W VXl �UjjUl�UYUV� YW ZU V]� Wj*� mW YW ZU WVhjWZZU � -l ZUV ml� WYmU�mXlWV YW ZU �XlU � XZUj VWYWVUhUl �UV�UYUV WZW�hjX� Ukl&hm�UV bYX� mlUYUV �Xj jUYmU� m l YW �]j�Uh]jUf \]W ZZW�Ul UU]� WlhUj WZ %]� X YW WZW�hjXlWV � � XVmhjXlWV b^h]jjX �$ a cd�cf � gUV �Ujh(�]ZUV \]W VW �]W�WlU ZX ZUjkX YW ZUV Z(lWUV YW �U�� X U� mWjhUV WV�U�Ul �Xj� UlYX WZ � mWlhX YWZ �]ZVUj � ^mlW��UjkX ZU jWZU� m l WlhjW WlhjW WZ � mWlhX � ZU � UklWh V�WjU �jWVWlhU hXYU� (U m��XjhUlhWVjWhXV hW jm�XV a �X� X YWV�jm� W � m��WZ b�ee� f � gU jUYmU� m l kU�� U YW� mYU U ]l �]ZVUj UmVZUYX
� V]V ml� WYmU� mXlWV b��� � ������ � 2�� ��$��� f �]WYW hWlWj XjmkWl Wl hjWV �XlUV �XlYmVhmlhUV �XlYm� mXlWV �(Vm�UV � ZU � UklWh V�WjU a WZ � mWlhX jWZUhm� mVhU a X ZU lW�]ZXVU W,hWjlU\]W VW �Xj� U Wl ZU jWkm l YXlYW VW �jWlU WZ � mWlhX a �X� X WV\]W� Uhm�U ZU ) mk]jU � �� �
gU W� mVm l kWlWjUYU Wl ZU � UklWh V�WjU WV ZU \]W VW X�VWj�U �]ZVUj �Xl WZ � Wj(XYXjXhU�mXlUZ YW ZU WVhjWZZU a Vm � mWl ZXV � W�UlmV� XV kWlWjUl ZU W� mVm l lX VXl � ZUjXV U/l �

-l WVhU jWkm l mlhWjlU ZUV �&jYmYUV WlWjk&hm�UV YWZ �]ZVUj WVh0l YX� mlUYUV �Xj %]� X YWTX�lhmlk a � mWlhjUV \]W � Xj �]WjU YWZ �mZmlYjX YW Z]� YX� mlU ZU WlWjk (U � ml&hm�U YW ZUV
9� 4 "�� # *	&�:

c�
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�Ujh (�]ZUV YWZ � mWlhX � ]l � ZUV� U YW WZW�hjXlWV � �XVmhjXlWV jWZUhm� mVhUV \]W W� mhW �XhXlWVWlWjk&hm�XV �Xj YmV� WjVm l 'X��hXl ml�WjVU � - Z �U�hXj YW gXjWlh� YW WVhW � mWlhX VW WVhm� UWlhjW
104 �

107 � - Z � mWlhX YWZ �]ZVUj W�Wlh]UZ� WlhW VW �jWlU UZ ��X �Uj �Xl WZ jW� UlWlhW YWV]� WjlX�U UVX � mUYX b� ZWjm lf X �Xl WZ � WYmX mlhWjWVhWZUj a kWlWjUlYX Wl WVhU �XlU ZW� UlU ]lUlW�]ZXVU \]W W� mhW jU�XV � h&j� m�XV � �Xj �jX �WVX Vml�jXhj l � gXV UV� W�hXV kWlWjUZWV YW ZUW� mVm l YWZ �]ZVUj YW ' jU� � V] lW�]ZXVU �]WYWl YWjm�UjVW Wl WZ �XlhW,hX YW WVhW � XYWZX �
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           R,O,X 
  : MeV/GeV; TeV (?)γ

Only   : GeV or TeV γ

         R,O,X
   : MeV/GeV/TeV γ

Interstellar medium

Shock front

Radiation from a                                            complex

B

Synchrotron 
nebula

Unshocked 
wind

Pulsar

Pulsar-wind-nebula 
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� �� � ������ �� � ��� �����
%�VWj�U� mXlWV Wl jUYmX �Ul YWhW�hUYX ZU W� mVm l lX h&j� m�U \]W VW kWlWjU Wl ZU �XlUYW mlhWjU�� m l WlhjW ZXV � mWlhXV YW YXV WVhjWZZUV YW kjUl � UVU \]W �Xj� Ul VmVhW� UV � mlUjmXV �

']UlYX VW hmWlW ZU V]*� mWlhW jWVXZ]� m l WV�U�mUZ bW� a ]hmZm�UlYX �gi f ZU jWkm l W� mVXjUU�UjW�W �X� X ]lU jWkm l W,hWlYmYU YW �Xj� U WZXlkUYU WlhjW ZUV YXV WVhjWZZUV � - VhU W� mVm l
�jX� mWlW YWZ Wl �jmU� mWlhX bVml�jXhj lf YW ZUV �Ujh (�]ZUV \]W �Ul VmYX jW!U�WZWjUYUV Wl �Xj� UYm�]Vm�U b�Wj i�&lYm�Wf Wl WZ �jWlhW YW ��X\]W �jXY]�hX YW ZU �XZmVm l YW ZXV � mWlhXV WVhWZUjWV �

c�
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- VhW WV�WlUjmX �]W ml�WVhmkUYX � Xj - m�� ZWj � � VX� bcdd�f � Z]WkX �Xj XhjXV U]hXjWV \]Wm�� ZW� WlhUjXl � XYWZXV Vm�� Zm*�UYXV Wl WZ mlhWlhX YW � UlhWlWj WZ �0Z�]ZX UlUZ(hm�X � � XYWjWVhm� Uj WZ U�� ZmX WV� W�hjX W� mhmYX a \]W VW W,hmWlYW �UVhU ZUV UZhUV WlWjk (UV �
iV]� mWlYX \]W WZ � mWlhX YW U��UV WVhjWZZUV a �jm� UjmU bV]�(lYm�W ca ZU � � f � VW�]lYUjmUbV]�(lYm�W � a ZU %[f %]�W Wl �Xj� U jUYmUZ � �XZmVmXlU U ZU YmVhUl�mU

ri

YW ZU WVhjWZZU
i
a mk]U!ZUlYX �jWVmXlWV jU� VW X�hmWlW

ri

Wl �]l� m l YW ZU VW�UjU� m l YW ZU � mlUjmU � YWZ �Uj0� WhjX
η
a YUYX �Xj

η = (Ṁ2v∞,2)/(Ṁ1v∞,1)
a YXlYW hU�� m&l YW� Wl UV]� mjVW �UZXjWV YW ZUV hUVUV YW

�&jYmYU YW � UVU b
Ṁ
f � �WZX �mYUYWV hWj� mlUZWV b

v∞
f � -,�jWVmXlWV YWhUZZUYUV �UjU ZU �Xj� UYWZ �jWlhW YW ��X\]W �]WYWl �UZZUjVW Wl ilhX$� ml Wh UZ � b�ee� f � V]V jW�WjWl� mUV � gU W� mVm lYW ZUV �Ujh (�]ZUV jW!U�WZWjUYUV �]WYW �UZ�]ZUjVW YUYXV ZXV �UZXjWV YWZ �U�� X � Ukl&hm�X � YW

�XhXlWV bWVhWZUjWVf \]W VW UV]� Ul Wl
ri

� � 0V hUjYW a VW �Ul YWVUjjXZZUYX � XYWZXV � mYm� Wl!VmXlUZWV � mYjXYml0� m�XV \]W � Wj� mhWl ml�Xj� XjUj ZUV YmVhjm�]�mXlWV YW �jWVm l � YWlVmYUYYW ZXV � mWlhXV a ZZW�UlYX U ]lU � W� Xj WVhm� U�m l YW ZU YmVhjm�]� m l WV�U� mUZ YW ZUV �Ujh(�]ZUVjW!U�WZWjUYUV b�X]k�Wjh� � TmhhUjY a �ee�f �
�Ul YWj .]��h b�ee cf ZmVhU ��� WVhjWZZUV � � �XlX �mYUV �UVhU WVW � X� WlhX a YW ZUV

�]UZWV a VW�UZU \]W WZ ∼ 40 %
�Xj� Ul VmVhW� UV � mlUjmXV � gUV � mlUjmUV �0V �XlX �mYUV �]�UW� mVm l

γ
�U VmYX � XYWZUYU VXl � � c�e b\]W WVh0 Wl WZ �XjYW YW ZU �U� U YW WjjXj YW

�-� ��e����� c�f a � � c�� � � � c�� � -l WZ �UVX YW VmVhW� UV �Xl W,�Wlhjm� mYUY WZW�UYU a
�X� X WZ \]W VW �]WVhjU Wl ZU ) mk]jU � �� a ZU jWkm l YW �XZmVm l YW � mWlhXV V] �jmj0 �U�� mXVm��XjhUlhWV YW� mYX U ZU �UjmU� m l YW ZU VW�UjU�m l YW ZUV WVhjWZZUV �Xl WZ � X� m� mWlhX Xj� mhUZ �gU � mlUjmU � � �eU bWZ VmVhW� U � mlUjmX YW � U�Xj � UVU Wl ZU kUZU, mUf �U ZZU� UYX ZU UhWl� m l
�Xj Wl�XlhjUjVW YWlhjX YW ]lU jWkm l W,hWlVU YWhW�hUYU �Xj .-^^ a Wl WZ �/�]ZX WVhWZUjU� mWjhX �WVhWjZ]lY � bi�UjXlmUl Wh UZ � �ee�� f � [WYlUjW$ b�ee�f �U hjU�U� UYX VX�jW ZU
�jX�UkU� m l YW ZXV jU�XV

γ
Wl � � �eU a � ZU �XVm� ZW W� mVm l YW lW]hjmlXV �Xj WVhW VmVhW� U �

^m � mWl VW �U �jWVhUYX � U�Xj UhWl� m l U WVhW hm�X YW VmVhW� UV � Xj V] W� mVm l Wl jU�XV
� bYXlYW U �W�WV WV mlYmVhmlk]m� ZW ZU �X��XlWlhW h&j� mlU YW ZU \]W lX ZX WVf a [WlUkZmU �
�X� WjX b�ee�f WVhm� UjXl \]W ZU W� mVm l YW VmVhW� UV hm�X � ��%[ U WlWjk (UV � U�XjWV \]Wcee � W� �]WYW �UjmUj WlhjW ZXV

1032 � �UVhU ∼ 1035 Wjk V−1 �

� �� � ������ �� ��� �� ������ �� � ����� �� �������������
-l WZ WlhXjlX YW �]ZVUjWV UmVZUYXV Wl � X� m� mWlhX jWV� W�hX UZ � WYmX a ZU mlhWjU��m l YWZ

� mWlhX YWZ �]ZVUj �Xl WZ � UhWjmUZ mlhWjWVhWZUj �jXY]�W ]l ��X\]W �Xl �jWlhW Wl �Xj� U YW Uj�Xb���f Wl YmjW�� m l X�]WVhU U ZU YWZ �W�hXj �WZX � mYUY jWZUhm�U � �l �]ZVUj \]W mlhWjU�h/U �XlWZ � mWlhX YW ]lU �X��U�WjU WVhWZUj YW kjUl � UVU bVmVhW� UV hm�X [W�T^� f WVh0 �Xl*lUYX
�Xj ]lU �jWVm l mlhWlVU a � V ZX Vm WV �U�U� YW kWlWjUj ]l � mWlhX �Xl ZU WlWjk&hm�U lW�WVUjmU�


7��� $� ��"6"� �� ; "���� $�� 4%� �� #  � "����$%�� %� 4��3�����
σ

���� �$� � �2���"9��"!� 0 <  �� �� �"��������� $�� "$�$� $� ����23� ��2�(�"�� � �"�(�"�� 9$� �� 4���3�%�� $�� ; "����: 0 �� � %� �
σ < 1

# � �$�� 3 #�� � �$��� $� :%6%  %4���� 5%� �� 5����"!� $� ����23� ���;�$� 4�� "��� � $� 4���"�6�� # � "����� 5%��� ��4����  �� ��������2(�"�� # ��� 5����� $� 1�����9
γp

0
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�XYj0 W� mhUj ZU U�jW�m l � TXj W� W�� ZX Vm WZ � mWlhX YW ZU WVhjWZZU WVh0 �UjU�hWjm�UYX �Xj
Ṁw

�
v∞
a ZU VW�UjU�m l Xj� mhUZ WV

a
a � ZU �XhWl�mU �ml&hm�U YWZ � mWlhX YWZ �]ZVUj WV

Ė �
]l � XYWZXVm�� Zm*�UYX b�]�]V a �ee�Uf YXlYW VW mk]UZUl �jWVmXlWV �UjU YWV� W� Uj ZU YmVhUl�mU
Rs

YWVYWWZ �]ZVUj YXlYW VW ]� m�U WZ �jWlhW YW ��X\]W b	������ ��	��� ��f a ZZW�U U
Ė

4πR2
sc

= ρwv
2
∞ → Rs =

a

1 + (Ṁwv∞c/Ė)1/2
,

b� �cf
YXlYW VW ]V 

ρw = Ṁw/(4πv∞(a−Rs)
2)

�UjU ZU YWlVmYUY YWZ � mWlhX WVhWZUj� � ^W X�hmWlW �UjU
�]ZVUjWV �  �WlWV bWl jXhU� m l �Xl � Wj(XYX YW � mZmVWk]lYXV � hUVU YW �jWlUYX

Ṗ ∼ 10−15f a�Xl ]lU � XhWl� mU Wl WZ � mWlhX
Ė ∼ 1036 Wjk V−1 � �Uj0� WhjXV Vm� mZUjWV U g^ �e�d a \]W

RsWV YW U�jX, m� UYU� WlhW ]lU Y&�m� U YW ZU VW�UjU� m l Xj� mhUZ �
^W �U V]kWjmYX \]W WZ �jWlhW YW ��X\]W WlhjW WVhXV � mWlhXV hmWlW �Xj� U ��X� WhUjmU� WlYmjW�� m l X�]WVhU U ZU YWZ �W�hXj �]ZVUj!WVhjWZZU a � XVhjUlYX �U�� mXV lXhXjmXV YW XjmWlhU� m lY]jUlhW �UVWV Xj� mhUZWV �j , m� UV UZ � WjmUVhjX � 'X� X VW �U Ym��X a ZU jWU�WZWjU�m l YW �Ujh (�]!ZUV Wl �jWlhWV YW ��X\]W ZZW�U U ZU W� mVm l YW jUYmU�m l Wl ]l U�� ZmX jUlkX YW �jW�]Wl�mUV �
��� ����� �� �����"!� 5%� �"���  ��%�"!�

Rs < a
"�$�4��$"����� ���� $� �� $� "2%��$�$ �����

Ė
�

Ṁwv∞c
0

c�
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iYW�0V a ]l VmVhW� U YW WVhW hm�X �jmlYU ]l ZU�XjUhXjmX �]� mlhWjWVUlhW �UjU WZ WVh]YmX YWZ
� mWlhX YW �]ZVUjWV a �jmlYUlYX ]l �WjVm l �������� YW ]lU T� ` � WZ � mWlhX YWZ �]ZVUj WV�jWlUYX U\] ( U ]lU YmVhUl�mU

Rs ∼ 1012 �� � % hjX �W��X mlhWjWVUlhW WV \]W ZU jW!U�WZWjU� m lX �]jjW Wl �jWVWl� mU YW ]l �U��X � Ukl&hm�X �0V mlhWlVX b
B ∼ 0.1 − 1

� f �
- Z VmVhW� U T^� [ c��d!��_^^���� WV ZU �jm� WjU �Xl*j� U� m l YW \]W WVhW WV�WlUjmX Y0Z]kUj U W� mVm l YW jU�XV

γ
YW �]� UZhUV WlWjk (UV b

> 380
� W� f � )]W YWhW�hUYX �Xj .-^^bi�UjXlmUl Wh UZ � �ee�� f � XVhjUlYX ]l � (lm� X Wl V] �]j�U YW Z]� �Wj�U YWZ �UVU� W �Xj WZ

� WjmUVhjX b�]UlYX VW �jW�WW ]l ml�jW� WlhX YW ZU W� mVm l �Xj Wl �jmU� mWlhX "' YW ZW�hXlWV a
� WjX hU�� m&l ]l U]� WlhX Wl U�VXj�m l

γγ
f � � 0, m� XV UZjWYWYXj YW �e Y (UV UlhWV � YWV�]&VYWZ � (lm� X � - Z hjU�U� X YW ��Ulk]Z�Ul Wh UZ � b�ee�f �jW�WW �UjU�hWj(Vhm�UV WV� W�(*�UV YW ZXV

� XYWZXV hW jm�XV \]W VW �Ul �jWVWlhUYX �UjU WVhU �]WlhW � - V mlhWjWVUlhW �X� WlhUj \]W YWZW�Zm�VW YW ZUV �]ZVU� mXlWV Wl jUYmX VW �U �XYmYX ml �Wjmj ZU �XVm� m l YWZ YmV�X � mj�]� WVhWZUj YWZU WVhjWZZU [W � �]�]V b�ee�� f �U WVhm� UYX ZU W� mVm l Wl jUYmX YW T^� [ c��d!�� a � V]kmWjW\]W ZU �jUYmX!�XZU �X� WhUjmU� Wl VmVhW� UV [W�T^� �]WYW VWj �Xl �]lYmYU � Xj V] W� mVm lW,hWlYmYU �Xl ZU W� mVm l YW ]l � ��a �UjU�hWj(Vhm�X YW VmVhW� UV hm�X � m�jX �]UVUj � � W WVhW
� XYX a VW ]lm*�Uj(U WZ WV�WlUjmX �UjU ZUV � mlUjmUV YW jU�XV

γ
� ^ml W��UjkX a �X� X �WjW� XV

�0V UYWZUlhW a WVhU V]kWjWl� mU WVh0 ZW� XV YW VWj �Xl*j� UYU �

cd
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�]jUlhW WZ YWVUjjXZZX YW ZUV ml�WVhmkU� mXlWV jWZU� mXlUYUV �Xl WVhU hWVmV VW WVh]Ym ZUW� mVm l YW jU�XV
γ
Wl VmVhW� UV �XlhWlmWlYX ]lU WVhjWZZU YW kjUl � UVU � ]l X�� WhX �X�!

�U�hX � - VhW hm� X YW VmVhW� UV V]WZW �jWVWlhUj W� mVXYmXV YW W� mVm l Wl jU�XV � bU �W�WVW� mVm l � WjVmVhWlhW a XhjUV hjUlVmhXjmU X �W,� ZXVm�U�f a � Xj ZX \]W �U� ZUjW� XV �Xl kWlWjUZmYUYYW .��[ � gXV VmVhW� UV [W_� �XlVhmh]�Wl ZU � U�Xj V]�� ZUVW YW ZUV .��[ a U�Uj�UlYX ]l
�e � YW WZZUV � � `XV jW�WjmjW� XV U VmVhW� UV YXlYW ZU W� mVm l � WVh0 � ml�]ZUYU U ZU ��������YW � UhWjmUZ YWZ � mWlhX YW ZU WVhjWZZU lXj� UZ VX�jW ZU �X��U�hU � � m��X �jX �WVX �XlVmVhW WlZU U�]�]ZU� m l YW kUV Ym�]VX X � UhWjmU VX�jW ]l X�� WhX a YW� mYX U ZU ml%]Wl� mU kjU� mhUhXjmU\]W WVhW W� Wj�W Wl WZ � WYmX YXlYW WVh0 ml� WjVX � )jUl$ a � mlk � �UmlW b�ee�f �jmlYUl ]lU
� XlXkjU�(U �]� �X�� ZWhU YW WVhW hW� U a �WlhjUZ Wl ZU UVhjX �(Vm�U �

- Z X�� WhX �X��U�hX Wl ZXV VmVhW� UV WVh]YmUYXV WV ]lU WVhjWZZU YW lW]hjXlWV X ]l Uk]� WjXlWkjX� � `X �U� jU�XlWV �UjU �jWWj \]W ZUV WVhjWZZUV YW lW]hjXlWV \]W VXl ZUV �X�� XlWlhWV
 �hm�U� WlhW ml� mVm� ZWV YW �]WlhWV � mlUjmUV YW jUYmU� m l � VWUl YW lUh]jUZW�U Ym�WjWlhWU ZUV \]W �]WYW X�VWj�UjVW UmVZUYUV �X� X �]ZVUjWV Wl jUYmX a � U ZUV �]UZWV lXV �W� XVjW�WjmYX Wl WZ �U�(h]ZX UlhWjmXj � ^m ZU WVhjWZZU �X��U�hU hmWlW ]lU � UVU � U�Xj \]W ∼ 3�

�

a &VhU WV ]l Uk]� WjX lWkjX a � bV ZX f lXV mlhWjWV \]W VW hjUhU YW ]lU � mWjhU �UlhmYUY YW
� UVU

M
�Xl*lUYU YWlhjX YW ]lU V]� Wj*� mW WV�&jm�U bV] �Xjm�XlhW YW W�WlhXVf �Xl jUYmX

��%�5%� �� �%�;� �� %���$� $� �-�<�
�1 �� ���� � $%�� 4������ 4�6�� ���6"�$� � �� �����"!� #�� ��������� �%�4�  " ��� � ��� � ������ ���4����� $� �"4�  %4��2"2���� # ;�� : ��� �� �� 0 9+;;�: 0
'1� 6"���"� ���$"$��� � �������� %� �2%8 ��� ��2��  �� ��� ����$� 4�� �8 0 �� ,� ��� 9+;;�: ��� 
�� "����$ � ��,�"��� �� 9+;;�: 0 <  �� ���"� � ���6�8� ���6"(� "����$%�� �� 5��!� ��� 5%� 4%�$����������"9�� � � ��  " ��� � �� ����� ���4� 2��; "���"����� 5%���� # ����  �� �� �� ���4�� "���� �����"; " ��$� �3��� � 4������� # � � �"���"��� �%� "64��"!$"�� $� ���� 5���%���"� 9*;; 6 
�; )9 : 0 8�� �4��2 # 1 " �

���2 9+;;
 : 4��� %�� $" �%�"!�  �6�� �� 5���� $� ���7 �� ��"��� �6 ��;��"����� $�  " ��� � ����2%8 �����2�� 0
��6�� ���"���� $� �%6�"� "���� $� ����� 6 ����� ��� �����"!� # ;�� �%��$�� �� �� 0 9+;;': # �%�5%� �5%3��  � 4�� ������4��$� � �� �"4 � $�  " ��� � 0

�c



�������� � 	 �������� � �������� 
� ������� �� � ������ � 
� ���� �� ��

rSch = 2GM/c2
a hU�� m&l ZZU� UYX jUYmX VW ^��#Uj�V�� mZY � �l Uk]� WjX lWkjX a U Ym�WjWl� mU YW]lU WVhjWZZU YW lW]hjXlWV a lX X �jW�W ]lU V]� Wj*�mW V ZmYU �XlhjU ZU �]UZ �XZmVmXlW WZ � UhWjmUZU�jWhUYX � WVhW �W��X �]WYW a Wl �jml� m� mX a hWlWj �XlVW�]Wl� mUV X�VWj�U� ZWV �

- Z YWV�]�jm� mWlhX YW �]WlhWV mlhWlVUV YW jU�XV � Wl VmVhW� UV � mlUjmXV �Wj�UlXV �]WWZ YWhXlUlhW YW ]lU l]W�U &� X �U Wl ZU UVhjX �(Vm�U YW UZhUV WlWjk (UV �]UlYX VW WVhm� ZUW*� m�Wl�mU YWZ �jX �WVX YW U�jW� m l � � W ZU �Xl�WjVm l YW WlWjk (U �XhWl� mUZ kjU� mhUhXjmU WlWlWjk (U �ml&hm�U \]W � U�Xj� WlhW VW YmjmkW U �UZWlhUj WZ kUV a VW X�hmWlW ]lU Z]� mlXVmYUYbYW U�jW� m lf
Lac = ξṀc2

a VmWlYX
Ṁ
ZU hUVU YW U�jW�m l YW � UVU � TUjU ]lU WVhjWZZU YWlW]hjXlWV �Xl � UVU

M = 1.4
�

�
� jUYmX

R = 10
$� a jWV]ZhU

ξ ∼ e �c � g]WkX a ZU U�jW� m lVX�jW ]lU WVhjWZZU �X��U�hU WV ]lU �]WlhW �]� �XYWjXVU YW WlWjk (U a Vm hWlW� XV Wl �]WlhU\]W ZU W*�mWl� mU WlWjk&hm�U Wl ZU l]�ZWXV(lhWVmV \]W UZm� WlhU ]lU WVhjWZZU lXj� UZ WV V ZX
ξ
�e �ee� bgXlkUmj a cdd�f �
gU �]WlhW YW WlWjk (U YW W,� ZXVmXlWV \]W VW X�VWj�Ul Wl jU�XV � WV bmlYmjW�hU� WlhWfZU U�jW� m l � TUjU WVhjWZZUV YW lW]hjXlWV �Xl �U�� XV � Ukl&hm�XV Y&� mZWV VW �U �jX�]WVhX\]W X �]jjW ]l �jX �WVX Vm� mZUj UZ \]W hmWlW Z]kUj Wl �mWjhUV �UjmU� ZWV �UhU�Z(V� m�UV � � UhWjmUZU�jWhUYX U�]�]ZUYX VX�jW ZU V]� Wj*�mW VW Wl� mWlYW jW� WlhmlU� WlhW Wl ]l %UV� hWj� Xl]� ZWUjbW� � �XVV � �U��U� Xjh cd�� f � gXV W� mVXYmXV YW UZhU Z]� mlXVmYUY Wl jU�XV � �Xl�]WjYUl

�]��UV �W�WV �Xl � XY]ZU�mXlWV Xj� mhUZWV UZ YUjVW ZU U�jW�m l VX�jW ZU WVhjWZZU YW lW]hjXlWVWl ]l VmVhW� U � mlUjmX �Xl kjUl W,�Wlhjm� mYUY � ^W �U WVhU� ZW�mYX X�VWj�U�mXlUZ� WlhW b^hWZZUWh UZ �a cd�� a ` Wk]Wj]WZU cdd�f ZU Vmk]mWlhW � ZUVm*�U�m l YW ZXV WVhUYXV YW U�hm� mYUY � �
[U� U Z]� mlXVmYUY � WjVmVhWlhW � ZU Z]� mlXVmYUY Wl jU�XV � WV

LX < 1036 Wjk V−1 a XYmjW�hU� WlhW lX VW YWhW�hU �
-,� ZXVmXlWV hm�X " �

LX ≈ 1036 − 1037 Wjk V−1 a VXl W,� ZXVmXlWV \]W Y]jUl � X �XV Y (UV
� V] VW�UjU� m l �Xml� mYW �Xl WZ � Wj(XYX Xj� mhUZ YWZ VmVhW� U � ^W V]�XlW \]W X �]jjWl
�Wj�U YWZ � X� WlhX YW �UVU� W � Xj WZ � WjmUVhjX �
-,� ZXVmXlWV hm�X "" X W,� ZXVmXlWV kmkUlhWV �

LX > 1037 Wjk V−1 � `X �]WVhjU � XY]ZU!
�mXlWV Xj� mhUZWV �ZUjUV � �]WYW Y]jUj �UVhU �UjmUV VW� UlUV �

- VhU �UjmWYUY YW �X��XjhU� mWlhXV mlYm�U ]lU jWZU�m l �X�� ZW� U WlhjW ZU Wl�XZh]jU �mj!
�]lWVhWZZUj YW ZU �jm� UjmU � WZ X�� WhX �X��U�hX � ^W �U �jX�]WVhX \]W ZU � WlYmWlhW YWZWV� W�hjX Wl �]WlhWV � WjVmVhWlhWV YW jU�XV � a WVh0 jWZU� mXlUYU �Xl ZU YWhW�� m l YWZ VmVhW� UWl jUYmX � `XV jW�Wjm� XV U ]l � XYWZX ]lm*�UYX Wl ZU ^W�� m l � �� a Z]WkX YW mlhjXY]�mj ZXVWZW� WlhXV �0Vm�XV a U �Xlhml]U� m l �

� �� � � ����� �� �������� �� ������ �� ��������

'XlVmYWjW� XV ]l VmVhW� U � mlUjmX �Xj� UYX � Xj ]lU WVhjWZZU �X��U�hU YW � UVU
M

� ]lUWVhjWZZU �X��U�WjU \]W W,� Wjm� WlhU �&jYmYUV YW � UVU U hjU�&V YW V] � mWlhX � ']UlYX ZU
��



��
������
γ
�� � ������ � ��� �������� � � 	 ��������

WVhjWZZU �X��U�hU hmWlW ]l � X� m� mWlhX �]� ZWlhX jWV� W�hX UZ � mWlhX b
vrel � cs

YXlYW
vrelWV ZU �WZX � mYUY jWZUhm�U WlhjW WZ � mWlhX � ZU WVhjWZZU �X��U�hU �

cs
WV ZU �WZX �mYUY YWZ VXlmYXWl WZ � mWlhXf a ZU U�jW� m l VW Y0 � WYmUlhW ZU �U (YU Zm�jW YW �Ujh (�]ZUV YWZ � WYmX �U�mU ZUWVhjWZZU � VW �U� ZU YW U�jW�m l WV�&jm�U � TUjU WVhU� ZW�Wj WZ jUYmX YW U�jW� m l

rac
VW mk]UZUlZU WlWjk (U �ml&hm�U � �XhWl� mUZ YW ]lU �Ujh (�]ZU a YW � XYX \]W

rac = 2GM/v2
rel

� � hmZm�UlYXWVhW �UZXj �UjU YW*lmj ]lU VW�� m l W*�U� YW �U�h]jU a Vm WZ � WYmX hmWlW YWlVmYUY
ρw

a ZU hUVUYW U�jW�m l YW � UVU jWV]ZhU b[XlYm � .X� ZW a cd�� f �

Ṁac = πr2
acvrelρw =

4π(GM)2ρw

v3
rel

.
b� �cf

- VhU W,�jWVm l �]WYW ]hmZm�UjVW �UjU X�hWlWj WVhm� U� mXlWV U �jm� Wj XjYWl a �]WV lXj!
� UZ� WlhW a WZ � X� m� mWlhX Xj� mhUZ W� mhU \]W ZU � UVU \]W WV�U�U YW ZU VW�]lYUjmU �UmkUYmjW�hU� WlhW VX�jW ZU WVhjWZZU �X��U�hU � ^m WZ jUYmX YW ZU �jm� UjmU WV UZjWYWYXj YWZ �

%YW ZU VW�UjU�m l YW ZU � mlUjmU
a
a ZU �XjjmWlhW YW kUV Wl �W� YW �UWj YmjW�hU� WlhW VX�jW ZUV]� Wj*�mW YW ZU WVhjWZZU VW �]W�W Wl Xj� mhU UZjWYWYXj YW WVhU �Xj� UlYX ]l YmV�X YW kUV

�UZmWlhW \]W hmWlYW U �Xml�mY mj �Xl WZ � ZUlX Xj� mhUZ �
gU � mV�XVmYUY YWZ kUV a WlhWlYmYU �X� X �jm��m l mlhWjlU \]W �Xl� mWjhW WZ � X� m� mWlhXXjYWlUYX YW ZUV �Ujh (�]ZUV Wl � X� m� mWlhX h&j� m�X a �U�W \]W ZUV �Ujh(�]ZUV � mWjYUl WlWjk (UUZ Xj� mhUj � ZWlhU� WlhW �UmkUl Wl hjU�W�hXjmU WV� mjUZ �U�mU ZU WVhjWZZU � - Z � W�UlmV� X �(Vm�XjWV�XlVU� ZW YW ZU � mV�XVmYUY Wl YmV�XV YW U�jW� m l WV �X�jW� WlhW WlhWlYmYX U/l � ^] W�W�hXVml W��UjkX WV �ZUjX � �UZWlhUj WZ kUV U � WYmYU \]W YWV�mWlYW �UVhU \]W *lUZ� WlhW ��X �U

�Xl ZU V]� Wj*� mW YW ZU WVhjWZZU �
�lU �jm� WjU U�jX, m� U�m l �UjU WZ � ZUlhWX YWZ YmV�X YW U�jW�m l WV V]�XlWj \]W VWhjUhU YW ]l YmV�X YWZkUYX a X�hm�U� WlhW kj]WVX \]W jUY (U �X� X �]Wj�X lWkjX � TUjU \]WYm��U U�jX, m� U� m l VWU �0 ZmYU YW� W YUjVW WZ W\]mZm�jmX � mYjXVh0hm�X Wl ZU YmjW��m l b

z
f

� Wj� WlYm�]ZUj UZ Y mV�X a
∂p

∂z
= −GMρ sin θ

r2
=⇒ p

h
≈ −GMρh

r3
,

b� ��f
YXlYW

p
WV ZU �jWVm l a

h
ZU � mhUY YWZ WV� WVXj YWZ YmV�X �

ρ
V] YWlVmYUY �

i]l\]W WZ kUV WVh& �U�WlYX ZWlhU� WlhW �U� mU ZU WVhjWZZU a VW �]W�W Wl �]WlU U�jX, m� U!
� m l Vmk]mWlYX  j� mhUV �mj�]ZUjWV � W� ZWjmUlUV a � Xj ZX \]W

vφ
2 ∼ GM/r

� � WW�� ZU�UlYX U\] (WZ �UZXj YW
GM/r

\]W VW X�hmWlW YW ZU W,�jWVm l b� ��f � WZ �UZXj YW ZU �WZX �mYUY ZX �UZ YWZVXlmYX
cs ≈

√

p/ρ
a jWV]ZhU

h

r
≈ cs
vφ
.

b� ��f
- VhU / Zhm� U �UlhmYUY WV ZU ml�WjVU YWZ l/� WjX YW � U�� �UjU ZU �WZX �mYUY YW jXhU� m ljWZUhm�U U ZU �WZX � mYUY ZX �UZ YWZ VXlmYX Wl WZ YmV�X � -lhXl�WV a ZU �XlYm�m l �UjU ZU �UZmYW�YW ZU U�jX, m� U�m l YW YmV�X YWZkUYX WV \]W ZU �WZX �mYUY YW jXhU� m l YWZ YmV�X VWU �]��X
� U�Xj \]W ZU �WZX �mYUY YWZ VXlmYX � - VhX W\]m�UZW U YW�mj \]W WZ kjUYmWlhW YW �jWVm l �Wjhm�UZlX YW� W ml%Uj WZ YmV�X � - VhW �W��X ZZW�U hU�� m&l U \]W ZUV hW�� WjUh]jUV YWZ YmV�X YW� Wl

��
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VWj �U� UV
(kT � GMmp/r)

YW � XYX \]W WZ �UZXj kWlWjUYX �Xj ZXV WV�]Wj�XV � mV�XVXV VWUjUYmUYX W*�mWlhW� WlhW a � lX U�]�]ZUYX �Xj WZ Y mV�X b�Wj ^�U� mjX � +W]$XZV$� cd��f � gUVXZ]�m l WVhU�mXlUjmU U WVhW �jX� ZW� U �]W �UZZUYU � Xj ^�U$]jU � ^]l�UW� bcd��f a \]mWlWVmlhjXY]� WjXl ZU ZZU� UYU ��jWV�jm� �m l
α
� a �X��jWlYmWlYX Wl ]l VXZX �Uj0� WhjX hXYU ZU

�(Vm�U VX�jW ZXV �jX �WVXV h]j�]ZWlhXV � � mV�XVXV \]W X �]jjWl Wl WZ YmV�X � -,� Zm� mhU� WlhW a VWUYX�hU
ν = αcsh, con α ≤ 1,

b� �� f
VmWlYX

ν
WZ �XW*� mWlhW YW � mV�XVmYUY � mlW�0hm�U� � - VhW � XYWZX �UjU ]l YmV�X YW U�jW� m l WV

�Xl�W�h]UZ� WlhW ZU VXZ]�m l �0V Vm�� ZW U ZUV W�]U�mXlWV � mYjXYml0� m�UV �UjU ZU U�jW� m lWl ]l YmV�X YWZkUYX � TXj V]�]WVhX a � XYWZXV �0V �X�� ZW� XV VXl � XVm� ZWV �

������ � ��� ;�� '$ !0 '> � �*0 � 0! #& *��$0 0� �$)> '& ' 1!#'�0 8 / 1'0> ' !�$)> '& ' *'(1)*0 +� !�&�
1(' 8 5@4 5. 8 )( -#' &0� !'6'!�> 0� $0> 0 *��$0 '� 2&*)! ? ;& ()� )"�$��)� 8 '( �)!2> ' !0 '� () 6!'$#'&$�) /
'& '( '	 ' *' 0!*'&)*)� '( �#	 0  �'&' #&�*)*'� )!"� !)!�)� ? �' �&*�$)& ()� 6!'$#'&$�)� $0!!'�� 0&*�'& '�
) ()�  '>� '!) #!)� *'

R0
/

Rout
? ; � ' '�� '$ !0 '� ��> �()! )( *' #& $#'!� 0 &'1!0 �'&�)&$3)*0� ?

gU YmVhjm�]� m l YW hW�� WjUh]jUV Wl ]l YmV�X WVh0lYUj WV mlYW� WlYmWlhW YW ZU � mV�XVmYUY
� jWV]ZhU

T (r) ∝ r−3/4 a �Xl ]l �UZXj �0, m� X
Teff ∼ 107 � �UjU ]l Uk]� WjX lWkjX YW

� UVU WVhWZUj � gU U�UjmWl� mU YWZ WV� W�hjX W� mhmYX �]WYW �WjVW Wl ZU ) mk]jU � �c � ^W X�hmWlWmlhWkjUlYX ZU W� mVm l YW �]Wj� X lWkjX
Iν = Bν [T (r)]

YW UlmZZXV Vmh]UYXV WlhjW ZXV jUYmXmlhWjlX � W,hWjlX YWZ YmV�X b
R0

�
Rout

a jWV� W�hm�U� WlhWf � - Z %]� X Wl �]l�m l YW ZU �jW�]Wl� mU
	:� � �� ��$�

α
� %�� ����"$�$ � �$"� # 4��� �$"�$� �� �� $"����"!� 4��4 ��$"�%��� �� $" �� # �  !�� � �36"�� $�7�"$� 4��� $" �� 2��� ���"��� ���� $��2�$� 0 1� 4��4 "�$�$� $�� $" �� �"���� %�� $�4��$���"�$(6"� ��� �� ;���� $�
α

�$�4��$� 0 � "� ��6��2� # �� ;���� $� � �� 4��3����� 5%�  � "�7��� 4��� ��4�"��� �� �6 ��;��"��� � %� ��$�� $� � �2�"�%$ � ���� 5%� �� 5%�  � � �"� � � 4���"� $�  "�%���"��� �%� (�"�� 
9
 "�2 # 7�"�2�� � 1"; "� # +;;': 0

��
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ν
�UjU ]l YmV�X �Xl ml� ZmlU� m l

i
U ]lU YmVhUl�mU

D
a jWV]ZhU

Sν =
2π cos i

D2

∫ Rout

R0

Iνrdr =







∝ ν2, ν � kT (Rout)/h
∝ ν1/3, kT (Rout)/h� ν � kT (R0)/h�U (YU W,� XlWl�mUZ

, ν � kT (R0)/h b� ��f
-,�jWVmXlWV �UjU ZUV �UlhmYUYWV �(Vm�UV YWZ YmV�X Wl �]l� m l YW

r
� �UjU

M
�
Ṁ

*� XV VW
�UZZUl a �Xj W� �a Wl ^�U� mjX � +W]$XZV$� bcd��f � ']UZmhUhm�U� WlhW a WZ Y mV�X WVh0lYUj �]WYWYm� mY mjVW Wl hjWV jWkmXlWV a YW� WlYmWlYX YW

r
� - VhUV jWkmXlWV VXl �

c � �lU jWkm l W,hWjmXj a �UjU
r
kjUlYWV a Wl ZU �]UZ YX� mlU ZU �jWVm l YW jUYmU�m l � ZUX�U� mYUY WV �XlhjXZUYU �Xj U�VXj�mXlWV � Zm�jW! Zm�jW� �

� � �lU jWkm l mlhWj� WYmU a �UjU
r
� W\]W�XV a YXlYW YX� mlU ZU �jWVm l YW kUV � ZU X�U�mYUYVW YW� W �jml� m�UZ� WlhW U ZU YmV� WjVm l WZW�hj lm�U �

� � �lU jWkm l mlhWjlU a �UjU
r

�]� � W\]W�XV a Wl ZU \]W YX� mlU ZU �jWVm l YW jUYmU�m l
� WZ 	 ��������� �Xlhml/U �jWYX� mlUlYX Wl ZU X�U�mYUY �

gU hjUlVm� m l WlhjW ZUV jWkmXlWV � WYmU W mlhWjlU X �]jjW �]UlYX ZU �jWVm l YWZ kUV WV YWZXjYWl YW ZU YW jUYmU� m l � - Z � XjYW mlhWjlX YWZ YmV�X VW YWhWj� mlU VWk/l WZ hm� X YW WVhjWZZU
�X��U�hU � �UjU ]l Uk]� WjX lWkjX YW ^��#Uj�V�� mZY a �Xj �XlYm� mXlWV YW WVhU� mZmYUY YW ZUV
 j� mhUV � Xj W�W�hXV jWZUhm� mVhUV WV

R0 = 6GMbh/c
2 � TUjU ]lU WlUlU � ZUl�U b#Yf X ]lUWVhjWZZU YW lW]hjXlWV b`^f a WZ Y mV�X UZ�Ul�U ZU V]� Wj*� mW YW ZU WVhjWZZU � WV

R0 = Rwd/NS

�^ml W��UjkX a WZ �U�� X �0klWhm�X YW ZU WVhjWZZU �]WYW VWj ]l �U�hXj YWhWj� mlUlhW YW ZUWVhj]�h]jU YWZ YmV�X Wl V]V jWkmXlWV mlhWjlUV b�Wj 'U�(h]ZX cef �
- Z WVh]YmX YW �]WlhWV YW jU�XV � �U �jX� mVhX UZk]lUV WVhm� U� mXlWV W��(jm�UV YWZ �U!j0� WhjX

α
� �l �UZXj �XlVmYWjUYX U�W�hU� ZW WV

α ∼ 0.1
a �Xl WZ �]UZ VW �]WYW W,� Zm�Uj WZWV� W�hjX YW jU�XV � � ZUlYXV Wl X�� WhXV �X��U�hXV �Xl U�jW� m l � ^ml W��UjkX a � Xj V( VXZXWVhW � XYWZX V] �jW �jX� ZW� UV UZ mlhWlhUj � XYWZUj ZU W� mVm l U WlWjk (UV ZmkWjU� WlhW � U�XjWVbjU�XV � Y]jXVf a YWhW�hUYU Wl UZk]lXV X�� WhXV a �X� X � Xj W� W�� ZX '�k � ! c b) mk]jU � ��f � %�!VWj�U�mXlWV YW WVhU �]WlhW � Xhm�UjXl ZU �jX�]WVhU YW ]lU jWkm l mlhWjlU �Xl �UjU�hWj(Vhm�UVYm�WjWlhWV U ZUV YWZ Y mV�X WVh0lYUj �

� ����� R� ����J�
']UlYX ZU hUVU YW U�jW� m l WV �X��UjU� ZW �Xl WZ �UZXj �j(hm�X

Ṁcrit = LEdd/(ηef c
2)
aYXlYW

LEdd
WV ZU Z]� mlXVmYUY YW -YYmlkhXl YWZ X�� WhX �X��U�hX �

ηef < 1
ZU W*� mWl� mUWl ZU �Xl�WjVm l YW � UVU Wl jUYmU� m l a ZU VXZ]� m l YW YmV�X kWX� Whjm�U� WlhW YWZkUYX lX

�]WYW W,hWlYWjVW �UVhU WZ X�� WhX �X��U�hX � iZ �XlhjUjmX a Wl V]V �jX, m� mYUYWV ZU �jWVm l YWjUYmU�m l �U�W �jW�Wj V] WV� WVXj
h(r)

�UVhU �U�WjZX �X��UjU� ZW �Xl
r
� � XYWZXV � XVhWjmXjWV

�Ul ml�Xj� XjUYX ���
 �� ]lU jWkm l mlhWjlU hm�X ������ YXlYW VW �jXY]�Wl ZXV jU�XV � Y]jXV a
��
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��� �� ��� �� ����� �� ��5 �� � ���
� ��� ������� 
� �� ������
z



� �� �� � �� ����� �� �� �� 	
	�� ���� � ������	��

�� �������� ��� 
� �������� 
� ��� � �������
� �� ���
��� ��� 
� � ����� � ���� � 
� ���
��
����

p + p → ξπ0π0 + ξπ−π− + ξπ+π+ � 
��
� ξ �� �� ���������
����� ������ ��� �
�
 
 = �

����� ����� 
� ��� � ����� ������� ����� � �� ���
��� ��� 
� �����

γ

 �� ��� ������ �� 
� ����

��� ���� ���� �� ���������� 
� ����� ����� ��� ��� �� ����'�
� � �� � ������� 
�� ���� ��� �
Q ��'���� � ��������� �� �"%B? � 
 �� �� ���� �
�
 ��� 
�� ��
� 
�� ��	 � ����
����

Jp

� � ��� �
π0 → 2γ

�� �� 
����� ����� ��� ������ ���
�
 ������� ��� �� �� ������ � ���� �� 
�� � ��� � ��
�����

qγ(Eγ) = 2

∫ ∞

Emin
π

qπ0(Eπ)
√

E2
π −m2

πc
4
dEπ,

�
 
O�

��
�

Emin
π (Eγ) = Eγ +

m2
πc

4

4Eγ
. �
 
%�

?@
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γ
�
 �������� ���
�

�� ���� 
� ���
������ � � �� ���� �
�
 
� � ����� ���

qπ0(Eπ) =

∫ Emax
p

Eth
p (E

π0 )

Jp(Ep)
dσpp(Eπ0 , Ep)

dEπ0

dEp,
�
 
"��


��
�
Eth

p

�� �� ����� �� ������ ���� ��� � ����� �� ����������� �������
� �� � ��� ������ ���
����� ��

Eπ0

6 � �� �������� 
�������� ����5 �� ������� ���P� �� �5������� ��� �� ������� ����
�� ���� ��� �9��' 
���������� ���� �� �
���� 
 = � ���� ����� � 
� �� ����5 �� �� ���

δ
���������

��� �!������� � ������ �"%%B � ����� ���
� �� ������� �� �� � ������ 
� ��� ����� 

�� �������
�
 ��� �� �9�� �������� � �� ���
�
 
� ������ � ����� �� � ������ �� ��
�� 
� ���

�����
γ
�������

Iγ(Eγ) =

∫

n(r)qγ(Eγ)dV,
�
 
""�


��
�
V
�� �� ����� �� 
� �������� ��� �

n(r)
�� 
����
�
 
� ��� �������� � ����� ��� ��� ���� 
> ����� ����

L(Eγ) = 4πE2
γIγ(Eγ)

�� �� ��� �����
�
 �������� ���� 
 �� 
�� ��
����� �5�����;
� ��� 
� �� ������� �9��'

pp
��� �� ���� ������ ����������� 
�� ������� 
�� ������ ��� �
����

����� � ��� �� �� ����� 
� ��� ������� ������� ���9��
� �� �� ������ � ����V� �∼ 0.17/Γ
�

���� ���� 
� �� 
����� ��� 
�� ������ � 	����9���
� ��� �� ���� �
θ ≈ θobs
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����� 
� ������������� �� ��� ������� ��� ���� ����� !� �� ����
� �� �����
� �� � �
���
!�
������ � �� �����
��� �� �� �������� ��������� � �� ��� ���� 
� ��������� ��� ���
� �������
� ��� ������� ���� � 
� ��� ���� ����� �� � ��
�� ��
������ ���� 
� ���� ��� �� � ������� �

� �� ����� 


W��m�
qπ

Y��ZYk] q] l][raj]j jY �ao[Yk �oZ �rovo _ �oZ m[aj]j jY Y[YZb�] _ �[bmqo knqajo z raYv�o } �
sYlYk kY jY&[Y

qπ

a[ loZ�oZ][jo Yq �Zojmlro lo[ q] jY[kaj]j
n

jY �Zoro[Yk p q][lo }
~y[ q] a[rYbZ]q _ jYp Y ZYYv�q]�]ZkY �oZ q] Y[YZb�] v �[av ] jY qok �Zoro[Yk _ Y[ Yq l]ko jY kYZ ukr] v ]zoZ

�mY
Eth

p

}
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γ

��� ��' ��� ��� �������
γ
��� ����
�� �� ��� ������ ����� ������ ��� ���� ������ ������� ��;

��� � ���
�� ��� ������ �
�� � �� ���� �� � ��� ����� � 
� ��
��� ��� � � ������ � ��������� ��
�� ������ � ��� � � �� �� �������� �� �������
�� 
 7�
� ��� 
� ��� � ������� �� ������� 
�
���
��� ��� ��������� 
� �����

γ �� ��� �����! ���� ������� ���� � 
 ��� ������ 7������ �������
� ���������� � ��
��� ��� 
� ��������� � �� �� ����� � ��� ���� �� ��� �������� ����� ��� �
�����������
� �� � ������� � 
� ������ ��� ��� �� � ��� � ������ �������� ��� ���� � ���� ���
�9��' ��� ���� 
 = � ��� ���� ��� �� ��� ���
� 
����� ���
� � �� ��� ��������������� 
�� � �
��

��
� �� �������� ��� ������� 
 = � ����� 
�9��� �� ������
�
�
 ������

τ

� �� � ����� 
��� �;

��� ��� �������� ��� ������� 
� � �
� ��� ��
I0(Eγ)

�� �� �������
�
 ���� ��� �� ���
� � �����

� ��������� �� � �
�� ��� ������
�
�
 ������

τ
�� �������
�
 ��� ���������� ��

I(Eγ) = I0(Eγ)e
−τ . �B 
"�

=� � ������� � ������ 
� �����
γ
� 
��
� �� ���
��� ��� 
� ��� ������� ��� ����� ����� ���
�

�� ������ 
����� 
�� ����� �� ��� � ���� �� ������ � � ������ � �� 
���� ����� ��
������ �������
���P� ��� � � ����� ���� �� ������ ��� 
� ������� � �� ����������� � ��������'����� 
� �����
� ���� � 
�� ��� ����

γ + γ → e+e− �Q���
 � ��!� 
�� � "%B�� 
 ��� ����� �� ��� 
� ��
������
�
�
 ������ ���� ������� ��� ����� ��

Eγ
�� ���
�� � ��� 
������ ��

r

� ��� ��������

���� ���� � ��
������ ����� 
����
�

nph

���
� ��������� ��������
�

τ(r, Eγ) =

∫ ∞

Emin(Eγ)

∫ ∞

r

nph(E?, r
′)σγγ(E?, Eγ)dr

′ dE?,
�B 
��


��
�
E?

�� �� ����� �� 
� ��� ������� ��������� ��� ������ ���� ������ �� ��� ����� 
� ������
����� �

Emin = (mec
2)2/Eγ

�� �� ����� �� ������ ���� �� ����� ��� 
� ����� 

σγγ(E?, Eγ)

��
�� ���� ��� �9��' ����� ���� �� �������� ��� �����;����� � ���� ��5 �� � �� 
� ����� 
�� �����

� ������ � � ����

σγγ ∼ σT/2

��
�

σT
�� �� ���� ��� �9��' 
� �!�� ��� 
 ���� �������

���
Eγ ∼ ��	 ���� ��5 �� � � ����� ���� ���� ���� ����

E? ∼ �	∼ kT?


 =� �� > ����� B 
" ��
������� �� ��� ��9� �� ��� ���� � �� ������
�
�
 ������

τ(r, Eγ)
� �����
����
� ��� ��������


� ��� � ��� ������ �������� ����� � ���� � ���
T? = 4 × 104 � �

R? = 15
:

�




?
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��� �5������� �������� ���� �B 
�� ������� �� ���� � �5� ��� ��� �� 
�� ��
��� �� ��� ��
���� ����� 
�� ������ � � 
� �� ����������� �� ��� � ��� � !�� �����
���
� � �� �	 
 � ���������
�"%%
� � 
���� ����B�� 
 = � ��� �V� 9���� 
� �� �������� �� ������ ��� ������� ����
� ��
������� �� ���� �
�
 ���� ������� �� ���
�� � 
������ �� 
� ������� ��
��� ��������� 
� ��
�������� 
 ��� �������� ������� ��
������ �� 
�� �� �� �� �
��� 
 7��� � �
�� ��� ����� �����
��� ������ ���
� ����� ���� �� ������ ���
�
 
� �� ������ ��� � ��� � ���� !� 
� ������� � ��
�� �����

γ

 �� � �
���� ��� ��
�� �
� ��� �� ������ ��� ���
� ������� �� ���� �� ��� ����� ��

������ O �� �������� ��� ���� ��� �� �� ����� ���� � �� ���
��� �� �������� ��� ���	 �
�� 


� C� C ��HK���H F �F KG�L J ����G �K�H

=� �������� �� ����� 
� ��	 ���� ��������� ���������� � �5������������� � ��� 
�� ��
�	 ��� �� 
� ������� ���9�� �
�� 
� �����

γ
� 
��
� � ����� �� �������� ��� 
� ���� ������ !����

��� ����� ����� ��� � ��� ��� ����� ��
������� ���
�� ������ ��� ���!� �9����� �� � ������;
V�
�� 
� ��� ���
������� �
����� ���� �� ������ ��� �τ > 1

� � 
��
� ����� � �� ����� ��� 
�
����� �������� ; � ������� ��� ������� � �� ���� �����

γ

 ��� ���
������� ���
�� ��� ���� �����

��] �mY q] kYllan[ Y&l]� �mYj] �]Z]vYrZa�]j] �oZ
β =

(

1 − 2(mec2)2

EγE?(1−cos θ)

)1/2 _ jo[jY
θ

Yk Yq �[bmqo jY
a[rYZ]llan[ jY qok �oro[Yk }

?B
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����� 
 �� > �����
B 
� ������� �� ������ � ��� �� ���� ���� ��9��
� 
 �� ���������� 
�� � �
�� ������� �����
�� �����
� � ��� �� ������ ��� 
� ������� ��� ����� ����� � ������ �� ���� ��� � ����� ����
���� ��	 � 
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� ��� ��� �����
��
������� ��� ���
���� ������� ����� 
�� �����

γ
��� � ���� ��� �� 
� ��� ��� ����� ���

�������� �� �����
γ

 �� �����
� ���� � � �� 
����
�� �� �� ������ 
� �� ����� ����� ��
��;

���� 
� ��� ���� ������ �5��
� �� ����� � �������������� 
� ��� � �
�
�� ��;��
������� � �� ��
���� �
�
 � �� ����������� 
� ��� �������

γ
��� � �� 
���	 � 
� " 
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���� ���� ����
��
�� �� �� �����5�� 
� ������������� 
� ����� ���� ���� ��� �� ���������
�� ��� ����
�� �� �� ������� � 
�� 
 �� ������ ���
� ��� �� ����
� ��	 � ��� ���
�� ����� �������
��� �� 
�� �� ������� ������� 
� �����

γ
� ��� � ��� �	 ��� �� �� ������� � ������� 
� �����

8 
��
� �� ��������� �� ��� 
���� ���� ���
� ��� �������
γ ���� ���� ��� "� 
" 
" � 
��
� ��

�� ���� �� ����5 �� �� ��� ��������� ������
� ��� :���� � Q ������ � "%? "� 

= � 
��������� 
� �����
�� �� ������ � ��� ����� �� �� ���� ���� � ���� ���� �� �����;


�� ����� 
� �� ������ ��� �� ��� �� �� � ����������� 
� ��� �������� � ������ ���� ��� � 
�
�����
�� ���� � � � ����� �� ������� �� 
� ������ � ��� ����� ��� 
 � ����� ��� �� ��� ���;

	yq �]Z�v YrZo ZYqYs][rY �]Z] �mY kY jYk]ZZoqqY[ l]kl]j]k Y[ l]v�ok v]b[uralok jY� Y[jY jYq �Zojmlro
Y[rZY q] Y[YZb�] r��al] jY q]k �]Zr�lm q]k a[soqmlZ]j]k z q] a[rY[kaj]j jYq l]v�o v]b[uralo e�[bmYqos c
X][^os _ fggg z kmk ZY�YZY[la]ki }

?�
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 ��� �����
γ

��5�� � ��� � �� �� ���� � � ��� ���� ��������� � � �� ������� 
����� 
� ����� ��� 

= � 
��������� 
� �����
�� �������� ��� ����� �� �� ��� 
� ������� �� �� ����� ��� ���P�

�� �� ����������� � ������
� ����� �� 
�������� ������� � ����������
� 
��
� ��	 ���� ���������
��� � ���	 ���� ������ ��� �������� � ��������� 
� �����

γ �Q :� �� � 	 ��� ��� 
�� ��������

�� ��
�� 
�� ������ �� � ��'���� � !���� ��� ������� 
� � ������ 
� �� � ��� ���������� ��
�� ����� 
� �P� ���� ���������� ������� � �� � �� �P����� 
� ����5 ��� 
 ��� ����� ���� � 
�
��� ���� ����� �� ��������P�� ��� ��� ������� 
� ��� ���
�� ���� ���� ��� ������	 � � 
� � ����;
��
��� �� �� ���
� �����
�� �� ��
� �� �������� ��	 
 �!������� � ���?� 
 �� ��� ������� ��� 
�
��������� ����� 
� �����

γ

� ����� �����
�� ���������� ��� ����� ��� 
� �� �� ����� 
�����

�5������������ 

=� ����� �� �� � ��� �����
� ���
� 
������ ���� � �� ���� ���� �� �� �� �� ����� �� ���� �����

����� ��
�� ��� ���� ������ ���������
�� � ��� �������� ����� �� �� ��� ��� ����� 
� ����� �� 


 ��
� �� ����� 
� � ���� ������� �� ����� ������� �5��������� ���� ��� 
������������� 
�
������ ���
�
 
� ��������� ���������� � ������� �� �� � ����� ���� ���� 
� ����� ��

dE
� � ���

����
���
�� ���������� ��
dr̄


 = ��� � ������ �� ���� ��� � � ��������� ���� �
�� �� � ��� �� ���
�� ������ ���� �� � ���� �����
�
 
� ���� ��9��� ����� � ���� ��� ���� ������� ����5 �� �� �����
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�� �� 8 "9:9 � ���;< = >� ": ��?@ �? �� A =�7���7�� ���<A� �� �� �B�=�� ��7<�;�� �= 7��< 
C� ���� �� "� �C7�! 7� D ��� � 7 6 "9EF@ 8 �B �� <?<�= �= 7�� ? G ?� A = A� �� ��?��
A � <�=' ? �� � ? �H ? "9F� AB�=� �B� ����A���� � 7 ��  ;?�7��� 7< I<=?��<= �� <!=�� < ��
�� 8 "9F�@ 8 �� �7��� �� B= ?<?��� � ;<=�7< � 7� �� � 7 B=  ;J �� A ���A� � B=� �?�7����
�� �<� �?� �A�7�� �� > A = ��=��? �� �� <?<�= �=A!�? KB� 7�����= �� �7�?�=A<� �� � ���7<��
A<7AB=�?����7 �&B�A! <=! D � 7���� = 6 "9F "@ 8 �� B;<A� ��=�7 �� �� A�J � �� �77 7 �� �� �B�=��
�	�L� �� 7�� ? !��� � ��C "�:�� " �& �7� ?�= �� �� 8 "9EE@ 6 ��? ��7�� <��=�<MA��� A =
�IC N��O "�� "�� �& �7�� �= �� �� 8 "999 6 P=<� �= �� �� 8 "99E@ 8

	;?�7��A< =�? �= 7��< �?��;��A<�7 = B=� �  �B��A<�= � �7<��<A� ��<�  Q *+$%R@ �� ��
�B�=�� 6 A =

P ' 26.5
� ��? ���� � 7 D C7�! 7�6 "9F�@ 6 KB� ?� <=��7�7��� A �  �� � �7� � 

 7;<��� ��� ?<?��� � 8 �� �� <?<�= �= �� <= �7�77 J  ���;< = ��7�� A = �?�� � �7� � ���7���? 6 ��
�� 8 "99O@ 8 I � �?� �A�7 �= 7��< �? = L� 7� <A 6 � ?B !7�� �� � ��7<'�A<�= �<=��� ���A�7�B�� ��
�� 8 "99E@ <=�<A� KB� ?� �7��� �� �� <?<�= ?<=A7 �7�= �� ���A�7 =�? 7����<� <?��? 8 ��7���? �"9FE@
�=A =�7� KB� �� ��S <�  �� �� <=��=?<��� �= 7��< ��7�� �= B=� �?A��� ����  7�� �� B= ? ∼ 4�H ? 8 C7�! 7� �� �� 8 �"9F9@ �7 �B?<�7 = KB� �?� �B��� ��;�7?� � B=� ��7<�A<�= AB�?<LA �A�<A�
�= ��? �7 � <�����? �� �� �=� ��B7� �?����7 �� �� �?�7���� �� 6  �= � 7� � ����7=��<�� 6 � ��
�7�A�?<�= �� B= J �� ���7 ���;< = T�7� � 6 "99�@ 8

U �7�� ? ��� �  ����� �� �� �� <?<�= �V W 6 T �7� � D ��7���? �"99:@ !�= A�7�A��7<'�� 
�� �=� ��B7� A<7AB=�?����7 �� �� �?�7���� �� 6 � <= ��7<� KB� �� �7;<�� ��� ?<?��� � �<�=� B=�

XYZ[\]^_`a b[ c dea`a `b [^ ]fgh^ `b ]gb]\c \b_ea i j ]a_k\`bg^_`a ^eb_f^]\l_ Zag b][\Zkbk m nag o]acZ^pqbg^r b][\Zk^`^ i [ak ^feagbk ^][^g^_ sfb _a kb gbtbgb_ ^ f_^ bkegb[[^ _agc ^[ i k\_a sfb Zgau^u[bc b_eb kbb][\Zk^ [^ bc \k\l_ vw `b[ c ^ebg\^[ sfb bkex ]^jb_`a y^]\^ b[ auz bea ]acZ^]ea m
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�SA�=�7<A<��� ������� 8 � 7   �<� ? ! <?�"7<A ? 6 �? �� #�?� �= 7��< �
φ
@ �� KB� ?� B�<�<$� %�7�

��?A7<; <7 ��   � < <�=�  7;<��� 6 ?<�=� 
φ = (t − To)/P

��   � KB�
0 ≤ φ < 1

6 ?<�=� 
t�� �<� % &

To

B=    �=� �� 7�#�7�=A<�' ��� KB� �� %�?�J � %  7 �� % �7<�?�7  AB77� �= #�?�
φ = 0.23

8 �� � <?<"= �= 7��< ?� <=��=?<MA� �=
φ ∼ 0.45 − 0.9

8
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()*+,- . /01 2 3435 67 839:; <= >?@A 96 BC D EFG HIH 4 ;8 2 355: 6J 3K L <MIIN A L B;5 3OJ;865 67P3J:@37
K3 5:Q :K:JO9 Q ;8P;KRS:T3 T;7 6K 2U T;7 486T65:R7 CCNHH V TOW; Q 343 <5:QOK39;A QO65J837 67 6K
86TO398; 4 6XO6Y; 96K 4376K 3A L

T�??< �� �� 8 �Z[[ \@ %7�?�=��7 =  ;?�7��A< =�? >�] � �� �^ � �� \ �[� � =�� ?� 7�?B��L
�� B=� �?�7BA�B7� �� =!��� 6 KB� %B��� <=��7%7���7?� A   B= J �� A �< �� & �?��;��A� �
�^ � ��\ �[� A   B= T_ 8 `B���?  ;?�7��A< =�? �= 7��< �B�<�<$�=� TIV��` @ % �7 <L
�<�7 = ��M=<7 ��� a? B= A =�7�J �� 6 ��   � KB� �� �?�7BA�B7� ?� �S�<�=�� B=�? ∼ 200 bU
� � ? ��� ? �� �� #B�=�� �T�??< �� �� 8 Z[[O@ 8 �� # 7 � �= ^ �� � ?  �%�? �c <!B7� E 8\@ %7 ���
�� <��=A<� �= #�� 7 �� B=� %7�A�?<"= 7a% <�� � <=�?��;<�<��� �<7�AA< =��@ �� ����? J ��? 6 <=�BL
A<�=� ��7<�;<�<��� �= B=� �?A��� ���  7��= ��� � d� 8 �� ��� A<���  �A7 ?A"% <A� <= #�7<�� �?
β ∼ 0.6

8
��7���? �� �� 8 �\99E@ �=��<$�7 = ��� ? �� VGeI �ZL\[ f�> @ 6 !����=� �A�<� <��� 7�AB77�=L

�� AB& % �7d � A <=A<�� A = ��  7;<��� 8 g �7�?  ;?�7��A< =�? �= 7�& ? G �� �^ � �� \ �[� <=L
A�B&�= ��� ? �� ��  �& 7d� �� � ? <=�7B �=� ? �A�<� ? �= � ? h ��<  ? �[ �H ? i Vg^Ue 6
U ^jU 6 j!�=�7� 6 ] �%%  L^UG 6 GTTL` �k � = 6 �`eICVU� & ^k <#�lGVe ��J 8 e�& � 7 �� �� 8
\99� 6 ���!& �� � 8 \99E 6 C7�<=�7 D V�B Z[[ \ 6 ^ <� �< �� �� 8 Z[[� 6 ��7���? �� �� 8 Z[[E 6 j!�7=L
&�f �� �� �� 8 Z[[� 6 I?% ?<� �� �� 8 Z[[E@ 8 U ?B <�=� B=� �<?��=A<� �� ∼ Z f% A �c7�<� D
mJ ��� <=! \99 \ 6 &  a? ��7�� ^����� �� �� 8 \99F@ 6 �� �B <= ?<��� �= �� ;�=�� [ 8� L \[ f�>
?� �?�< � KB� ��7d� �=

LX ∼ 3.4 × 1033 L
1.6 × 1034 �7! ?−1 8 I?� ? ��� 7�? ? = ;�J  ? �=

A  %�7�A<"= A = �� �B <= ?<��� �d% <A� �� B=� ;<=�7<� �� 7�& ? G n 8 I � d=�<A� �?% �A�7�� ��
� ? # � =�? G ;��=� ? �?

α ' 1.78±0.05
�I?%  ?<� �� �� 8 Z[[E@ 8 o ?� ? ?<!B�= B=� ��& �� %  L

��=A<�? ?<= A  %  =�=�� �� AB�7%  =�!7 6 = < �d=��? 8 e� % A ?� ����A��= %B�?�A< =�? 6 % �7 
pqrZ[\]\e^c b_eb i

φ = 0
b_ [^ sb]y^ tf[\^_^

T0 = 2443366.775
i u^j[ag v w gbxagj yz{|}~ m

�Y`bc xk i bke^ Zaeb_]\^ b_ g^jak � bkex ]^k\ egbk ag`b_bk `b c ^x_\ef` Zag `bu^z a `b [^ [fc \_ak\`^` `b
q``\_xea_ i \_][fka Z^g^ f_^ bkegb[[^ `b _bfega_bk m
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?� !�= 7�!<?�7�� ��7<�A< =�? �= �� �BJ  �Q $�2 .+$%R@ �� !�?�� B= #�A� 7 ∼ 3
�= ��%? ? �� %  L

7���? ���  7��= �� �� ! 7� 6 ?B% �7%B�?� ? � ��   �B��A<"=  7;<���� 8 � ? ��� ?  a? 7�A<�=��?
<=�<A�= KB� %�7� 7�& ? G �� \L\[[ f�> 6 �� �BJ  �?  aS <  A�7A� �� �� #�?�

φ ∼ 0.55− 0.65
8

` ?� ����A�" � <?<"= G �B7�=�� �� %�?�J � % 7 �� % �7<�?�7 6 � =�� ?� �?% �7� KB� �� ��?�
�� �A7�A<"= ��  �?� ?��  aS < � �T�7�d D ��7���? 6 \99:@ 8 I �  ;?�7��� 7< �� 7�& ? G
�-*%�+* !� % �7 <�<� � <?�B ;7�7 B=� % ?<; �� � <?<"= �S��=�<�� �� # 7 � �?< 	�7<A� 6 �
B=� �<?��=A<� �� ∼ 0.1

% A �� �^ � ��\ �[� ���7���? �� �� 8 Z[[E@ 8
� ? ��� �=� ?  7;<����? �� �^ � �� \ �[� #B�7 = ����7 <=�� ? %  7 j�?�7�? �� �� 8 �Z[[:;@

KB<�=�?  ;�<�=�= 

e = 0.72±0.15

8 ��7� B=� <=A�<=�A<"=
i = 30◦

6 ��?  �?�? KB� ?� <=M�7�= ? =
�� ∼ 12

T
�

%�7� �� �?�7���� 6 & ∼ 2.5
T

�

%�7� ��  ;J �� A  %�A� 8 ^ < �� <=A�<=�A<"= �?  �& 7 6
?�  ;�<�=� B=�  �?�  �= 7 %�7� ��  ;J �� A  %�A� 6 ��   � KB� %B��� �7���7?� �� B=
�!BJ �7 =�!7  B=� �?�7���� �� =�B�7 =�? 8 j�?�7�? �� �� 8 �Z[[:;@ �� ;<	= !�= ?�H���� KB�
�� �?% �A�7 "%�<A �� �^ � �� \ �[� �? A =?<?��=�� A = B= �% 7�� ��� ∼ 65 � � �� � <?<"=
� <?B�� % 7 %�7�� �� �� �?�7���� �][ >�@ 6  <�=�7�? KB� �� � <?<"= 7�?��=�� ?� ��7<;B&� ��
 ���7<�� A<7AB=�?����7 8

()*+,- ./� 1 B C D EFG HIH 4 ;8 2
>D� V 
 K� 68J 6J 3K L <MIIFA L

I= Z[[� 6 ��  ;?�7��� 7< j!�7�=f � ����� �������� � �� � �� !"! �#$# %&�
'%�&�� (�)*�+ ,� � �&�)-.�/ $%0 �,��/ �

> 200
C�> 6 ��7 U �; �7� �� �� 8 Z[[�@ 8 I �  aS <  

�� �� AB7�� �� �B$ �= 7�& ?
γ

?� %7 �BJ  �= #�?�
φ = 0.5− 0.6

6 & �� #B�=�� = #B� ����A����
1q [ bkZ b]ega b_ g^jak � e\b_`b ^ kbg c xk u[^_`a ]f^_`a a ]fggb_ [ak ^fcb_eak `b \_eb_k\`^` y2ybg_j^p

3ah^ be ^[ m }445 ~ m
67^[agbk ^[ebg_^e\hak Zag w gf_`kegac be ^[ m y}448^ ~ \_`\]^_

e = 0.55 ± 0.05
m9q [ eb[bk]aZ \a : y\ZZ[b kl[a y^ Za`\`a ug\_`^g ]ae^k kfZbg\agbk ^[ ;fz a b_ cfj ^[e^k b_bgx <^k y=^[[ be ^[ m

}44> i ?c \ey be ^[ m }448~ m @ fj gb]\b_ebcb_eb i 7qwvuY? `beb]el ;fz a h^g\^u[b `b A? v B5 z >4> ^ b_bgx <^k
> 350

wb7 i ]a_ c xr \c a b_ s^kb
φ ∼ 0.65 − 0.74

i f_ Za ]a `bkZfdk `b[ Z\]a `beb]e^`a Zag @Yw v2 y@ ^\bgbe ^[ m }448~ m
:E
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�B7�=�� �� % �7<�?�7 ���7 c <!B7� E 8Z@ 8 ^� �J B?�" �� �?% �A�7 B= d=�<A�
α ∼ 2.6

6 & ?� !� �?�<L
 �� B=� �B <= ?<��� <? �7"% <A�

Lγ ∼ 7×1033 �7! ?−1 8 I=  ;?�7��A< =�? A =�� %  7a=��? 6
�� % <A �� <=��=?<��� �= 7��< �\: Cm$@  AB77<" �= #�?�

φ = 0.7
8 �� c <!B7� E 8�  B�?�7�

�� �<?�7<;BA<"= �?% �A�7�� KB� 7�?B��� �� 7�A % <��7 ��  �& 7 %�7�� �� � ? ��� ? �<?% =<;��?
�^<� �< �� �� 8 Z[[�@ 8 �� �B <= ?<���  aS < � ?� 7���A< =� A = �� ����AA<"= �� jgT�eI� 6
��A�=$�=� ∼ 1035 �7! ?−1 6 %�7� Eγ

�= �� 7�=! T�> 8

()*+,- ./� 1 � :5J8:�OT:R7 654 6TJ83K 96 6768S �3 ;� 568�393 96 BC D EFG HIH T;Q4:K393 4 ;8 C:9;K: 6J
3K L <MIIFA L B3 6Q :5:R7 96 K3 65J86KK3 � 6 65 6K Q �� :Q ; 37S;5J; 67 6K 837S; � :5O3K��	 <∼ 3

6	 A L

I� A =J B=� �� ��� ? �<?%  =<;��? !�A�= �� �^ � �� \ �[� B=� #B�=�� % �AB�<�7 & !�=
  �<��� �<��7?�? %7 %B�?��? %�7� �S% �<A�7 ��  7<!�= �� �� � <?<"= � � ��7! �� � � ��
�?% �A�7 ���7 % 7 �J 8 T �7�?A! < D e7���? 6 \9F \ 
 e�& � 7 �� �� 6 \99Z 
 �� �= � 6 \99:@ 6 % �7 
�h= ! & = ?� !� ���!�� � �?��;��A�7 �= # 7 � %7�A<?� ABa� ?�7d� �� �?A�=�7< ���AB�� 8

>�7<�? %7 % <�����? �� �^ � �� \ �[� %�7�A�= �J B?��7?� � B=   ��� �� T_ 8 ^< ��� �?
�� A�? 6 ?� �<�=� B=� �< <��A<"= �=�7!	�<A� ���� %  7 �� A�=�<��� ��  �?� �A7����� % 7 ��
 ;J �� A  %�A� % 7 B=<��� �� �<� % 8 T �7� d D ��7���? �\99:@ 6 & �B�! C7�! 7& D ` �<?!
�Z[[Z@ �?�< �7 = �� ��?� �� �A7�A<"= ��  �?� �?B% =<�=� B= 7�!< �= �� ] =�< D m & ��@
? ;7� ��  ;J �� A  %�A� ��S%7�?<"= O 8\@  ;��=<�=� � ?  aS <  ? %�7�

Ṁac
i B= A <=A<��

A = �� % �7<�?�7 & ��  �7  AB77� AB�=� �?  d=< � �� ��� A<��� 7����<�� �=�7� ��  ���7<�� ���
� <?A �?����7 & ��  ;J �� A  %�A� ���;<� �� ��<=�� <�=� �� � ? ��A� 7�? ��� A<���@ 8 I?� ?
 aS <  ? A 77�?% =��= � ���=� ? �� �A7�A<"= ?B% �7LI��<=!� = 6 �B7�=�� � ? AB���? ?� �?% �7�
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KB� ?� %7 �B$A�= �&�AA< =�? �= # 7 � % �7% �=�<AB��7 �� � <?A �� �A7�A<"= � 8 I �   ��� �� T_
��%�"=<A �� ] ?A!LV�  = �� �� 8 �Z[[�;@ %�7�A� ��7 AB�=�� �� ��? %7<=A<%���? A�7�A��7d?�<A�?
�� �^ � ��\ �[� � � ��7! �� � � �� �?% �A�7 � 8 j�7A� ��� %�?�J � % 7 �� % �7<�?�7 ?�
<=��=?<MA�= ��? % 	7�<��? �=�7!	�<A�? �j �� � ? ���A�7 =�? 6 � <? <=B&�=� �� %7 ;�;<�<���
�� B=� ����AA<"= �� � <?<"= �?<=A7 �7"=@ �= 7��< 8 U ?< <?  6 ��? % 	7�<��? j B�  ;<�=�?
%B���= ?�7 < %  7��=��? �= ��? 7�!< =�? <=��7=�? �� �� "7;<�� � =�� �� ��=?<��� ��� � <�=� 
�?����7 �?  �& 7 �` �7 = � D j!�7=&�f �� Z[[E@ 8 U A =�<=B�A<"= ?� ��?A7<; � B=   ��� ��
T_ !��7"=<A %�7� �� � <?<"= !�  � �� �?�� % �AB�<�7 #B�=�� 8
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]�?�� ? �= �� �?A�=�7< %7 %B�?� %  7 V  �7 �� �� 8 �Z[[�@ KB� ?� ��?A7<;<" �= ��
^�AA<"= : 8Z ?� ! <A<�7 = 7�M=� <�=� ? %�7�   ����7 �� � <?<"= !�  � �� �^ � �� \ �[� 8 I=
%�7�<AB��7 ?� �B� �= AB�=�� KB� �= �?�� T_ i

�� ��?� �� �A7�A<"= ��  �?� 6 & % 7 ��=� �� %  ��=A<� A<=	�<A� �� � ? J ��? 6 ��7d� �=
# 7 � ?<!=<MA��<�� � � ��7! �� �� "7;<�� 8
I �  ���7<�� ��� � <�=� �?����7 KB� %7 % 7A< =� � ? %7 � =�? ;��=A �? �� A  % =�=��
KB� # 7 � �� �<?A �� ��A7�A<"= �= � 7= � �� �?�7���� 8

��7� ��?A7<; <7
Ṁacc(φ)

?� ?<!B<" �� �7��� <�=� ��� % 7 T�7�d D ��7���? �\99:@ 6 ?B%  L
=<�=� KB� ��  ;J �� A  %�A� ?� �=AB�=�7� <= �7? ��=�7 ��� �<?A �� �� �?�7���� ] � 6
& �A7���  ���7<�� �� 	?�� �= # 7 � �?#	7<A�� 8 ^� A =?<��7" KB� �� �<?A A<7AB=�?����7 �<�=�
B= % �7M � �� ��=?<���

ρw(r) = ρ0(r/R∗)
−n 6 ?<�=� n = 3.2

&
ρ0 = 5 × 1011 ! A −3 �C7�L

! 7& D ` �<?! 6 Z[[Z@ 8 I � !�? ��� �<?A KB��� A =M=�� A�7A� ��� % ��= �AB�� 7<�� 6 A = B=
?� <La=!B� �� �% �7�B7� ∼ 15◦

8 ��? �AB�A< =�? �� A =�<=B<��� & A =?�7��A<"= ��� < %B�? 
�=!B��7 < % �<A�= KB� �� ��� A<��� 7��<�� ���  ���7<�� ?<!B�

vr = vr0(r/R?)
n−2 6  <�=�7�? KB�

�� A  % =�=�� �A< B��� �� �� ��� A<��� A�� A   
vϕ = vϕ0R?/r

8 � ? ��� 7�? �� � � ? � ?
%�7a ��7 ? �� %��� ? ?� �<?��= �= �� e�;�� E 8\ 6 & B= �?KB� � �� �� ?<�B�A<"= ?�  B�?�7�
�= �� c <!B7� E 8O 8

��? <=��7�AA< =�?
pp
%B���=  AB77<7 &� ?�� %  7KB� ?�  �$A�� ��  ���7<�� ��� � <�=� A = ��

��� J �� �%  7 �<#B?<"=@ 6  %  7KB� ��!B= ? %7 � =�? 7����<� <?��? �?A�%�= ��� J �� 8 I � %7 ;�� � ��
<=��7A� ;< �� %�7� dAB��? � �7��	? �� �� ?B% �7MA<� KB� �< <�� � B= J �� 7����<� <?�� %7�?�=��

�? \ u \b_ b_ [^ `\keg\uf]\l_ bkZ b]eg^[ b[ yb]ya `b sfb kb^ c ^jag [^ Zaeb_]\^ b_ g^jak
γ
sfb b_ g^jak �y^]b `\s<]\[ Z b_k^g b_ f_ bhb_ea `b ^]gb]\l_ kfZbgpq``\_xea_ m

	qr]bZea Zag [^ ^fkb_]\^ `b bc \k\l_ edgc \]^ b_ g^jak � m

2bg]^ `b[ auz bea ]acZ^]ea b[ ;fz a ^]gbe^`a e\b_b f_^ eg^_k\]\l_ b_ kf xbac beg<^ j sagc^ b[ `\k]a `b^]gb]\l_ m A^ ]a_kbgh^]\l_ `b [^ c ^k^ Zbgc \eb b_ Zg\_]\Z\a fe\[\�^g [^ brZgbk\l_ `b

Ṁacc

`b �a_`\p=aj[b mY`bcxk i ^sf < ybcak kfZfbkea sfb [ak ]^cu\ak b_ [^ e^k^ `b ^]gb]\l_ `b c ^k^ kb ZgaZ^x^_ ^ [^ Zaeb_]\^]\_de\]^ `b[ z be `b sagc ^ ]^k\ \_ke^_ex_b^ i a ^[ c b_ak b_ bk]^[^k `b e\bcZa cf]ya c xk ]age^k sfb b[ Zbg<a`aagu\e^[ m
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��7a ��7 � �?A7<% A<"= �B=<����?� ��� 7
M?

 �?� �� �� �?�7���� �
M�

� \Z
R?

7��< �� �� �?�7���� �
R�

� \[
MBH

 �?� ���  ;J �� A  %�A� �
M�

� Z 8:
e

�SA�=�7<A<��� [ 8EZ
a

?� <L�J �  7;<���  �& 7 �
R?

� 9 8\�
i

<=A�<=�A<"= ��� % ��=  7;<��� �◦� �[
ω

a=!B� ��� % �7<�?�7 �◦� Z[
Ṁw

��?� �� % 	7�<�� ��  �?� �?����7 �
M�

&7−1� \ 8� ×10−6

R0

7��< ��� J �� �= �� ;�?� �
RSch

� :
z0

���B7� �� <=&�AA<"= ��� J �� �
RSch

� :[
χ

��=!�=�� ��� ?� <La=!B� �� �% �7�B7� ��� J �� [ 8\
α

d=�<A� �� % ��=A<� �= �� �<?� 8 �� %7 � =�? 7����<� <?��? Z 8:
γ′min

p

#�A� 7 �� � 7�=�$  d=<  �� � ? %7 � =�? Z
Γ

#�A� 7 �� � 7�=�$  �A7 ?A"% <A ��� J �� \ 8Z:
T?

�� % �7��B7� �� �� �?�7���� �P �
26000

Tdisk
�� % �7��B7� ��� �<?A A<7AB=�?����7 �P � \E[[[

Rdisk
7��< �S��7= ��� �<?A A<7AB=�?����7 �

R?
� \Z

Rin
7��< �� �� 7�!<"= <=��7=� ��� �<?A A<7AB=�?����7 �

R?
� �

Ldisk

�B <= ?<��� ��� �<?A A<7AB=�?����7 ��7! ?−1� 2 × 1037

ψ
a=!B� �� �% �7�B7� ��� �<?A A<7AB=�?����7 �◦� \:

vr0

��� A<��� 7��<�� ��� � <�=� �= ?B ;�?� �A ?−1� 3 × 105

vϕ0

��� A<��� �A< B��� ��� � <�=� �= ?B ;�?� �A ?−1� 1.13 × 107/ sin i
ρ0

��=?<��� ��� � <�=� �= ?B ;�?� �! A −3� 5 × 10−11

RSch = 2GMBH/c2

B=� �<MAB����  a? ���a �� � ? ��A�=A�? �� �?�� �7�;�J  
 �	�?� % 7 �J 8 m �7��� D mB!!�?
�Z[[�@ 6 ^��k�7$ D g ?�7 k ?f < �Z[[Z@ 8 UKB d ?� AB�=�<MA" �� = <��� �� <=��7�AA<"= � �7��	? ��
B= 	#�A� 7 ��  �$A��
 6

fm ∝ v−1
rel ∼ 0.1

8 I?�� %7�?A7<% A<"= #�=  �= �"!<A� �� AB�=�� �� B=
7�A!�$  a? �MA<�=�� �� ��? %�7�dAB��? AB�=�  �& 7 �? �� ��� A<��� 7����<�� � <�=� L ;J �� 
A  %�A� 6 &� KB� ?� % <�=?� KB� ?� <=��=?<MA�= � ? �#�A� ? �� <=��7#�?� 8 ��7�

φ = 0.5
6 ��

#�A� 7 ��  �$A�� �?  aS <  & ��A�=$�
fm ' 0.5

8
I � �<?A A<7AB=�?����7 ?� 7�%7�?�=�" % 7 B= AB�7% =�!7 A = B=� �� % �7��B7� �#�A�<��

Tdisk = 17000
P �= ��? 7�!< =�? <=��7=�? �!�?�� ∼ 3R?

@ � =�� ?� %7 �BA� �� !7B�? �� ��
� <?<"= �V 6 &  a? ���a A = B=� � <?<� <��� ∝ ρ 2

w

�����7? \9F� 6 ] ?A!LV�  = �� �� 8 Z[[�;@ 6
�S��=�<	=� ?� !�?�� B= ? ∼ 12

7��< ? �?����7�? 8 �� � <?<"= �= �� 7�!<"= <=��7=� ��� �<?A 
�[
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#B� = 7 ��<$��� %�7�  ;��=�7
Ldisk ∼ 2 × 1037 �7! ?−1 6 �= A =?<?��=A<� A = � ? 7�?B���� ?

�� j�?�7�? �� �� 8 �Z[[:;@ 8
^� A��AB�" �� �<?�7<;BA<"= �?% �A�7�� �� �=�7! d� %�7� �<#�7�=��? #�?�?  7;<����? 8 I= ;�?�

� � ? 7�?B���� ?  ;��=<� ? 6 B= ��� 7 ��� %�7a ��7 �� �A % �� <�=� 
qrel
j ∼ 0.1

�? =�A�?�7< 
%�7� �S% �<A�7 �� �B <= ?<��� ��

7 × 1033 �7! ?−1 <= #�7<�� % 7 TUC�j 6 %�7� �� #�?� ∼ 0.5
8

I= �<A!� A =M!B7�A<"= = ?� �?% �7� KB� � ? �#�A� ? �� �;? 7A<"=
γγ

?��= ?<!=<MA��<� ? 6 %  7
� KB� ?� �� %�" �� d=�<A� �� �� �<?�7<;BA<"= �� � ? %7 � =�? 7����<� <?��? A   ��  <?  ��
�� � <?<"= ����A���� 6

α = 2.5
8 I?�� ��� 7 %B��� ��;�7?� � KB� �� %7 A�? �� �A���7�A<"=

�<#B?<��  AB77� �= #7�=��? �� A! KB� A = =h �7 �� T�A! ;�J  8 � � !�A! 6 A�;7d� �?% �7�7
KB� �� ��7<�A<"= �= �� ��?� �� �A7�A<"= ��  �?� <=�B&� ? ;7� �� ��� 7 ��

α
��   � KB�

= ?�  �=��=!� A   B= %�7a ��7 A =?��=�� 6   a? �h= 6 KB� � ? J ��? = ?��= �?�7BA�B7�?
A  % ���� �=�� �?��;��? ���7BA! D ] ?A!LV�  = Z[[E@ 8

��7� � ? J ��? ?� ?B%B? B=� !�  ��7d� A"=<A� 8 I � A� %   �!=	�<A ��A�� A = �� �<?��=A<�
A   ∝ z−2 6 & �= �� ;�?� ��� J �� �? ����7 <=�� % 7 �� A =�<A<"= �� �KB<%�7�<A<"= �� ��
�=�7! d� �?

B0 ≤ 108
C ���7 ] ?A!LV�  = �� �� 8 Z[[�;@ 8 j    �7�? A�=�<����? #d?<A�? 6

B0
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A� ;<� A = �� #�?�  7;<��� 6 & �?  aS <  �= �� %�?�J � %  7 �� % �7<�?�7 6 ��A�=$�=� � ?�7 ��=
<=��=? A   %�7� ����7 <=�7 �� �=�7! d�  aS < � �� � ? %7 � =�?W� %  7 % 	7�<��? 7��<��<��?
?<=A7 �7"= 8 ^�  ;�B� B= #�A� 7 �� � 7�=�$  aS <  

γp ≈ 7 × 106 8 ` ���!�= � %7 �BA<7?�
<=��7�AA< =�? # � L!��7"=<A�? �A7��A<"= �� % < =�? % 7

p+γ
@ A = �� A� % 7��<��<� �?����7 6

&� KB� = ?� ?B% �7� �� A =�<A<"= B ;7�� 8 UB=KB� 	?�� = �? �� A�? ?< ?� A =?<��7� � � ?
7�& ? G KB� � <�� �� � <?A �� �A7�A<"= 6 �� �B <= ?<���  ;?�7����

LX

�? � ;�?��=�� ;�J �
A   %�7� %  ��7 ��?%7�A<�7 �� �#�A� �= B=� %7< �7� �%7 S < �A<"= 8

I= �� c <!B7� E 8: ?�  B�?�7� �� AB7�� �� �B$ �� �� � <?<"= !��7"=<A� ��d=�� %B=�����@
A��AB���� %�7� # � =�? A = �=�7! d� ∼ 200

C�> 6 KB� �? ��  d=< � KB� 7�% 7��= ��?  ;?�7L
��A< =�? �� TUC�j 8 �� � <?<� <��� �<#�7�=A<�� ?� A��AB�" �% �<A�=� �� �%7 S < �A<"= �� ��
#B=A<"=

δ
�U!�7 =<�= D U� &�= 6 Z[[[@ 8 �� �d=�� �� �7�$ A =�<=B �= ��  <? � M!B7� A L

77�?%  =�� � �� �B <= ?<��� A 77�!<�� % 7 �� �;? 7A<"= �= �� A� % 7��<��<� �� �� �?�7����
& ?B �<?A �� ��A7�A<"= 8 �� %7 #B=�<��� "%�<A� ?� A��AB�" A   �= �B;B? �Z[[�A@ %�7� ��
�	7 <= �� �� �?�7���� 8 ��7� �� � <?A �?����7 ?� A =?<��7" �� �S%7�?<"= �� �� ?�AA<"= �MA�$
� ��� 6 &� KB� �� �%  7�� %7<=A<%�� ��B7�=�� �� % �7<�?�7 @ ?� %7 �BA� $% �'$)� i � ? # � =�? !� L
 � %7 � <�=�=  �& 7 �=�� �� �� ;�?� ��� J �� 6 <= �7?� �= �� �<?A �?����7 � =�� ?� � <��=
� ? # � =�? �	7 <A ? KB� � ? �;? 7; �= ���7 �?KB� � �= �� c <!B7� E 8O 6 �� ?�%�7�A<"= �B7�=��
�� % �7<�?�7 �=�7� �?�7���� &  ;J �� A  %�A� �? �� ' 2.56R? < Rdisk

@ 8
� ? # � =�? �� �� �?�7���� �;? 7; �= A =  �& 7 �MA<�=A<� � � ? # � =�?

γ
�� �=�7! d� �<L

!�7� �=��  �& 7 ���!B= ? e�> @8 I?� %B��� ��7?� �= �� %�=�� �� �� ��7�A!� �� �� c <!B7�
E 8: 6 � =�� ?�  B�?�7�= � ? 7�?B���� ? �� ?< B��A< =�? T =�� j�7� �� A�?A���? ���A�7 L
 �!=	�<A�? ��?�77 �����? �= �� A� %  7��<��<� �?����7 6 ?<�=� 

T? = 26000
P &

R? = 10V
�

8 I � A"�<! �% �<A�� %�7� �?� ? Aa �AB � ? �? �� KB� ?� ��?A7<; <" �= �� A�%d�B� �=��7< 7 8 I �
A� %  �!=	�<A �= �� 7�!<"= � =�� ?� %7 �BA�= ��? A�?A���? ��; � ?�7  �= 7  ?< <��7
�

0.1
C 6 %�7� �?�!B7�7 KB� ��? % 	7�<��? 7��<��<��? �� � ? ���A�7 =�? �?�	= �  <=���? %  7

��? �<?% �7?< =�? �j 8 ��? AB7��? #B�7 = = 7 ��<$���? A = �� �B <= ?<��� � <�<�� �= �� #�?�
A 77�?% =�<�=�� 6 ��J �=� 

qrel
j

A   %�7a ��7 � �J B?��7 � % ?��7< 7< 8 �B7�=�� �� % �7<�?�7 
?� �?% �7� B= �;��=�� <�=� ��� �?% �A�7 6 ?<�=� �� d=�<A�

α ∼ 2.8
�= �� 7�=! �� �=�7! d�?

�� �� ����AA<"= %  7 TUC�j 8
�B��� = ��7?� KB� B=   �����  a? 7���<?�� �� ��? A�7�A��7d?�<A�? ��� ?<?�� � !�=�7"

��!B= ? A� ;< ? �= � ? 7�?B���� ? 7�?% �A� �� � ? 7�% 7��� ? %7�� <� �=�� WW �= V  �7 ��
�� 8 �Z[[:@ 8 I � ��� 7 KB� ?�  ;�<�=� 6 ��

qrel
j ∼ 0.1

%�7� �S% �<A�7 �� ����AA<"= % 7 TUC�j
= %�7�A� �S�!�7�� AB�=� ?� �<�=� �= AB�=�� �� %  ��=A<� <= #�7<�� �=  �7 ? J ��? % ��=��? 6
A   �= j&! GL \ �C��� �� �� 8 Z[[: 6 &� A  �=��� @ 8

U �=�7! d�? % 7 ��;�J  �� ∼ 1
C�> �� �?% �A�7 �� � <?<"= ?�!B7� �=�� 7�A<; <7a �%  7��?

��  7<!�= ��%�"=<A �= A��AB��� ? �KB d@ 6 KB� A� ;<�7a= �� # 7 � ��� �?% �A�7 6 & % �7d�=
��7 �B!�7 � %�7�� �� �� � <?<"= ����A���� % 7 ICVIe 8 I= g 7����=� D V  �7 �Z[[E@ ?�
X��fg^_eb b[ gbkea `b [^ lgu\e^ i [^ b_bgx <^ c xr \c ^ `b [ak Zgaea_bk bkex gbkeg\_x \`^ Zag b[ g^`\a `b x \ga mXXAak ]x[]f [ak Zgbkb_e^`ak b_ wacbga be ^[ my}44�~ ka_ ^_ebg\agbk ^ [^ `beb]]\l_ Zag @Yw v2 i ^f_sfb [^Zgb`\]b_ m 2a_ Zakebg\ag\`^` kb gbt_l [^ b[b]]\l_ `b Z^gxc begak b_ u^kb [^k gbkeg\]]\a_bk \cZfbke^k Zag [ak_fbhak `^eak aukbgh^]\a_^[bk m

�Z
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()*+,- ./� 1 D@XO:6893 � �O8�3 96 KO@ 96 K3 6Q :5:R7 �398R7:T3 T3KTOK393 4383
Eγ = 200

>6	 L B3
K�763 4O7J6393 T;88654 ;796 3 K3 KOQ :7;5:939 6Q :J:93 V Q :67J835 XO6 K3 T;7J�7O3 J:676 34K:T393
K3 T;886TT:R7 4 ;8 3� 5;8T:R7 L � 686T�3 � � :5J8:�OT:R7 654 6TJ83K 865OKJ37J6 96K 8648; T653Q :67J; 4 ;8
T35T3935 6K6TJ8;Q 3S7�J:T35 67 6K T3Q4; 839:3J:�; 65J6K38 L B3 86TJ3 :79:T3 K3 4 679:67J6 96K 654 6TJ8;
:7W6TJ39; T;7 �79:T6 654 6TJ83K

α = 2.5
V W XO6 56 6�J:6796 �35J3 ∼ 1

�6	 L

�7!B �=�" �= #�� 7 ���   ��� �� T_ !��7"=<A KB� 6 �� <!B�� KB� B= %B7� �=�� ��%�"=<A 6
�? A�%�$ �� �S% �<A�7 � ? ��� ?  ;?�7��A< =���? W' 8 ��7� �<#�7�=A<�7 ��  7<!�= �� �� � <?<"=
�  B& ����? �=�7! d�? 6 ?" � �� ����AA<"= �� =�B�7<= ? KB� ? = B= 7�?B���� ?�AB=��7< ��
��? <=��7�AA< =�? !��7"=<A�? 6 %B��� ?�7 A =A�B?<�� 8 I= �� A�? �� �^ � �� \ �[�6 B=   ��� 
!��7"=<A �� !�A! %7���� B= �BJ  �� ��!B= ? =�B�7<= ? %  7 �H %  7 f <�" ��7 AB��7�� 
�j!7<?�<�=?�= �� �� 8 Z[[� 6 & ��7 �� �<?AB?<"= �= e 77�? D m��$�= 6 Z[[E@ 8 g �7� A�7�A��7d?�<A�
KB� % �7 <�<7d�  ;��=�7 �� <��=A<� �= #�� 7 �� B=   ��� !��7"=<A %�7� �� � <?<"=

γ
?�

7���A< =� A = �� �=�7! d�  aS < � ��� �� )&� @ ��� �?% �A�7 i �= B=   ��� %B7� �=�� ��%�"=<A 
��? % 	7�<��? �=�7!	�<A�? �����= � B=� �=�7! d�  aS < � �� � ? # � =�? �� ��7���� 7 �� \ e�>
�] ?A!LV�  = �� �� 8 Z[[�;@ 6  <�=�7�? KB� �= B=   ��� !��7"=<A A   �� ��?A7<%� �?
% ?<; �� KB� �� � <?<"= ?� �S�<�=�� !�?�� �=�7! d�?  �& 7�? 8
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I= �� ?�AA<"= �=��7< 7 ?� ��?A7<; <�7 = ��? A�7�A��7d?�<A�? �� B=   ��� �� T_ %�7�
�^ � ��\ �[� 8 U �!B= ? �B� 7�? !�= %7 %B�?� KB� ��? %7 % <�����? �� �?�� #B�=�� %B���=
?�7 �S% �<A���? AB�=� ?� ?B% =� KB� ��  ;J �� A  %�A� �? B=� �?�7���� �� =�B�7 =�?  B&
J "��= 6 AB& � <�=� 7����<� <?�� <=��7�A�h� A = �� � <�=� �� �� �?�7���� �� !7�=  �?� 6 A   
 AB77� �= �^V ] \Z:9L�� �^�AA<"= � 8O@ 8 �� %7< �7� ��7?<"= �� ���   ��� #B� %7 %B�?�� %  7
T�7�?A! < D e7���? �\9F \@ 6  a? ��7�� #B� 7�� <?<��� %  7 �B;B? �Z[[��@ 8 � ? ��#�=? 7�? ��
�?�� %7 %B�?�� !�= <=� A�� � ? 7�?B���� ? ��  ;?�7��A< =�? �= 7��< ��!�k�= �� �� 8 Z[[�@
A   �% & 8 ��?  ;?�7��A< =�? �= AB�?�<"= %7�?�=��= < �!�=�? >�]U 6 �?%�A<���? % 7 �
Xpqr \ke <^ b[ Zgb]a_]bZea `b sfb i b_ h\ke^ `b [ak ^Zagebk `b @Yw v2 i kb Za` <^ `bkb]y^g f_ ca`b[a `b

@
 y^`gl_\]a j^ sfb [^k \_ebg^]]\a_bk
pp

sfb kb hbg<^_ \_eb_k\t]^`^k `fg^_eb b[ Z bg\^kega _a Z^gb]<^_]a_]ag`^g ]a_ [^ _a `beb]]\l_ `fg^_eb bk^ s^kb yY[ubge be ^[ m }445~ m
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γ
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� d�? 6 AB;7<�=� B=� "7;<�� A  % ���� 8 ^" � A�7A� ��� %�?�J � % 7 �� % �7<�?�7 � ? A =� 7= ? ��
��=?<��� �� �BJ   B�?�7�= B=� # 7 � �� =!��� KB� �%B=�� �%7 S < ��� �=�� �= �<7�AA<"=
 %B�?�� � �� �� �� �?�7���� 8 ` ?�  ;?�7��7 =   � < <�=� ? 7����<� <?��? 8 ^� !� <=��7%7���� �
�� �?�7BA�B7� �� # 7 � ��7<�;�� ����A���� A   A   B=� �?% �A<� �� 	A �� A  ���7<�
 KB�
7�?B��� ��� A! KB� �� � <�=� ? 8 ^ <= � ;�7! 6 ���   ��� �� A �<?<"= �� � <�=� ? �= #7�=�� ?�7< ?
%7 ;�� �? �� <=��=��7 �S% �<A�7 �� �<?�7<;BA<"= �?% �A�7��  ;?�7���� 6 �� A  % 7�� <�=� ��
�� AB7�� �� �B$ 6 & �� %7 % <�   7# � ! d� �� �� � <?<"= �= 7��< KB� %7���=�� B?�7?� A   
�7!B �=� Wn 8

��7� ����B�7 �= # 7 � A7d�<A� ��? ; =����? �� � ; ? �?A�=�7< ? !�  ? 7�AB77<� �
 	� � ? =B 	7<A ? %�7� �� ?< B��A<"= �<=a <A� �7<� < �=?< =�� ��� #7�=�� �� A! KB� 6 �= ��
A�? �� A �<?<"= �� � <�=� ? 6 & %  7  �7 ��� 6 �� �� <=��7�AA<"= !7�� <��A< =�� KB� �� �B!�7 �
�� �7�=?#�7�=A<� ��  �?� 8 I?��? ?< B��A< =�? %7 % 7A< =�= �?�< �A< =�? 7���<?��? �� �� ��?�
�� �A7�A<"=

Ṁac

? ;7� ��  ;J �� A  %�A� ;7<=�� =B���? % �7?% �A�<��? %�7� B=   ��� ��
�<%  T_ 8 � <A!�? ?< B��A< =�? #B�7 = �������? � A�;  %  7 �� � 7 8 gf�$�f < 6 & � ? 7�?B���� ?
#B�7 = �<?AB�<� ? �= V  �7 �� �� 8 �Z[[E@ 8

� �� ��� �����	
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� �
 
������� �
 ��
����

��7� B= ��� 7 7�$ =�;�� �� �� �MA<�=A<� %�7� �� � <?<"= �� 7�& ?
γ
6 �� � <?<"= <= #�7<��

% 7 ICVIe �� ∼ 1035 �7! ?−1 7�KB<�7� KB� �� � <�=� ��� %B�?�7 % ?�� B=� %  ��=A<� A<=	�<A�
Ė

�� ��  �= ? ��!B=�? ��A�?
1036 �7! ?−1 6 �= B= �?A�=�7< �� A �<?<"= �� � <�=� ? 8 e�� ��� 7

����� � B= �BJ  �� < %B�? �<=��� KB� % �7a ?�7 A  % �=?�� %  7 �� ��� � <�=� �?����7 ?< 	?��
�<�=� �� �=�7!	�<A� �%7 % <��� 8 I � %�7a ��7  a? < % 7��=�� KB� ����7 <=� �� # 7 � ��
�� ?B% �7MA<� �� <=��7#�$ � ��� #7�=�� �� A! KB�@ �? �� A A<�=�� �=�7� � ? �BJ  ? �� < %B�? 
�<=���W�

η =
Ė

Ṁwv∞c
,

�E 8\@
� =��

v∞
&
Ṁw

? = �� ��� A<��� & ��?� �� % 	7�<�� ��  �?� �� �� �?�7���� � �7��	? �� ��
A  % =�=�� �?#	7<A� ��� � <�=� 8 ^< 6 % 7 �J � % � 6 ?� �  �= ��� 7�? %�7� B= � <�=� #B�7��
�= B=� �?�7���� �� �<% �?% �A�7�� ][> i

v∞ = 103 f ?−1 & Ṁw = 10−8 T
�

&7−1 6 ?� �<�=�
η ∼ 0.53Ė/1036 erg s−1 8 I=   ��� ? ;<�< �=?< =���? ?< % ��? ���?%7�A<�=� ��   � < <�=� 
 7;<���@ �� ?B% �7MA<� %B��� �%7 S < �7?� %  7 B= A = AB& ?� <La=!B� �� �% �7�B7� �?

θ = 180o

√
η

1 +
√
η
,

�E 8Z@
X�Y`bc xk i `bu b gb]ag`^gkb sfb _a kb y^_ b_]a_eg^`a Zf[k^]\a_bk b_ [^ bc \k\l_ b_ g^`\a `b A? v B5 z >4>isfb z fke\tsfb_ [^ ^ka ]\^]\l_ `b[ auz bea ]acZ^]ea ]a_ f_ Zf[k^g z lhb_ m � u\b_ f_ cb`\a [a kft]\b_ebc b_eb`b_ka `\[fjb [^ Zf[k^]\l_ i \_][fka b_ s^kbk ]bg]^_^k ^[ ^Za^kega i a `bu b kfZa_bgkb ^[xf_^ ]a_txfg^]\l_

xbac deg\]^ Z^ge\]f[^g Z^g^ k^[h^g bkeb aukex]f[a m q_ ]f^_ea ^[ ]acZage^c \b_ea `b [^ ]fgh^ `b [f� i kb eac ^]aca Zak\u[b gbkZa_k^u[b `b [^ ^k\c beg<^ `b [^ c \kc^ ^ [^ ^_ \kaegaZ <^ ]a_ [^ ]f^[ bk xb_bg^`a b[ h\b_ea `b[Zf[k^g Zag [^k gbx \a_bk Za[^gbk `b[ c \kca i ^f_sfb ^f_ _a kb y^_ cakeg^`a ]x[]f[ak ^[ gbkZ b]ea mX1 2acZ^g^u[b ]a_ b[ Z[^_eba b_ [^ brZgbk\l_ y> mz~ m
�O
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�� ABa� %B��� ��7<��7?� ��� �=a �<?<? �� U=� f! <= �� �� 8 �Z[[O@ 6 � =�� ?� �<?AB�� �= �������
�� # 7 � �� �� ?B% �7MA<� �� <=��7�AA<"= 8 �=A�B? %�7� B= ��� 7  d=<  ��

Ė ∼ 1036 �7!
?−1 ?�  ;�<�=� B= A =  B& �=A! A   %�7� ?�7 �? A<�� A = B=� A �� A  ���7<� 6 �?� �?
θ ≈ 62o 8 V a% <�� �=�� 6 �� �B �=��7

Ė
�� � <�=� ��� %B�?�7 ? ;7�%�?� �� ��� � <�=� �?����7 6

��=� 
θ > 90o 6 � KB� < % �<A� B= A = AB& �	7�<A� �? �� �?�7���� & = �� %B�?�7 8

�� ?<�B�A<"= ?� � 7=�  a? A  % ��J � AB�=� ?� �<�=� �= AB�=�� �� ����S <"= �? A<��� A =
��   � < <�=�  7;<��� 6 KB� �? %�7�<AB��7 �=�� < % 7��=�� A�7A� ��� %�?�J � % 7 �� % �7<�?�7 6
���� �� �SA�=�7<A<��� �� �?�� ?<?�� � 8 ��7� �S% � 7�7 � ? �#�A� ? ���   � < <�=�  7;<���
? ;7� �� ?B% �7MA<� ��� #7�=�� �� A! KB� ?� 7���<$�7 = ?< B��A< =�? 7�%7�?�=��=� �� � <�=� 
�?����7 A = � ? %�7a ��7 ? �=��?  �=A< =�� ? 6 & B= �BJ   a? 7a% <� 6 KB� 7�%7�?�=�� ��
� <�=� ��� %B�?�7 8 ��? ?< B��A< =�? ^�m 7���<$���? = �<�=�= �� A�%�A<��� �� �7���7 B=
�BJ  7����<� <?�� W
 6 %  7 � KB� ?� 7�%7�?�=�" �� � <�=� ��� %B�?�7 A = B=� ��� A<��� ���� 6
vPSR ∼ 104 f ?−1 & ?� �J B?�" �� ��?� �� % 	7�<�� ��  �?� A   %�7�  ;��=�7 ��  <?  
�BJ  �� < %B�? �<=��� KB� B= �BJ  7����<� <?�� 6 A = �� A�=�<��� �� �=�7! d� � ��� 7�KB�7<�� 8
I?�� �%7 S < �A<"= = ? % �7 <�� �?�< �7 �� # 7 � �� �� ?B% �7MA<� ��� #7�=�� �� A! KB� KB�
�?  �& 7 �=�� �#�A���� % 7 �� ;���=A� �� %7�?< =�? �=�7� � ? � <�=� ? A �<?< =�=��? 8 ^� !�
��?%7�A<�� �= �?��? ?< B��A< =�? �� A  % =�=�� ��� � <�=� �?����7 KB� # 7 � �� �<?A 6 &�
KB� �?  B& < %7 ;�;�� KB� 	?�� %B��� %7 �BA<7 B=� A �� A  ���7<� W� 8 � 7 ?< % �<A<��� 6
� ? �#�A� ? �� A���=�� <�=� �= ��? 7�!< =�? % ?�LA! KB� 6 & �� �= #7<� <�=� %  7 %7 A�? ?
7��<��<� ? = #B�7 = A =?<��7�� ? 8 e� ;<	= % 7 ?< % �<A<��� 6 � ; ? � <�=� ? ?� ?B%B?<�7 =
<? ��7  ? & �= �S%�=?<"= �<;7� 8 U�� a? 6 ?� ��?%7�A<� �� �B� L!7������ �� ��? %�7� dAB��? ���
� <�=� 6 & ?� ��<!<�7 = ��� 7�? �%7 % <�� ? �� � ? %�7a ��7 ? �� � <?A ?<��� �7�<MA<�� 8 I � % ��= 
 7;<��� A <=A<�� A = �� % ��= 

x
L
y
& �� �J �  �& 7 �� �� "7;<�� ����7 <=� ��  7<�=��A<"= ��� �J �

x
8 g �7 ? �������? �	A=<A ? ?� !�= <=A�B d� �= V  �7 �� �� 8 �Z[[E@ 6 % �7 = ? = 7�����=��?

�KB d 8

�� c <!B7� E 8�  B�?�7� �� �<?�7<;BA<"= �� �� ��=?<��� �= �?A��� � !�7d� <A� 6 � <�B?�7� ��
# 7 � �� �� ?B% �7MA<� �� <=��7#�$ �=�7� � ? � <�=� ? A �<?< =�=��? �� B=� �?�7���� ]� & B=
%B�?�7 A = B=� % ��=A<� �� � <�=� 

ĖPSR = 1036 erg s−1 6 KB� A 77�?% =�� � B=� 7�$"= ��
< %B�? ?

η = 0.53
8 UB=KB� �� ?B% �7MA<� �� <=��7#�$  B�?�7� ��!B=�? ��7<�A< =�? ��;<��? �

<=�?��;<�<����? 6 �? #aA<� �7�$�7 �� # 7 � !� ;�� 6 �� ABa � % =� �= A��7 �� %B=� #B=�� �=���
KB� ?� �7!B �=�� �= A =�7� ��� �?A�=�7< �� A �<?<"= �� � <�=� ? i = !�& 	A �� A  ���7<�

�B7�=�� �� %�?�J � %  7 �� % �7<�?�7 & �= =<=!h=    �=� ?� %7 �BA�=   7# � ! d�? 	�<%  J ��
 8

X6Aak Zg\c bgak gbkf [e^`ak `b bkef`\ak y \`ga`\_xc \]ak gb[^e\h\ke^k gb^[\�^_`a f_ eg^e^c \b_ea u\`\cb_k\ap_^[ Z^g^ b[ k\kebc^ `b n?w � z}�{p5> y]a_ ]a[\k\l_ `b h\b_eak Zf[k^gpbkegb[[^ ~ kb y^_ Zfu[\]^`a b_ sagc ^Zakebg\ag ^ _fbkega eg^u^z a y�axah^[ah be ^[ m }448~ m q_ u^kb ^ f_^ ]acf_\]^]\l_ Zbgka_^[ i hbg\t]^cak sfb_fbkegak gbkf[e^`ak ka_ ]a_k\keb_ebk ]a_ [ak gbZage^`ak b_ `\]ya eg^u^z a mX9�b yb]ya i [^k k\cf[^]\a_bk `b \_ebg^]]\l_ `b[ auz bea ]acZ^]ea ]a_ [^ bkegb[[^ �b cfbkeg^_ sfb b[ `\k]a]\g]f_bkeb[^g `bu b bke^g egf_]^`a i ]a_ f_ g^`\a _a kfZbg\ag ^ [^ kbZ^g^]\l_ b_ b[ Z bg\^kega m q kea bkex b_]acZ[bea ^]fbg`a aukbgh^]\a_^[ ]a_ [^k c b`\]\a_bk `b =
α

`b w gf_`kegac be ^[ m y}448^~ m
�:
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O7 4OK538 V T;7 K;5 438�Q6J8;5 ;8� :J3K65 96 BC D EFG HIHL B3 65T3K3 K;S38�JQ :T3 QO65J83 K3 9675:939
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^� !� ?< B��� �� �� �BA<"= �� �� �7�=?#�7�=A<� ��  �?� �= �^ � ��\ �[� !�?�� KB� ?�
��A�=$� B= �?��� �?��A< =�7< 8 I � A"�<! �% �<A�� �? �� ��?A7<%� �= gf�$�f < �� �� 8 �Z[[Z@ 8
j��� ?< B��A<"= ��  7" B= %7  ��< �� � ?� �=�? B�<�<$�=� ?B% �7A  %B��� 7�? W� 8

I � �<?A �� �� �?�7���� ]� & �� �<?A �� �A7�A<"= ? =   ����� ? A   B= A =J B=� ��
%�7� dAB��? A = �B� L!7������ ��?%7�A<�;�� 6  <�=�7�? KB� �� �?�7���� & ��  ;J �� A  %�A� 
? = �7���� ? A   ?B <��7 ? A = ?B A 77�?% =�<�=��  �?� !7�� <��A< =�� 8 I � !�? KB� A��
��=�7 ��� 7��< �� �A7�A<"= �? �A7���� % 7 �� ?B <��7 8 ^� ?B%  =� KB� �� % ��= ��� �<?A 
�� �� �?�7���� ]� A <=A<�� A = �� % ��= �� �� "7;<�� 6 KB� ?� ��<!� A   % ��= 

x
L
y
8 � ?

%�7a ��7 ? �� %��� ? %�7� ��?A7<; <7 �� �?�7���� & ��  ;J �� A  %�A� ? = � ?  <?  ? KB�
�= �� e�;�� E 8\ 6 A =?<?��=��? A = � ?  ;��=<� ? % 7 j�?�7�? �� �� 8 �Z[[:;@ 8 �� �?A��� ��
���B7� ��� �<?A A<7AB=�?����7 �? ∼ 0.03R?

�=
r = R?

6 �B�! ?� <=A7� �=�� !�A<� �#B�7�
A   

r3/2 8 �� ��=?<��� �= �� ;�?� �� �?�� �<?A �?
5 × 10−11 g cm−3 8

� 7   �<� ? A  %B��A< =���? 7�?B��" A =��=<�=�� ?�%�7�7 �� ?< B��A<"= �� � ? � ? �<?A ? 8
I � �<?A A<7AB=�?����7 ?� A =?<��7� <? �	7  A =

Tdisk = 0.6T?

8 ^� ?B%  =� B=� ��?� A =?��=��
�� <=&�AA<"= ��  ���7<�� J B?� #B�7� �� �� ?B% �7MA<� �?����7 6 KB�  �& 7 �=�� <7a � # 7 �7
�� �<?A A<7AB=�?����7 8 I �  ���7<�� �= ��? 7�!< =�? �S��7=�? �� �?�� �<?A ?� �<#B=�� !�A<�
�#B�7� 6 & 7�?B��� A�%�B7�� %  7 ��  ;J �� A  %�A� ?< ��A�=$� B=� �<?��=A<� � 	?��  �= 7
KB� ∼ 0.9rL

6 � =��
rL

�? �� 7��< ��� �";B� �� V A!� W� 8 ��? %�7� dAB��? KB� ��A�=$�= �?�
A =�<A<"= ? = 7�  � <��? �� �� ?< B��A<"= ��� �<?A A<7AB=�?����7 8

�� ?�!B=�� ���%� �� �� ?< B��A<"= ?� �= # A� �= �� �<?A �� �A7�A<"= ��7���� 7 ���  ;J �� 
A  %�A� 6 B�<�<$�=� A   A =�<A<"= �� A =� 7= �� ��?� �� �7�=?#�7�=A<� ��  �?� �=��?
����7 <=��� ���7 m �&�?�f < D gf�$�f < 6 Z[[O@ 8 I � ;  7�� <=��7= ��� �<?A �� �A7�A<"= ?�
��<!� A   B=� #7�AA<"= % �KB�H� ��� ?� <�J �  �& 7 �� �� "7;<��

a = 6.4×1012 A 6  a? ���a
�� �� AB�� ?� �?% �7� KB� �� �A7�A<"= %7 A��� 7a% <�� �=�� ��= B=� �?A��� �� % 7��  BA! 
 �= 7 KB� �� �� �� 7�!<"= ?< B����@ 8

I= �� c <!B7� E 8E ?�  B�?�7�= � <?��? �� � ? �<?A ? �= #�?�? A�7A�=�? �� %�?�J � % 7 ��
% �7<�?�7 8 j��� %�=��  B�?�7� �� ��=?<��� ?B% �7MA<�� �= �?A��� � !�7d� <A� 8 I �  ;J �� A  L
%�A� KB��� 7�%7�?�=��� %  7 B=� �?#�7� A = 7��< �� �A7�A<"=

rac = 2.5×10−3a
8 �� �?�7����

�? �� A d7AB�  ?AB7  a? !7�=�� 8 I= #�?�?  7;<����? %  ?��7< 7�? ��  =�� �� ��=?<��� KB� ?�
!� �SA<��� �= �� �<?A A<7AB=�?����7 ��A�=$� ��  ;J �� A  %�A� ��=� B=  aS <  %�7� ��
��?� �� �A7�A<"= ��  �?� ��7���� 7 �� #�?�

φ ∼ 0.5
8

X�?b fe\[\�^ga_ ]acZfe^`ag^k = vuY2= v ?w zz444 j ?w v Y [e\r >844 i Z bgeb_b]\b_ebk ^[ =a33^\`a �_\hbgpk\ej v_ sagc ^e\a_ v_\e\^e\hb 2b_ebg j ^[ �f3^�^ v_ke\efeb as uybagbe\]^[ nyjk\]k i �jaea �_\hbgk\eji gbkZ b]pe\h^c b_eb mX	q [ g^`\a `b[ [luf[a `b wa]yb Z^g^ f_^ u\_^g\^ ]a_ lgu\e^ ]\g]f [^g bk ^Zgar \c ^`^c b_eb ybz mi n^]�j_k3 \z{8z~
rL ' 0.462

(

q

1 + q

)1/3

D ,
y8 m> ~

`a_`b
q = MX/M?

bk b[ ]a]\b_eb `b c ^k^k i k\b_`a
MX

j
M?

gbkZb]e\h^c b_eb [^k c^k^k `b[ auz bea ]acZ^]eaj `b [^ bkegb[[^ i j
D

[^ kbZ^g^]\l_ `b[ k\kebc ^ m
�E
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I� %7<=A<%��  ;J ��<� �� �?��? ?< B��A< =�? #B� �� �� A  %�7�7 � ? 7�?B���� ? %�7� ��
��?� �� �A7�A<"= A = �?�< �A< =�? �=��d�<A�? 6 � =�� ?� �?B � KB� �� �A7�A<"= �? �?#	7<A� &
 AB77� �� �?��7 ��  ;J �� A  %�A� <= �7? ��=�7 ��� �<?A A<7AB=�?����7 �� �� %7< �7<� 8
j   ?� !� A  �=��� �^�AA<"= O 8\ 8Z@ 6 �?�� �%7 S < �A<"= �? �� �?<�� ?< % �<?�� �= ��
?�=�<� �� = A =�� % ��7 ��? % �7�B7;�A< =�? �� �B d� ��� �<?A A<7AB=�?����7 KB� <=�BA� ��
<=��7�AA<"= ��  �7�� �=�7� ��?  �?�? ��� ?<?�� � =< � ? �#�A� ? �� �� �7�=?#�7�=A<� ��  �?� 8
I= �� c <!B7� E 8F ?� <�B?�7� �� �� �BA<"= A = �� #�?�  7;<��� �� �� �A7�A<"= �� ] =�< D m & ��
& ��  ;��=<��  ��<�=�� ��? ?< B��A< =�? ^�m 6 B=� ��$ KB� ?� !�= %7  ��<�� ��!B=�?
"7;<��? %�7� 7��BA<7 �� 7B<� ��� A  % 7�� <�=� 7�?B��� 7�!B��7 �B�! �� B=�? ∼ 30

"7;<��?
?< B����? �= � ���@ 8 U % �?�7 �� KB� �� �� �BA<"= ��

Ṁac(t)
� � ��7! �� �� "7;<��  B�?�7�

�%�7�=�� �=�� ��  <? � �<?% ?<A<"= ��  aS <  ? �= � ; ? A�? ? 6 � ? ��� 7�? %�7� �� ��?�
�� �A7�A<"= ��  �?� �<M�7�= = ��;�� �=�� �∼ 3

 7��=�? ��  �!=<�B�@ 8 � 7  �7 ��� 6 ?�
A 77<�7 = ?< B��A< =�? ��7<�=� �� 7��< �� �A7�A<"=

rac
6 �� � =�� ?� ���BA� �� %  ?<;<�<���

�� KB� �� % <A ��
Ṁac

�= �� % �7<�?�7 ?�� B= �#�A� A  %B��A< =�� �?%B7< 6 7���A< =�� A =
�� 7�? �BA<"= �� �� ?< B��A<"= 8 I� ?�!B=�  aS <  !�  �=��=<� ?B # 7 � & � % �<�B� 8

()*+,- . /� 1 �353 96 3T86T:R7 96 Q 353 L 
 K3 :@XO:6893 � 67 8�S:Q 67 96 �;79: � ?;WK6 V <8648;�
9OT:679; 2 38J� � �386965 G��=A L 
 K3 9686T�3 � :7P68:93 96 K35 5:QOK3T:;765 C�? <� ;Q 68; 6J 3K L
MII�A L C6 :79:T3 K3 P356 96 4353� 6 4 ;8 6K 4 68:35J8; L

� ? 7�?B���� ? �� ?< B��A< =�? �<=a <A�? <=�<A�= KB� �� % <A �= �� �� �BA<"= ��
Ṁac

6 KB�
 AB77� �= #�?�

φ ∼ 0.5
�7��7�?�� ��� % �7<�?�7 & �= # 7 � A <=A<��=�� A = �� ����AA<"= ��

TUC�j @ ?� ��; � � �� %7 %�!�A<"= �� B=�  =�� �� ��=?<��� �= �� �<?A A<7AB=�?����7 KB� �?
<=�BA<�� %  7 �� <=��7�AA<"= �� �7�=?#�7�=A<� ��  �?� 8 ^�  ;�<�=�

Ṁac ∼ 5.2 × 1016 g s−1 →
Ṁacc

2 ∼ 4.7 × 1037 �7! ?−1 6 KB� % �7d� %7 % 7A< =�7 �� %  ��=A<� =�A�?�7<� %�7� KB� ��
� <?<"=

γ
�  B& ����? �=�7! d�? �� �^ � �� \ �[� ?�� A  %��<; �� A = B= �?A�=�7< ��

 <A7 ABa?�7 ��J 8 ] ?A!LV�  = �� �� 8 Z[[�; 6 & g 7����=� D V  �7 Z[[E@ 8 � 7 �J � % � 6
�= B=   ��� !��7"=<A � =�� \[ � �� �� % ��=A<� �A7����� ?�� 7��<7<!<�� !�A<� � ? J ��? 6
& B= \[ � �� 	?�� A =?<?�� �� %7 � =�? 7����<� <?��? 6 B=� �?�< �A<"= ?�=A<��� ����� � B=�
�B <= ?<��� ∼ 8 × 1034 �7! ?−1 ��;<�� � <=��7�AA< =�?

pp
A = ��  ���7<�� KB� 7 ��� ��

 ;J �� A  %�A� 8
I � ��� 7 �= #�?�

0.5
�?
Ṁac ∼ 0.01ṁ

� =��
ṁ

�?�a �S%7�?�� �= B=<����? �� �� ��?� ��
�A7�A<"= �� I��<=!� = 8 ��7�

Ṁ < 0.05 − 0.1ṁ
�S <?��= ? �BA< =�? %�7� �� �BJ  �� �A7�A<"=

�9
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�  <=�� %  7 ����AA<"= ��<% U�Uc 6 ��7 ` �7�&�= �� �� 8 \99F@ 6 KB� �S% �<A�7d�= �� �	;<�
;7<�� �� �^ � �� \ �[� �= 7�& ? G 8

j�7A� ��� % �7<�?�7 6 ��� a? �� ?�7 �B� ? �� ��� 7 �� �� ��?� �� �A7�A<"= ��  �?� 7��� 6 � ?
�#�A� ? ��  %�A<���

γγ
�= �� A� %  7��<��<� �?����7 A<�7�� �=�� �<? <=B&�= �� %  ?<;<�<���

�� ����A��7 # � =�? e�> %7 ��=<�=��? �� �^ � �� \ �[� �B7�=�� �<A!� #�?� 8 I= V  �7 ��
�� 8 �Z[[E@ ?� %7�?�=��= � ? ��� 7�? �� %7 #B=�<��� "%�<A� 7�A��AB��� ? %�7� �� !�  ��7d� ���
�<?A A<7AB=�?����7 KB� ?�  ;�<�=� �� ��? ?< B��A< =�? ^�m ���7 c <!B7� E 89@ 8 I?�� �<?A �<�=�
B=� A� d�� �;7B%�� �= ?B % �7M � �� ��=?<��� 6 % 7 � KB� ?� A =?<��7"

Rdisk ∼ 0.2a ∼ 1.8R?

6
?<�=� 	?�� �� �<?��=A<� � �� AB�� �� ��=?<��� ?B% �7MA<�� 6

Σ
6 A�� �= B= #�A� 7

10−2 7�?% �A� 
���  aS <  8 ^� A =?<��7" �� �<?A A   B= AB�7%  =�!7 W� !�  ��7<A� �=�� ���!�� 6 A =
Tdisk

& AB&� � <?<"= �?
Ldisk ∼ 2 × 1037 �7! ?−1 8 � ? Aa �AB � ? %�7� �?�< �7 ��  %�A<��� ���

A� % 7��<��<� ��� �<?A A<7AB=�?����7 � �� %7 %�!�A<"= �� 7�& ?
γ
#B�7 = ���%��� ? �� ��

��?A7<% A<"= !�  	�7<A� ���� % 7 ] �Af�7 D P�#�� ? �\99:@ 8 ^�  ;�B� <�7 = ��� 7�?  �= 7�?
KB� �� B=<��� �

<∼ 0.5
@ 6 % 7 � KB� �� %7<=A<%�� #B�=�� �� �;? 7A<"= �? �� A� %  7��<��<� ��

�� �?�7���� 8 j�7A� ��� % �7<�?�7 �� %7 #B=�<��� "%�<A� %�7� # � =�? A = �=�7! d�
Eγ ∼ 1

e�>
��A�=$�

τ ∼ 2
8

I= ��M=<�<�� 6 V  �7 �� �� 8 �Z[[E@ %�7�A� �7!B �=��7 �= #�� 7 �� B=   ��� � =�� ?�
%7 �BA� �� �A7�A<"=l�&�AA<"= ��  ���7<� %  7 %�7�� ���  ;J �� A  %�A� �= �^ � �� \ �[� 8
^ <= � ;�7! 6 �� ��;��� = KB��� A�77�� & ?� �?% �7� KB� � ? ��� ?  ;?�7��A< =���? KB�
X
? \ u \b_ [ak h^[agbk aueb_\`ak Z^g^

Σ(r)
Z^gb]b_ \_`\]^g sfb ea`a b[ `\k]a bk aZe\]^c b_eb `b[x^`a ^kf ZgaZ\^ bc \k\l_ yj Zag e^_ea [ak saea_bk _a bkex_ ebgc ^[\�^`ak i hbg nagebg z{{{~ i b [ ]x[]f[a `be^[[^`a`b [^ bc \k\l_ `b[ `\k]a ]\g]f_bkeb[^g _ak ^[bz ^u^ `b[ h^[ag sfb \_tbgb_ 2^k^gbk be ^[ m y}44�u ~ m q k Zag bkeasfb kb aZel Zag f_^ ^Zgar \c ^]\l_ `b ]fbgZa _bxga i j^ sfb `b ea`ak ca`ak [^k k\cf[^]\a_bk gb^[\�^`^k kb]a_]b_eg^u^_ b_ [^ `\_xc \]^ `b[ x^k j _a bg^_ e^_ ]a_t^u[bk gbkZ b]ea `b kfk ZgaZ\b`^`bk `b bc \k\l_ m

E[
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%7 S < � �=�� %7 ���= UC��I & C�U ^e ?��= �� #B=�� �=��� �&B�� %�7� �<?A�7=<7 ��
=��B7���$� �� �?��  <?��7< ?� #B�=�� 8

����������	
 ��� 
 q_ xb_bg^[ i [^k k\cf[^]\a_bk ?n= yk\x [^ `b �������� �������� ���������� ���~
kb fe\[\�^_ Z^g^ ca`b[^g ;fz ak y\`ga`\_xc \]ak i \_ ][fjb_`a bsb]eak xg^h\e^]\a_^[bk m q keb c dea`a `\h\`b ^[
;f\`a b_ f_ ]a_zf_ea `b b[bc b_eak `\k]gbeak i Z^ge <]f [^k ]a_ kbZ^g^]\l_ bkZ^]\^[ t_ \e^

h
y[[^c ^`^ o ��   !" #$%

&'$% !"r~ kaugb [^ ]fx[ [^k ZgaZ\b`^`bk ka_ o kf^h\�^`^kr Zag f_^ sf_]\l_ _(][ba
W
y) '*$'&~ m q kea y^]b sfb

]f^[sf \bg ]^_e\`^` s<k\]^ `b f_^ Z^ge <]f[^ kb Zfb`^ ]^[]f [^g kfc^_`a [^k ZgaZ\b`^`bk gb[bh^_ebk `b ea`^k
[^k `bc xk Z^ge <]f[^k i Zbk^_`a [^ ]a_eg\uf]\l_ `b ]^`^ f_^ `b ^]fbg`a ^ kf `\ke^_]\^ ]a_ [^ Z^ge <]f[^ sfb
\_ebgbk^ m � \]ya Zbka bk b[ sfb bkex xaubg_^`a c ^ebc xe\]^c b_eb Zag [^ sf_]\l_

W
i sfb kfb[b kbg `b e\Z a

w^fkk\^_^ a o kZ[\_br mnag bz bcZ[a i Z^g^ aueb_bg [^ ]^_e\`^`
A

`b [^ Z^ge <]f [^
i
i

Ai(r) =
∑

j

mj
Aj

ρj
W (ri − rj , h),

`a_`b
mj

bk [^ c^k^ `b [^ Z^ge <]f[^
j
j

ρj

[^ `b_k\`^` ^ka ]\^`^ ]a_ b[[^ m ?fb[b tz ^gkb f_ ]g\ebg\a Z^g^
sfb

h
kb^ ^`^Ze^`^ Zag b[ Zgaxg^c ^ `b ca`a sfb [^ gbka[f]\l_ bkZ^]\^[ kb \_]gbc b_eb b_ �a_^k `b c ^jag

`be^[[b m q ke\c ^`^k [^k ZgaZ\b`^`bk y]a_e <_f^k~ `b[ ;f\`a kb Zfb`b kbxf\g kf bha[f]\l_ i sfb bkex `ac \_^`^
Zag b[ ]a_z f_ea `b b]f^]\a_bk y\`ga`\_xc \]^k j ebgca`\_xc \]^k sfb ]aggbkZa_`^ m n^g^ bkea ( [e \c a i kb tz ^
e^cu\d_ f_ Z^ka ebcZag^[ m

E\
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m �?�� �KB d ?� !�= A� �=���� ��? A�7�A��7d?�<A�? �� B=  ����� �� � <?<"= !��7"=<A�
�%7< �7<�@ %�7� T_ ? �� �7�=  �?� 8  �? %7� A�?�? KB� ��= �B��7 � � <A!� � <?<"= ��=�7�=
�� ;<	= % �; ��A<�=�? ��%�"=<A�? �?�AB=��7<�?@ AB&� 7�� <�A<"= !� �? <=��?� <���� 8 ��7 B=
���� 6 & A�=  �&�7 ��=�7��<��� 6 ?� %7��BA� � <?<"= ��%�"=<A� �� ��?�77����7?� A�?A���? ���AL
�7� ��=	� <A�? �= �� A� %� 7�� <��<�� �?����7 6 �� � ��� AB�� ?� �7��" �= �� j�%d�B �� ! 8 ��7
��7� ���� 6 ��? <=��7�AA<�=�? <=��a?� <A�?

pp
��= �B��7 � �� A7��A<"= �� =�B�7<=�? & ��%��=�? 6 �

�7��	? �� ��? ��A� < <�=��? �� ��? % <�=�? A�7����? &  B�=�? 8 I= ������� 6 %�7� %7���=�? A�=
�=�7� d�  �&�7 KB� �� B ;7��

Eth = 1.22
C �> 6 � %�7� <7 �� W

p+ p→ p+ p+ ξπ0π0 + ξπ±(π+ + π−)
��=��

ξπ
�? �� A�77�?% �=� <�=��  B ��<% �<A<��� �T �==!�< �=� ^A! �<Af�<?�7 \99O@ i

ξπ ' [(Ep −Eth)/GeV]1/4,
�F 8\@

� <�=�= �B��7 ��? ��A� < <�=��? i
π+ → µ+νµ → e+νeν̄µνµ π− → µ−ν̄µ → e−ν̄eνµν̄µ π0 → γγ.

�F 8Z@
I= �� a ;<�� �� B= T_ !��7"=<A� 6 ?� ��=�7� �?d B=� %�; ��A<"= �� %�7�? ?�AB=��7<�? KB�
KB��� A�=M=��� ��=�7� ��� J �� ��;<�� � �� %7�?�=A<� �� A� %�?  ��=	�<A�? 8 I?��? A� % �?
?�= %7�;�; �� �=��  B& �B7;B ��=��? 6 % �7 �� KB� �? �"� <A� ?B%�=�7 KB� �= ?B  �� < <�=��
��? %�7�? ?�= 7�% <�� �=�� <?��7�% <$���? ��?%B	? �� !�; �7 ?<�� A7����? 8

T <�=�7�? KB� �� � <?<"= %7< �7<� ?� �S �<�=�� !�A<� ��? ����? �=�7� d�? � %�7� <7 ��
Eγ >∼ 1C �> 6 � �=�7� d�?  �=�7�? �? �� � <?<"= ?�AB=��7<�' �� KB� �� <=� �� �?% �A�7� 8 I? �= �?��

7�=�� ��� �?% �A�7� ��=�� %B��� ;B?A�7?� �� <��=A<� ����7=�� <�� �� ��? %7� A�?�? !��7"=<A�?
%�7� 6 �= h �� < � <=?��=A<� 6 �7���7 �� ����7 <=�7 �� A�=��=<��  ���7<�� �� ��? J ��? 8

XYf_sfb c b_ak Zgau^u[b i Zfb`b a]fgg\g e^cu\d_
p + p → p + n + π+ + X

j
p + p → 2n + 2π+ + X

i`a_`b
X

bk f_^ a h^g\^k Z^ge <]f[^k sfb b_ ]a_zf_ea ka_ _bfeg^k m �eg^ ]acZa_b_eb c b_ag gbkf[e^ `b [ak]^_^[bk sfb \_ha[f]g^_ c bka_bk Zbk^`ak i
η
j 3^a_bk mpYsf < _a kb y^_ ]a_k\`bg^`a [bZea_bk Zg\c ^g\ak i Zbga b[ ]^ka gb^[ Zgau^u[bc b_eb kb^ f_^ c b�][^ m

E"
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 � A<=� a� <A� �� ��? ��A�< <�=��?  �=A<�=���? #B� ��<� <=�� �=�� �?�B� <��� �= �������
%�� C<=$;B�� D ^& �����?f << �\�!O@ � ���� B= �BJ � �� %����=�? �����<� <?��? KB� ?<�B� B=�
��& �� %���=A<�? �

Jp(Ep) = KpE
−αp

p
� ��? % <�=�? A������? & �B��� ��? ��%��=�? KB� ��?B ���=

�� �� <=����AA<"= A�= %����=�? #�d�? � ?<�B�= �� ;<	= ��&�? �� %���=A<�? � I � d=� <A� �?% �A����
�� �� � <?��<;BA<"= �� % <�=�? �?

απ ' 4

3

(

αp −
1

2

)

,
�F �"@

KB� %���
αp

A��A�=� � Z %���BA�
απ ≈ αp

�  �? ��%��=�? ��?B ���=��? A�=?����= ��  <? �
d=� <A� i

α± = απ

� & �� ��� dAB �� A<���� ;�<=�� �S%��?<�=�? KB� ����A<�=�= ��? A�=?��=��? ��
=�� ��<$�A<"= �

I= �?� < �A<�=�?  a? ��A<�=��? ?� !�= A�=?<������ ��? %�� A�?�? �= B= ��=��  a? � % �<�
�� �=��� d�?n � P ��=�� �� �� � �Z[[!@ !�= �;��=<�� �S%��?<�=�? %��� �� ��?� �� <=&�AA<"= ��
%���? ���%��=�? %�� B=<��� �� �=��� d� � ���B �= & �<� %� @ �= #B=A<"= �� �� #��AA<"= ��
�=��� d� ���=?#��<��

x = Ee/Ep

� ^ < �� ��=?<��� =B 	�<A� �� %����=�? ; ��=A� �?
n(r̄)

� ?�
� <�=�

qe(Ee, r̄) = c n(r̄)

1
∫

0

σpp(Ee/x) Jp(Ee/x)Fe(x, Ee/x)
dx

x
,

�F �O@
��=�� �� ?�AA<"= �MA�$ <=��a?� <A� �� ;<	= !� ?<�� %��� ���<$��� %�� ��? �B����? i

σpp(Ep) = (34.3 + 1.88L+ 0.25L2) ×
[

1 − (Eth/Ep)
4]2 mb.

�F �:@
I= �?�� �S%��?<"=

L = ln(Ep/1 TeV)
� I � �?% �A��� �� ��%��=�? ��?B ���=�� ��� ��A�< <�=��

π → µ νµ
�?
Fe(x, Ee/x)

& %���
Ep

>∼ 0.1
e�> &

x >∼ 10−3 KB��� ��?A�<%�� %��

Fe(x, Ep) = C1(Ep)
(1 + C3(Ep)(ln x)

2)3

x+ 0.3x(1−C2(Ep))
(− ln(x))5 ,

�F �!@
��=��

C1(Ep) =
1

69.5 + 2.65L+ 0.3L2
,

C2(Ep) =
1

(0.201 + 0.062L+ 0.00042L2)1/4
,

C3(Ep) =
0.279 + 0.141L+ 0.0172L2

0.3 + (2.3 + L)2
.

�F �E@
I= =B�?��� <=��?� <��A<"= � �� �% �<A�� �?�� �%��S < �A<"= � �� �?% �A��� �� ��? ��%��=�? ��?B �L
��=��? %B�� ��?A�<;<�?� A� � B= �?% �A��� �� ��& �� %���=A<�? � %��� B= �?% �A��� ��<� <=�� ��
%����=�? KB� ?<�B� �� ;<	= B=� ��& �� %���=A<�? �
�Aak ]x[]f[ak `b � b[_bg be ^[ m y}445~ \_ha[f]g^_ \_ebxg^]\a_bk _fcdg\]^k cfj ]acZ[bz ^k `b [^k kb]]\a_bkbt ]^]bk `\sbgb_]\^[bk c b`\`^k b_ ^]b[bg^`agbk `b Z^ge <]f [^k i j gbkf[e^`ak aueb_\`ak c b`\^_eb k\cf[^]\a_bk_fc dg\]^k `b \_ebg^]]\a_bk

pp
m Aak ^feagbk ufk]^ga_ ^Zgar \c ^]\a_bk ^_^[<e\]^k sfb Zgahb^_ f_^ Zgb]\k\l_g^�a_^u[b m

EO
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I= ��=���� � �� ����BA �"= �� B=� % �� ��A�"= �� %���dAB ��? KB��� ��?A��%�� %�� B=� �AB�L
A �"= �� � �#B?�"= ��J �  �=���� \��O@ %��� �� ��=?���� =B 	��A�

N(E)
�� %��� dAB ��? A�=

�=��� d� �= �� ��=��
E

�
E + dE

�

− dN(E)

dt
= −D∇2N(E) − d

dE
[b(E)N(E)] − q(E).

�F �F@
I= �?�� �AB�A�"=

D
�? �� A��MA��=�� �?A���� �� � �#B?�"= �

q(E)
A�=���=� �� 	�	� �=� ��

#B�=��
 KB� �� AB�=�� �� �� %���BAA�"= �� %��� dAB ��? A�= �=��� d�
E
& % �?�� ��? 	?B �����?
 �

&
b(E) = −(dE/dt)

�? �� ��?� �� % 	�� ��� �� �=��� d� � I? A ���� KB� ��? #B=A ��=�?
b(E)

&
q(E)%B���= ?��  B& � �#���=��? ��% �=� ��=�� �� �� =��B����$� �� ��? %��� dAB ��? A�=?�������? �

���� B= �?���� �?��A��=���� �
∂N(E)/∂t = 0

� c�� �� �=�� � �� �AB�A�"= �F �F@ ?� ��?B���� �
����	? ��� B?� �� B=� #B=A�"= �� C ���= �

I= �� A�=��S�� KB� =�? �=����?� #B�  a? A�=��= ��=�� �� �=�����A �"= =B 	��A� � �� �� ��=��
�� J �� �= ?�AA��=�? A ��d=���A�? �� ���B��

∆z
� A�= �� �H� ���BA ��� ?BMA ��=�� A� � %���

A�=?������ KB� ��? A�=� �����? #d?�A�? ?�= B= �#�� �? � I= ��� A�?� � ?� �=B �� �� �% ������ ∇2& =� � ��=� ������=A �� �� A� �MA ��=�� �� � �#B?�"= �  � � �?����BA �"= �� %���? �=&�A����? ?� ���a
�#�A����  �&�� �=�� %�� % 	�� ���? �=���	� �A�? ������? � �� � �?�"= �j & ?�=A����"= � ��� a?
�� ��? % 	�� ���? �?� A ����? � �� �S%�=?�"= �� ���a� �A� �  � ��?� �� % 	�� ��� �� �=��� d� ���=�
��? �	� �=�?

−
(

dEe

dt

)

sincr

=
σT

4πm2
ec

3
B2E2

e

−
(

dE

dt

)

IC

' c σT Uph

(

E

me c2

)2

−
(

dE

dt

)

exp

' 2

3

vexp

Rj(z)
E,

�F ��@

��=�� ?� �=����BJ � �� ?�AA �"= �MA�$ �� e!� ?�=
σT = 8πe4/3m2

ec
4 ≈ 6.65 × 10−25 A 2 � &�� A� %�  ��=	��A� ?�  ��� �= C �B?? �  � ��=?���� �� �=��� d� �� ��? #���=�? �?������? �?

Uph = L?

4πcd2

� ?��=��
d
�� � �?��=A�� ��?�� �� �?������ &

L?

?B �B �=�?���� � � �= �� h �� � �
�S%��?�"= �

vexp = dRj(z)/dt
�? �� ���� A ���� �� �S%�=?�"= ������� ��� J �� �

��� ?� % ��A ���� � ?� ��?%��A ��= �#�A��? �� ��L�A�����A�"= � U B=� ���� ���B��
z
�= �� J �� �

A�=��=B� �=�� �=���?�= =B���? ���A���=�? & %�?����=�? 	 #��?A�?
 � B=� ��?�
qe(Ee, z)

� ���
���� ���� � !�= ���=$��� !�?�� ���d ��? KB� %��� ��=�= �� ���B��? �=#������? & AB&� �?% �A���
&� !� ?���  �� �MA��� % �� ��? % 	�� ���? �� �=��� d� � ^�  �$A ��= �?d %�� ��A ��=�? KB� !�=
	����BA ��=���
 �= � �?� �=�� ����� � ���� �����$�� B= Aa �AB �� A�=?�?��=�� � ?� �H��� B=� �AB�A �"=
�� A�=��=B ����

Ne(Ee, z)dEe = N0,e(E0,e, z0)dE0,e,
�F �\[@

��=�� �� % �� ��A�"= �= �A ��� �� %��� dAB ��? �=&�A����? �?
N0,e(E0,e, z0) = K0,eE

−αe

0,e

�

E�
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���� �% ��A�� �?��  ����� �= B=� A�=M�B��A �"= ?� % �� � !� �? A�=?������� B= �?A�=����
?� ���� �� ���%���� �= V� ��� �� �� � �Z[["@ � ��=�� �� T_ � ��=� B=� "����� A��AB ��� & ��
� ��=�� �?����� � ��=� ��� ���d� �?#	��A� �  �? %��a ����? ���%����? %��� �� ?�?�� � A����?L
%�=��= � ��? �� j&� GL \ � KB� ?B��� A�=?������?� A� � �� T_ ��KB�� d% �A�� � I?�� ?�?�� �
�?�a #�� ��� %�� B=� �?������ �� ∼ 30

T
�

& B= ��BJ ��� =���� �� ∼ 10
T

�

�
���� �� Aa �AB �� �� �� � �?�"= !���"= �A� %�� ���� ?� %�� A�� �" �% ��A�=�� ��? �S%��?��=�?

�� �� ^�AA �"= � �Z � MJ �=�� ��? ������? %��� �� %���=A�� �� %����=�? ����� �� �?��? �
Lrel

p

�
Qj�= �� =���A �"= �=������@ � %��� A�=?������ ��? A�?�? KB� ���B �� �? U & ] � I?% �AdMA� �=�� �

?� A�=?����"
Lrel

p = 6 × 1036 ��� ?−1 %��� �� T ����� U � &
Lrel

p = 6 × 1035 ��� ?−1 %��� ��
T ����� ] � I?��? ������? ?B���= �� MJ �� �� % ���=A��

Lrel
p

A� � B=� #��AA�"= A�=?��=��
η
��

�� �B �=�?���� �� I�� �=���= ��� ��J ��� A� %�A�� 
 ?��=��
η = 0.005

�= �� T ����� U � &
η = 0.0005

�= �� ] � I= �� c ��B�� F �\ ?�  B�?��� �� �B �=�?���� %�� ���� ��=����� � ��
����� ��� J �� ��=������� �=

z
@ � %��� � �#���=��? � ���AA ��=�?

θ
��?% �A�� ��� �J � ��� J �� � ����

����=�� �?��? ������? ?� !� B� ���$��� �� �%��S � �A �"= �� �� #B=A �"=
δ
%��� A��AB ��� �� ��?�

�� %���BAA �"= �� % ��=�? =�B���? � & ?� B����$" �� �S%��?�"= �F ��@ %��� �� ?�AA�"= �MA�$
pp
�

I= �� AB���� % �KB�H� ?� ���MA" �� #�A��� �� ���� 	
R �
L(θ)/L(θ = 0)

KB� �? �=��% �=� ��=��
�� �� �=��� d� %���

Eγ >∼
\[ C �> �  � ��=?���� �� %����=�? � ��=A� ��� � ��=�� � �= #B=A�"= ��

�� � �?��=A��
r
� �� �?������ ?� ���B�� � ����	? �� �� �AB�A�"= �� A�=��=B ���� � ?��=��

n(r) =
Ṁ?

4πmpv∞r2(1 − R?/r)
,

�F �\\@
��=�� ?� A�=?����"

Ṁ? = 3 × 10−6 T
�

&�−1 & v∞ = 2000
f ?−1 �

I= �� c ��B�� F �Z ?�  B�?��� ��  �� �MA�A �"= � �� � �?����BA �"= �?% �A���� KB� ���=� �B���
������ �� ��?������� �� A�?A���? ���A��� ��=	� �A�? �= �� A� % � ��� ������ �?����� �

T? = 3×
104 P �

R? = 15
V

�

@ � UKB d ?� !� A�=?������� KB� �� ?�?�� � ���=� B=� �=A ��=�A �"=
i = 30◦

� &
?� ?��B �" �� A�=��=A�"= �� #�?� B� ���$��� %�� ^$�?��f D ��$���?f � �Z[[E@ %��� j&� GL\ � j� �
%B=�� ��%��?�=��� ��� %��� �� �=���?� ��� �?% �A��� %�� ���� �=&�A���� ?� B� ���$" B=� ���B��
z = a/2

� `�? !� �? �� �� ��� �� A�?� �= KB� �� A� %�  ��=	��A� �?����� �? ��J � �
<∼ 1

C@ �= ��
��� �"= ��=�� ?� ��?�������= ��? A�?A���? � �?��B��=�� KB� ��  �A�= �? � �j �? �� KB� �� �=�
��? �=����AA��=�? ��%�"= �A�? �= ���� �� ��=�� �� �=��� d�?
 � ^� � % �� �=����= ?� B ��A ��=�?
T �=�� j���� ?� �����? � ��? �=��? ��?A��%��? � b=� ��$  a? � ?� ��B?��� �� �#�A�� �?�=A ��� ���
��?������� �� ��? A�?A���? ���A��� ��=	� �A�? %��� �� ��� �?����BA �"= �� �=��� d� � �B �=��=��
�= #�� � =������ �� �B �=�?���� � �=��� d�?

Eγ <∼ 100
T �> �  �? ��?B �����? ����= ���?

1 A^ bc \k\l_ x^cc^ ^ cfj ^[e^k b_bgx <^k `b 2jx � p z sfb `beb]e^`^ gb]\b_ebcb_eb Zag @Yw v2 yY[ubgeb[ ^[ m }448~ m �b yb]ya i [^ `beb]]\l_ j h^g\^u\[\`^` kb ^_f_]\^ga_ ]f^_`a _fbkega eg^u^z a j^ kb b_]a_eg^pu^ b_ gbsbg^ea m �a sfb _fbkeg^ \_eb_]\l_ Zgb`b]\g b[ ]acZage^c \b_ea `be^[[^`a `b bke^ sfb_eb i k\_a sfbk\cZ[bc b_eb sfb b[bx \`^ ]aca ]^ka `b bkef`\a m6�aebkb sfb f_ ]^cZa c ^x_de\]a ca`bg^`a i
∼ 1

w^fkk i bk kft]\b_eb Z^g^ \_y\u\g b[ `bk^gga[[a `b [^k]^k]^`^k m 2x[]f [ak `b bc \k\l_ Zag b_ sg\^c \b_ea k\_]gaegl_ `b [ak Z^gbk \_jb]e^`ak Zag ^ukag]\l_
γγ

y^_k\`a gb^[\�^`ak Zag �y^_xf[j^_ be ^[ m y}448~ m
E!
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Model B

 phase 0
 phase 0.25, 0.75
 phase 0.5 
 injected L ∝ E0.06

()*+,- � /� 1 BOQ :7;5:939 :5;J8R4:T3 865OKJ37J6 96K 48; T653Q :67J; 4 ;8 T35T3935 6K6TJ8;Q 3S7�J:T35
96 K3 6Q :5:R7

γ
48:Q 38:3 67 6K T3Q4 ; 839:3J:�; 65J6K38 L C6 39;4JR O73 :7TK:73T:R7

i = 30◦
V W K3

P356 ;8� :J3K J:676 T;Q ; 86P6867T:3
φ = 0

67 K3 T;7�O7T:R7 5O4 68:;8 <65J; 65 T;7 ;� � 6J; T;Q43TJ;
96J8�5 96 K3 65J86KK3A L

^� �����$" B= Aa�AB �� A�=?�?��=�� �� �� ����BA �"= �� �� %�� ��A �"= ��%�"= �A� ��=�����
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��=��� �� ��? J ��? %�� �� ��A� � ��=�� �� % ��=�? A������? � ���� �?�� � ?� %�� A�� �" ��?��� ��=��
�� �AB�A �"= � �#���=A��� �� % 	�� ���? � A� � ?� A� �=�" �= �� ?�AA�"= �=������ � I?�� ���%�
�� A� %B�� =B 	��A� #B� ��?��������� % �� �� ��B% � �� ����? �=��� d�? �� �� b= ����?����
�� ]��A���=� � A�= �� AB�� !� �? A���� ����� � `B�?���? Aa �AB ��? ��? %����&���= �� �� ��?�
�� �=&�AA�"= �� %���? ��� ��% �=��=A�� �= �� a=�B ��

θ
?� �=����" @ & ?� ���B��

qe(Ee) ∼
3 × 1028(Ee/eV)−1.92 ��%��=�? ���−1 ?−1 A −3 �= �� ��?� ��� J �� � %��� �� T ����� U �B=
����= ��  ��= ��B�  �=�? %��� �� T ����� ] @ � ^� A�=?����" %��� �� A� % �  ��=	� �A�

B0B= \[ � ��� ����� �� �KB �%����A �"= �= �� ��?� ��� J �� � ?��=��
B0 = 105

C �T ����� U @ &
B0 = 104

C �T ����� ] @ � ��� ?� % ��A ���� %��� ��? ��?  �����? ?� MJ " B=� ?��� �=��� d�
 aS � � �� ��? %����=�? ����� �� �?��? �

Emax
p ∼ 100

e�> � ?��=��
Emax

e ' 0.04Emax
p

�
 � � �?�"= �?% �AdMA� �� ��? ��%��=�? ��?B ��� ��� %�� A�?� ?�=A����"= �= %��?�=A �� ���

A� %�  ��=	� �A� A�=?������� �
B(z) = B0(z0/z)

� & ��� ��A�"= �j % �� �=����AA�"= A�= #���=�?
�?������? �  �? A��MA��=��? �?% �A dMA�? �� � �?�"= ?�=A����"= �

jε(z)
@ & ��?��A �"= �

kε(z)
@ ?�=

��? ����? %�� ��A!��A$&f �\�E[@ � I= �� ?�?�� � �� ��#���=A�� ��� J �� ?� A��AB �"
dLε(z)

dz
= 2πRj(z)

jε(z)

kε(z)
× [1 − exp(−ljkε(z))],

�F �\Z@
��=��

lj ∼ Rj

�? �� �� �H� � d% �A� �� �� ��� �"= � �?��� � &
ε
�? �� �=��� d� ��� #��"= �=

B= �����? ��
mec

2 � I � A� % ���� ��=�� ��
dLε(z)/dz

A�= �� ���B�� � %��� �� � �?�"= ��� �� �=
B= A�?� ?� ���� � !� ?��� ���MA��� �= ]����? �� �� � �Z[[E@ � �=�����=�� � �� ����� ��� J �� ?�
�����=� �� � �?����BA�"= �?% �A���� �� �=��� d� KB� �= �� ?�?�� � �� ��#���=A �� ��� ��?�������
�?

Lobs
syn = ε

∫ zmax

z0

D2dLε

dz
dz,

�F �\"@
��=��

D
�? �� #�A��� �� ��%% ��� KB� !� �? ��M= ��� �= �O �E@ i D = [Γ(1 − βb cos θ)]−1 � ^�A��AB �� �� � �?�"= !�?�� B= �����

zmax

� KB� �? ���B=�? ��A�? �� �� �H� ��� ?�?�� � ��=���� �
���� �� � �?�"= �j � ?� !� A�=?������� �= B=� %�� ��� �%��S � �A �"= KB� ��? % 	�� ���?

�� �=��� d� � AB���= ?�� %�� �= �� ��� � �= �� e!� ?�= � A� � �� �=� �A� �� �S%��?�"= ����
�= �F ��@ � I?�� ?� #B=�� �=�� % �� ��? !�A!�? � I= %�� �� �B��� � �� �S%��?�"= ��=���� %���
��? % 	�� ���? �j ���� %�� U!���= ��= D U��&�= �\�F \@ �B���� �= �=�J �� �� �� �AB�A �"= ��
% 	�� ���? %��� B=� ��?��BA�"= ?� �L�=��d� �A�� � A� � �� KB� ?� � % �� �=�" � ��� ���� ���� �
?� � ��= � �=��� d�?

Ee
>∼ 10 − 100

C �> ��? � �?% ��?��=�? � ��=�= �B��� �= �� ��� � �= ��
P ���=L` �?! �=� A�= ?�AA�"= �MA�$  �=�� � �?�� !�A!� ?" �� �#�A�� �� �?% �A��� �j � �� ��� �
��? �=��� d�?  a? ����? �KB d A�=?�������? � ��=�� �� � �?�"= %�� ���� �% ���� �� �	� �=�
�� �=�=�� ��%�=�� %�� A� % ���� � �� ?�AB=����� � U�� a? � ��  �&��d� �� �� � �?�"= ?�
��=��� �= ��? %��S � �����? �� �� ��?� ��� J �� � ��=�� ��? % 	�� ���? �=���	��A�? %��  �A�= �? �
?�=A����"= ?�=  a? � %����=��? KB� ��? �j & ����� �=�= �� ����BA �"= �� �� % �� ��A�"= ��
%���? �

 � c ��B�� F �"  B�?��� ��? � �?����BA ��=�? �?% �A�����? ?�=A����"= � �j ����= ���? � I � A�=L
J B=�� �� %��a ����? ���%����? % �� �� �" ��B?���� �� � %�A�� ��� ����=A� �=��� ��? % 	�� ���?

9@ \b_eg^k sfb k\ bk gbka[fu[b [^ b]f^]\l_ \_][fjb_`a
−
(

dEe

dt

)

= AE2+B E,
`a_`b

A
j

B
ka_ ]a_ke^_ebk m

EF
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�=���	� �A�? �j & ?�=A����"= �  � �B �=�?���� ?�=A����"= ��A�=$� ������?
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()*+,- � /� 1 � :5J8:�OT:R7 654 6TJ83K 96 6768S �3 ;8:S:7393 4 ;8 43865 56TO7938:;5 967J8; 96K � 6J
<� 86KK373 6J 3K L MII�A L

 � A�=����� ����� �� �=��� d� ��� ���� % �� ?�AB=�����? � �=���BA����? �= ��? A�?A���? &
��=��� ��� J �� �? A� %���� �� � �� � �?�"= %�� ���� ��?B ����� ��� ��A� � ��=�� �� % ��=�?
=�B���? � �B��� A� �=���?� �� ����A��������� �� �� � �?�"= � AB�=�� ?� �?B � B=� � �?��=A ��
� d% �A� ∼ 2

f% A i
I= �� ��=�� �� ��� �� #��AB�=A ��? � �� �?% �A��� %��?�=���� �?  a? ���= �B�� & %�����
B= �BJ � �� � �� ?B � B=� #��AA�"= ��  N&� ?��=�� ?" �� B=� %���� % �KB�H� �� �� ?�H��
����A���� �= T_ ? �= �� �?���� ��� ����� ��J � ∼ 15

 N& %��� j&� GL \ � �����& �� �� �
\���@ � ^ � �� A�=����BA �"= �� ��? ?�AB=�����? %B� ���� � �?� �=�B ��?� � �= ���� ��?��BA �"=
�=�B ���  �?����d� �� #�� � ��� J �� � ������� %�� B= !��� �� � �?�"= KB� �? �� ��?B �L
���� ��  a? ��J �? �=��� d�? KB� ��? A��AB ����?@ ��� ��%�� A�?� ��=�� % �� A�?A���? � U �
%���A�� � ?� !�A� =�A�?���� �=��=A�? �� %��?�=A�� �� B=� % �� ��A�"= �� ��%��=�? %�� �L
���? %��� % ���� �S% ��A�� ��? �BJ �? ����A����? �= ��� �� � ^ �= � ����� � ��? ��%��=�? KB�
=� ?� !�= �= #����� % �� A� % ���� & �����= ���J ��?� ��A�=$�= ��� ��=�? �� A�=� �A ��=�?
 a? ����J ���? �A� % �?  ��=	� �A�?  �=���?@ A� � %��� A�=� �=B�� � �� ��=�� �= ��� �� �
U�� a? � =� !� �? A�=?������� �= =B�?���? Aa�AB ��? �� %�?�� ������ �� KB� ��? ��%��=�?
?��= ���A�������? � �� ����� ��� J �� � �� AB�� % ���d� %��������? �� �� �=��� d� =�A�?����
%��� �S% ��A�� �� �?% �A��� =� �	� �A� ����A���� � e�� %�?�� ������ �?�B��  a? ���a ��
��? ?B%�?�A ��=�? !�A!�? �= �?�� �����J � � % ��� ���=�� B=� ���A!� �=����?�=�� %��� ?��
�S% ������ �= �� #B�B�� �

E�
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I= ��&�? G � �� � �?�"= ��=����� % �� ��? ��%��=�? ?�AB=�����? %���d� ?�� ����A����
%�� ��? �=?��B �=��? �A�B���? � % ��� �? %����� �� KB� �� � �?�"= ���� �=��� %�� �� � �?A�
�� �A��A �"= &l� �� A���=� ����B� � �= �?A���� !�?�� A ����� %B=�� �?�� A�=����BA �"= �
 � �B �=�?���� ����= ��� �= ��&�? G �B��? %���A� =� ?�� ?BMA��=�� %��� �S% ��A�� ��?
�BJ �? ����A����? �= ���B=�? T_ ? � ^�= � ����� � �B= =� �? A ���� ?� � �A!� ��� ��A�"=
���=� B= �����= �	� �A� � =� �	� �A� ���� �J � T ��f�� �� �� � Z[[� 
 T �AA���=� Z[[� 
 &
�� ��	= � ]�?A!LV � �= �� �� � Z[[!A@ �
 � ��� ��A�"=

γ
�= �� ��=�� T �> %���A� =� ?�� ��?%��A ��� �� � ��A�=$�=�� �B �=�?�����?

∼ 1033 ��� ?−1 � I?�� ����� �? �h= ��J � %��� ?�� ����A���� �= B=� �?A��� �� � �� % �
��$�=�� �� � A�= ��? A�%�A�����? �� ��? �=?��B �=��? �A�B���? � U �=��� d�?  a? ����? �
�� ?��	 ���� C U ^e � ����?A�% ��? j!���=f�� % ���d�= ����A��� �� � �?�"= �� �� #B�=�� �
A�= ?B �?% �A��� ?B��� ������ �� ��%�� A�?� ��=�� % �� A�?A���? �

�=A �B?� �= ��  ��A� �� B=  ����� ?� % �� A� � �� KB� ?� !� �S%B�?�� � ?� !� �=A�=���� KB�
�= ���B=�? ��=��? ��� �?% �A��� ���A��� ��=	� �A� �� � �?�"= %��?�=�� ������������ � TBA!�?
#�A����? %B���= ������ � �= A�?�? �?% �A dMA�? � � �����A ��=�?  a? A� % ��J �? ��J � ]�?A!LV� �=
�� �� � Z[[!�@ � ��� �J � % �� � ?� % �� �=�� ������ � �� �SA�=���A ���� �� �� "����� ��� ?�?�� � �
%B��� �=�BA ��?� B=� ��?� �� �A��A�"= ��  �?� ������ �� �A� � �=  ^ � �! \ "[" @ � T a?
� %����A �� �� � �� =��B����$� ������ �� �� ��? � ��=��? �?������? � ?B #���� �� !� ���=�����
�� ��	= �#�A�� �� ��?� �� �A��A�"= � g ���? %�?�� ��? A� ���? %B���= ��� ��?� � �� %��A�?�"=
�� ��? J ��? AB�=�� =� ?�= % ��% �=� �AB ����? �� % ��=� �� �� "����� ��J � P �B # �= ] ��=��" ��
�� � Z[[Z@ �

F[
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� � �� � �� ��� � ��� & �� % ��=� ������� �� �= T_ =� ��= =�������� �=�� % ��% �=� ��� ����� �
��=��� % �� �� % ������� �= ����� ��� ��"����� �� ����� ��%�=�� ��� �� �� ��= � �� � �= ���
����� �	%������ !���� ��� d � � � !��!� � T ������=� �Z[[Z
 �� ����" ��� �= ����� � ��=����� �
�� ������ �� � �� % � =�������� %��� ��� �� %����$�� �� ���=�� ��=�� �=��� �� �% �= �� �=
���� ��� =���� & ��  � �=�� �=�� ��� ������� �� =�� �� �=��  �&�� ��� �� ��� %� �� � ���
�� �� %��% �� ��=���� W � U�� a� � �#����� ��  ���� ����� �� � ���� �� ����� �"= %����= �=��� �� ��
%������"= �� ��� � ��� �� �=��=�� �� �=� ��=�� �"= ���% ���� �� �� % ��% �=� ��� ��� ��� ����� � ��� �
 ��k��� \��� � � �� # �= ] ��=��" �� �� � Z[[Z
 �  � %������"= ��= �=� �=� ��=�� �"= � %����=��
%���� �� ��	= ��� �= �#���� �� �� ��#�� �� �"= �� ��� ��� ��=�� �=���=�� ��� � ���� �� ����� �"=
��� � � �� ��� 
 � ��=��� \��� � g� ��� �� 
 ����� Z[[ \
 � ��� ���� � �=��������=�� �% �=��% �= ��� �
]�����= 
 ��������= \��� � ^���$�= �� �� � \��[
 �

j� � %���� ����� �= �� e�� �� � �\ � �	 ���� �� ���=� �� ����������=�� �� �� �=� ��=�� �"=l%������"=
�� ��� � ��� �= ������ �_ � �� ���=  ��� � �=��� ����� � �� ����  a� =������ �� �� �� � �!� \ ^��
%��� �� ���� �� !� ��� � ��� ��� ��� � ��� �� �=���=���= ��%������ ��� % ��=� ������� % �� �" ��
�=�� ∼ 35◦

���� ]��� �� �� � Z[[" � & ��� ��#���=� ���
 � g ���� ����� �� ��=�� ��� � ���  ������=
%������"= � ������ �"= �= �� �=���=�� �"= �=���&�= � ^^�"" ��� ����  a� � � �
 �  ^ � �! \ "[" �
& j&� � �" �� ��$ \��[ � � ���� �� �� � Z[[� � �=� � �����$�k �f � �� �� � Z[[ \ � ���% ��� ��� �=��
 �
^� !� �������� �� ��	= ��� j&� � � \ ���=� � ��� %������=��� ��� ��� �� �� � Z[[Z
 �

m � �� ��=�������� �=� �% ������"= ���  ����� !���"= ��� %��� �� ���� �	��� � �= ���
�� �� � �� ��� � ��� �%�=�� �= � ����� �"=  �& %�"	 � � �� % ��=� ������� ��� ��� 
 g �����=�
Z[[�
 � ��  ��� ��� �= #�� � % ���"� ��� �= � �� �� � ���� � � ������ �=�� !�� �� �� �������� �  �
c ����� � �\ ����� ���$� �� �������"= � ��� =� %����� ��� �� ������ � %����� �� � ��� �� � % �� �
]��� �� �� � �Z[["
 !�= ��=�������� �� =�� ����d=����� �=������ �= �� ��% ��� ��� ������� �� �
��=�����=� �� �� �� �=������ �"= ��= �� � �� ��� � ����� �= ����� ����� �� � `������ ������ �
 ����" ��� � ����� �� � �� =� �� ��%�$ �� ������ !���� �� ��% ��� ��� �� �� �������� � ���=��

�v���������� �s����� �� !��� ���!� y"� #!��!���� "�  �� �����$ !� ������! ��% ~ &'� �!$(�)� *'�"�� �����  'x!���  !� ����!� <!� "� '�! �����  ! "� ��'������ �� ���!��+� �x*�"! ,
� \
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����= ��� �=��� % �� �� %����"= ��� � ��=�� ������� � �= �� #��=�� �� �!���� ���� ���=�� �� ���
�������= %����=�� !����  �& ����� �=��� d�� � ��� ����� %����= �=��������� ��= ��  �������
��� � ��=�� �

��� d �� ��=�� % ����= �=� �������� �� ��=� ����=�� %��� �= �_ �� ����  ��� ��=
�=� ��=���"= �	��� � � � ��� �= �� �� ���= %�� ��� �=� ����� �� %��a ����� ��=������ ���
����� � ��=���� � ��=������=�� ��� �� #�� �= �= ��� ��� �� %���� ��  ���

MBH = 10
�

�

�
& �=� �������� ��

M? = 46.2
�

�

��= �= � ��=�� ��#	���� � %����=�� � ���=��
Ṁw = 10−5 �

�&�−1 �� ���� �� % 	�� ��� ��  ��� � &
v∞ = 2500

f �−1 �� ���� � ���� ��� �=�� �  � ���� ��
������"= ��  ��� ����� �� ���� ��� =���� ��

Ṁac = 10−8 �
�
&�−1 � & �� #����� ��  ���=�$

 ������"% ��� �� ��� � ��� �
Γ = 10

�  � ��%�����"= ������� ��
a = 3R?

� ��=�� �� ��� �� �� ��
�������� ��

R? = 15
�

�

���= ����� ������� ����� ��������� ��� =� �� %������ ���=�#���=� ��
��  ��� %�� ����� � ��� �"�� �� �� �� �!�
 �

� �=� ���� � ����=� ��
r
�� �� �������� �� %����"= �� ��� ��� % �� �� � ��=�� ������� ��

Pwind =
Ṁ? v(r)

4πr2
,

�� �\

��=��

v(r) = v∞(1 − R∗/r)
�� �� % ��� � �� ���� ����� ��� � ��=�� � ��� ���� ���� � �� %����"=

��� ����� ��= �� �� %�  ��=	���� �� �� �������� ��

Pmag = B(r)2/8π,
�� �Z


��=��
B(r) =

√

B2
φ +B2

r

� � � �� %�  ��=	� ��� �� �� �������� �� ��%����=���� �= #�� �
���a=��� % �� �=  ����� �� �����  ��=	���� ���� �� �=� � �� �� \�!� 
 � ! ��� \��� 
  � ���

�Z



�=� j����=���� \���
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Bφ

Br
=

v?

v∞

(

1 +
r

R?

)

Br = B?

(

R?

r

)2

.
�� �"


��� d
v? ' (0.1− 0.2)v∞

�� �� ���� ����� �� ������"= �� �� �������� �= �� ��% ��� � �� �j�=�� 

��� ��� \���
 � &

B?

�� �� %�  ��=	���� ������� �
��� ���� ���� � �� �� � �� �� %��%��� ��= �= a=�� �� �� �� ���% ������

θ
& � �=� ���� �����

�� ��=� �=�� %�"	 � � �
c
� � �=� � ����=���

d
��� ��� ��� �� %���� �� ���� �=� %����"= ����

%��
Pj =

Lj

π c θ2d2
.

�� �� 

�= �� ���� �� � ��� �= ��` � � ] ��=���f 
 � ���!���� �\���
  �������= ��� �= � ��=�� �������
�=��=�� %���� ����=�� �� ��� � ��� � �� �=��� ��� 	��� ����=�� �� ��% ��� � �� �� �=� �������� �  �
��� �"= �� �=������ �"= ����� #�� ��� % �� �=� � ����=� �=� ���� �� ��=����� ��� ��%��� ���
#��=��� �� �!���� ����� %�������� � %��%��a=���� �= � �������=�� ���������� �  � � ����=� ��

rs����� �� �������� ��=�� �� ���h� �� � ����=� �=� ���� ����� ����� �=��� ������=�� ��� �	%���
���=�� �� �\
 � �� �Z
 ��= �� %����"= ��� � �� � ���=��

d = a− r
� j�= ��� ������� ���� ���� %��� ��

�� � % �� � �=� ��=���� ������
 � �� %����"= ��� � �� =� %���� ��� ��� �������� %�� �� ��� � ��=��
�� �� %��a ���� �� ���% �� ��=�� � ��� ����� �=� �� %���=��� � �=	���� ��� � �� � ��

qj > 0.006
�

���� �������  �&���� � �� %����"= ��� �� % �  ��=	���� ������� %���� ��= � ����� ������ �
#��=�� �� � �� % �� ����=�� �� %�����=�� � ��� �� � % �� � %���

qj = 10−2 � �= �� %�  ��=	����
B? ≥ 200

� �= �� ��% ��� ��� �� �� �������� �� =�������� %��� ��� �� #�� � �= �!���� �= ��
��� �"= �=��� �� ��� ��� �� %���� & �� ��������' � ^� ���� ����= � ����=��� ������� ��

qj
& ��

B?

�
%��� ����� ��� ����� �� ��=�� �� � �� ����� � ��� #��=��� �

 �� #��=��� �� �!���� ��=������ % �� �� �=������ �"= � ���� ��=�� ������� ��= ������ �� ����
��������"= �� %��� d�� ��� � ����	� ���  ���= �� � � �#����� �� c�� � ���� �% 	=� ���
 � ���� ��
�����������"= �= �= �!���� %������� � �� ���� �� ��=�=� �� �� �=��� d� �� ��� %��� d�� ��� %����
�	%������� �� � ��� � ] ��� �== 
 ^����� ����� \��� � � ���!���� \���
 i

dE

dt
|acc = ξZecB, donde ξ ' 0.015(u/c)2,

�� ��

���=��

u
�� ���� ����� ��� #��=�� �� �!���� & ����� ��� ������� ���a= �= �= ������ ��� � j� �

�= ��� ����� � ����� � �� ����� �� �� ����� � �� �=��� d�  a	 � � ��� ���� ����= ��� %���d�� ���
�= �� %�� ���� ����� � %����� %�� �� ����=�� �=��� ��=�=��� & % 	�� ���� �� �=��� d� � � % ��
�� �� ��� �� �� ��� �"= �� �������� �"= � ���� ��� %��a ����� ���%����� �= ���� ���� � ��
 ���= �� � ��� �� �=� ��� % 	�� ���� �� �=��� d� �� ��� %����=�� ��= ��� �=��������=��

pp
��=

pA!� �����  !� "� x�!� $ !�!   �x!� ! ����� �! ���� �'* �����! �� "� �!$ * � $ !x�)���� "� �!��! '���
∼ 103w � "� !�'��"� ! ���!�� �� ! , y}44}~ ,

�"



�������� � � � ������������ ��� ���� ���� ���
��

��  ������� ��� � ��=�� � ���� �= %���"= ����� �� ���� %���� ��� � ���� �� �==!� � 
 ^�! ���f�����
\��� 
 i

− dE

dt
|pp ≈ 0.65cn(rs)σpp(E −mpc

2),
�� �!


��=��
n(rs)

�� �� ��=����� =� 	���� �� %����=�� �= �� � ��=�� � ����� ��� #��=�� �� �!���� �
&
σpp

�� �� �����"= �� ��$ �=��a�� ��� �  � �=��� d�  a	 � � �� ��� %����=�� ���� ��� �=��=���

Emax
p ' min

[

1.9 × 1015
(u

c

)2 Bj(do)

G
eV, 3 × 1014 Bj(do)

G
eV

]

.
�� ��


^� ��=��������= ��� ������� �
u/c = 0.1

%��� �= ���� ��������� �� ���� � &
u/c = 0.5

%��� �=
�!���� ����� �� ���� � �= �� %�� �� ����

Emax
p

����" ����� �=��� % �� ��� % 	�� ���� & �= ��
����=�� % �� �� ���� ��� ��� �� �� � ��� � ��� �� ���%�"

<∼ (a−R?)
�  �� %����=�� ������������

�����= �=� � �������� �"= � �% � ��& �� % ���=���� � %��� �� ���� �� ��=�����" �=� �=��� d�  d= � �
Emin

p ∼ 10
� ��

Np(E) = KαE
−α, 10mpc

2 < E < Emax
p .

�� ��

� � d=� ���

α
�� ∼ 2

%��� �= �!���� =� ������� ���� #����� �=h ��� �� � ��! ����
 � &
α ∼ 1.5%��� �= �!���� ������� ���� ��� � � ���!��� � \���
 �

b=� ������ #�����"=
χ

�� �� �=��� d� ���=�% ������ % �� �� � �� �� ���=����� � ��� %�����
=�� ������������ �= �� #��=�� �� �!���� � ������ ��$�=�� �� ���%��� �=� �� � ��=���

χ = 0.1�] ��=�#��� 
 g ����f�� \���
 �  ���� � �� ��=���=��
Kα

�= �� ��
 %���� ���% �� ���� ��

χLj = (a−R?)
2c

∫ Emax
p

10mpc2
Np(E)E dE.
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 � % �� ����"= ���� ���=�� �� %����=�� ����� �� ����� �� � �#�=�� �= �� � ��=�� ������� � % ��� =�
����� ��� %���d�� ��� ��= ��%���� �� ����=$�� ��� ��� ��=��  a� ��=��� � �����=�� � �� �������� �
��=�� ��  a� %����� �� ��� �#���h�= �=��������=�� !���"= ���� %��� ��=���� ��&��

γ
������ ��� 
 e����� Z[[" � e����� �� �� � Z[[� 
 � _�� ��� %����=�� %����= � =� ����=$�� �� ����

��� � ��=�� �� �=� ��=� �� �"= ���=� ����� �� � ����	� ��� �� ���=�� �
ε


 �=��� ��� ������� �� � �� % �
� �#����� & ��=������� � � ��% ��� ��� �=�� � ����� ������� ��=

td = 3r2/D, y tc = 3r/v(r),
�� �\[


��=��
D

�� �� ���� ���=�� �� � �#���"= �� �=$���� 
 ^& ������f �� \�!� 
 i

D ∼ 1

3
λrc,

�� �\\
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������
γ
�� � ������ � ��� �������� � � � ��������

���=��
λr

�� �� �=� �����  �� �� %��� �� � �#���"= �= �� � ������"= ��� ��� � ��=��� �� ����� ���
����� ��=�� �� � �#���"= =� �� �=� ��=� ���� ��=� � ��� � ��% ����� �=�� %��� �=  �� �� ����� ��=��
�� � �� �� ��� � ��=�� ������� � =�� !� �� �� ���� %�� ��� �%��	 � �� ��=�� ��������� % ��
� ! ��� �\���
 � & � � �f 
 c�� �= �\��Z
 � �= �� � ������"= %������� �� �� %�  ��=	���� ��
�� �=� ����� ��

λ‖ ∼ 10rg
� ��=��

rg = E/eB
�� �� � ������� �� %��� �= %����= �� �=��� d�

E
� �=��= ��=�� �� ����� � �� �= ������ ���
 � �= �� � ����� �"= % ��% �=� ��� ��� �� �� %� ��

�� �=� �����  �� �� ��  �=�� i
λ⊥ ∼ rg

� �= �� � ������"= ��� ��� ���� ��� �=��=��� �e����� ��
�� � Z[[� 
 i

λr = rg(10 cos2 θ + sin2 θ),
�� �\Z


��=��
cos−2 θ = 1 + (Bφ/Br)

2 �
� ����	� �� �� ��=� �� �"=

ε = 1
�� �=���=��� �� �=��� d�  d= � � �� ��� %����=�� �

Emin
p (r)

�
%�� ����� � �� �� ���� ��� %����=�� ��= ����������� ��� �� �� �� �������� %�� �� ��=���� �"= n �=
�� ����� ��� ������ � � �� ���%�"

Emin
p (rs)

�� � �� �=��� d�  d= � � �� �= %���"= ��� ����� ��
!�� �� ���� ��������� �= �� #��=�� �� �!���� �������=� ��= �= %���"= #�d� � ����� �� �� ����
��� � ��=�� ������� �
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γ

� �����	��


� � ��� � �� %����=�� ������� ����� �� �= ���� ���� �����"% ��� � & �� ����� ��=� �= #�� � �� % ��
��= �� ��=����� �	%������ �= �� ��
 � ��  ��� ���

Jp(E) = cNp(E)/4π
�  � ��=����� �� ���

%����=�� ��� � ��=�� ����� ������%�� %�� �� �\\
 � & ���� ���
n(r ∼ R?) ' 1015 � −3 �  ��=����

���
n(r = a/2) ' 1012 � −3 � � � �a��� �� �� �� � ���"= �� #���=��

γ
���� ���=��� ��� ���� ��

 ��=�� �� % ��=�� =������ �� �����$" �= ��  ���� �� �� �%��	 � �� �"= ��  � �=��� % ������
%�� �� � �������� �"= ��% ������� ���� �� ����� \��[
 � ^� ��=��������= � �#���=���  ������ ���
���=�� ��� %��a �����

qj
�
B?

&
Bj(d0)

� ��� a� �� ��=������� ��� ����� �� �!���� ����� �� ����
& ����������� ���� �

α = 1.5
&
α = 2

� ���% ������ �=��
 �  �� %�� ���� ���� ���� =�� �� ��
�qr* ����!$ ���� � u����� �� ! , y}44� ~ *��*������!�  ! ��x'����� �r*����+� �

ε ∼
{

3eB?v∞(r − R?)(R?/r)2(1 + (v?/v∞(1 + r/R?))
2)3/2

}

/
{

Epc(10 + (v?/v∞(1 + r/R?))
2)
}

.

1q ��� ��!�!$ ����� "�  ! �����+� �� �!� "�s������!   ��! !

qγ(Eγ) = 4πσpp(Ep)
2Z

(α)
p→π0

α
Jp(Eγ)ηAΘ(Ep − Emin

p ),

"��"� � s!����
Z

(α)
p→π0

�� �   !$ !"� #$ �$ ���� *��!"�% � ��
Z

(α)
p→π0 =

∫ 1

0
xα−1Fpπ0(x)dx

� ����"�
x = Eπ0/Ep�

Fpπ0(x)
 ! �����+� ��� '���! !"�$ ������! , q  s!����

ηA ∼ 1.5
����� �� �'���!  ! ��$ * �����+� �����"!�"� ������ ���� !� ,

Θ
�� '�! s'���+� "� =�!����"� ,

q ��� ��!(!z� s'� ��! ��!"� ��� !��������"!" ! ����� $ ������!"�� �� ���! ����� � '�� ��!�"� '�! !*��r �$ !��+�$ �� ��$ * � *!�!  ! �$ ���� �"!"
γ

, A! !*��r �$ !��+� "�  �� $ �$ ����� * ��!"�� � ��� �$ (!�x� � *��*������!���' �!"�� ��$ *!��(  �� ��� !*��r �$ !������ $ �� ��������� ��$ �  !� "� � � ��� �� ! , y}445~ � "����� "� �������&'� �� �r��"�� � 
10 %

,
��



�������� � � � ������������ ��� ���� ���� ���
��

e�� �� � �\ ���������$�= ����  ����� �  ���� �� �a �� % �����"=
rs

��� #��=�� �� �!���� � ���
��=��� �� �=��� d�� �� ��� %����=�� ������� ����� ��� �� � �#�=��= !���� ��� ��� ��=�� �=���=��
��� � ��=�� � & �=�� �=�� � �� �� �=������

γ
�=������� �  �� �#����� �� ������ �"= �= �� �� %�

��� ������ ������� !�= ���� ��=��������� �% ����=�� �� �	%����"= �� �� ���� �"= �� ��$ �����
σγγ

���� c ����� ! �\
 � & �� ���� �" �= ����� �	%�=�=� ��� � ����� �=��� d�� �  �� � �������� ��=��
��% �������� ���� ���=��� ��  ������= �= �� c ����� � �Z � %��� ����=��  ������ �

�-��- � /01 � 65OKJ39;5 96 K3 6Q :5:R7 67 3KJ35 6768S �35 S6768393 67 2U5 T;7 :7TK:73T:R7 6� J86Q 3 L
B35 K6J835 
 V � V � 67 6K 7;Q�86 96K Q ;96K; :79:T37 P3TJ;8 96 3T;4K3Q :67J; 3KJ; V Q 69:; ; �3� ; V
8654 6TJ:�3Q 67J6 L

Model qj B? Bj(d0) rs Emin
p Emax

p, sub Emax
p, rel Lγ,(α=2) Lγ,(α=1.5) Cν,(α=2) Cν,(α=1.5)

[G] [G] [R�] [TeV] [TeV] [TeV] [erg s−1] [erg s−1] [erg−1s−1] [erg−1s−1]

A1 10−2 500 10 21.7 92.2 190 3000 2.2 1032 4.1 1032 4.0 1032 1.7 1032

A2 10−2 500 100 21.7 92.2 1900 30000 7.5 1032 3.9 1032 3.3 1032 5.4 1031

B1 10−3 1 10 34.2 0.2 190 3000 1.9 1032 5.4 1031 3.7 1031 1.6 1031

B2 10−3 1 100 34.2 0.2 1900 30000 2.1 1032 4.3 1031 3.1 1031 5.4 1030

B3 10−3 100 10 34.2 21.3 190 3000 6.4 1031 4.7 1031 3.9 1031 1.7 1031

B4 10−3 100 100 34.2 21.3 1900 30000 1.1 1032 4.1 1031 3.3 1031 5.4 1030

C1 10−4 1 10 41.1 0.2 190 3000 1.9 1031 5.4 1030 3.7 1030 1.6 1030

C2 10−4 1 100 41.1 0.2 1900 30000 2.1 1031 4.3 1030 3.1 1030 5.4 1029

C3 10−4 100 10 41.1 20.8 190 3000 6.5 1030 4.7 1030 3.9 1030 1.7 1030

C4 10−4 100 100 41.1 20.8 1900 30000 1.1 1031 4.1 1030 3.3 1030 5.5 1029

()*+,- � /� 1 � :5J8:�OT:;765 654 6TJ83K65 4383 K3 6Q :5:R7
γ
4 ;8 :7J683TT:R7 � 6J�� :67J; 67 O7 Q;96K;

96 2U T;7 :7TK:73T:R7 6�J86Q 3 L B3 K�763 4O7J6393 T;88654 ;796 3 K3 48;9OTT:R7 V W K3 96 J83@;
T;7J�7O; :7T;84 ;83 K3 ;43T:939 96K T3Q4; 839:3J:�; 65J6K38 <� ;Q 68; � � 86KK373 MII=A L

 � �=��=�����
Iν(Eν)

�� =�����=��  �"= ����
νµ + ν̄µ

%���� ��������� �� �� � ���������"=
�!



��
������
γ
�� � ������ � ��� �������� � � � ��������

��% ������ �� #���=��
γ
� %�= ��=�� �=� ��=� ���"= �� ��=������ �"= �� �� �=��� d� �� �����$�

� �� �$ 
 m��$�= Z[[Z 
 e����� �� �� � Z[[� 
 & ��� �� ��	= ^���f�� \���
 i
∫ Emax

γ

Emin
γ

EγIγ(Eγ)dEγ = C

∫ Emax
ν

Emin
ν

EνIν(Eν)dEν ,
�� �\"


��=��
C

�� �=� ��=���=�� =� 	���� ��� ����= �� �� �= ���� ��� %���� �=�= ��� �=������ ��=��
pp
% �� �����

pγ

 � ��  ��� ��� �� �� �=������ ����� �= =�����=�� ��� %������ �� ����� ��=��

�� % ��=�� �������� �� �=� ��=� ���� �� %���� �� ��= �� ��� �� %������ �= #���=��
γ
�  �

�=��=����� �� =�����=�� ���a ���� % ��

Iν(Eν) = Cν(Eν/erg)−α e−Eν/Emax
ν ,

�� �\� 

��=�� �� ��=���=��

Cν

���=� �= ������ �� ���−1 �−1 �  �� �=��� d�� �� ��� �	��� �� �� ��
�=������ �� % ��=

Emax
p = 6Emax

γ

&
Emax

ν = Emax
γ /2

�  �� ������� ��� �� �����=�= %��� ���
 ������ %��%������ �� �����= �= ��� h �� � �� ���� =�� �� �� e�� �� � �\ �

 �� =�����=�� �� %������= �= �� ��� �"= �=���=� ��� � ��=�� ������� � �� � ���� ����� �� ���
�=������ ��=��

pp
� b=� #�����"= �� ����� =�����=�� � �� ���� ��% �=�� �� �� ��� ���d� %������ ���

��� ����� � � ���a �=�����%���� %�� �� �������� � ^ � � ��= �� �������� %���� ������ �� �=� #���� �"=
�� ����� =�����=�� � !� �� ��� � ��� ��� �� ��%���� �"= �� �=��� d�

ην

���� �� ����� �� �� � \��!

�= �� �=������ ������� ��� ����� %�� ����� ��= �����= ��  �& % ������ �� � %��� ��=���� �=
�#���� �� ����=�� ��=�� �������� �� �

^ � �� #��=�� �� �=���=��� � �=� � ����=� ��
dMQ

� �� ��� � �� =�����=�� ��� ����%�= �=
� ����� �"= �� �� ������ ��

Fν(Eν) = Iν(Eν)/(4π d
2
MQ)

� ���� ��� � �� �� ���� ��� � �� ������
��� �� % �� �= �=���� �=�� �� � �j�jb]� !� �� ���%���� �=� � ����=� �� � d% ��� �� �=�
#��=�� ���a����� �

dMQ ∼ 5
f% � �  � ����� %����� ��� �= �� �������� %���� ���� ���� �� �

��=�!������ � �� �� � Z[["


S = Tobs

∫

dEνAeffFν(Eν)Pν→µ(Eν),
�� �\�


��=��
Pν→µ(Eν) ≈ 1.3 × 10−6 (Eν/TeV)0.8 ��=��� �� %����������� �� %������ �"= �� �=

 �"= ���=�� ��
ν
����� ���� �� �������� � %���

Eν ∼ 1 − 103 TeV
�� � ����� �� �� � \���

 �

��� d �
Tobs

�� �� ��� %� �� �������� �"= &
Aeff

�� a��� �#��� ��� ��� �������� � ��� ���� ���� � ��
�� ��� ���a ���� %��

N =

[

Tobs

∫

dEνAeffFB(Eν)Pν→µ(Eν)∆Ω

]1/2

,
�� �\!


��=��
∆Ω

�� �� a=�� �� �" ���� ��� !�$ ��� �������� �
∆Ω1◦×1◦ ≈ 3× 10−4 �� %��� �j�jb]� �

� ���� �� �� � Z[[Z
 &
FB(Eν) ≤ 0.2 (Eν/GeV)−3.21 GeV−1 cm−2 s−1 sr−1

�� �\�

6q ���� !'����� �! �' !��� '�! !*��r �$ !��+� ��$ * � � "��"�

Pν→µ(Eν)
��x'� '�!  �� "� * ������!� &'��(�!"! ��

Eν = 1
u�7 �  ! �'! ��;�z !  ! "�*��"����! "�  ! �����+� ���!� "� *�� ���� ,

��



�������� � � � ������������ ��� ���� ���� ���
��

�� �� ��� � �� ��#	���� �� =�����=��
νµ + ν̄µ

����f��� \��[ �  �%��� \��"
 � ���� �� ��=��
�� �% ���� �"= ��� �������� �\� \[5 e�� 
 !� �� ����� ���� �� � �� %� �� �=�������"= =��������
%��� ������

S/N = 3
�  �� ���� ������ !�= ���� �� ������ ���=��� �� � %��� ��=�������

�� �������������� �= �=� ������ �� ��� %� ��$�=�� �� � ���� �� ���� %��� ����� ��� ����� �
 ������ � \ �� j� 
 � ��= �� ��=��� ������ �� ��� �=���� �=��� �������� �

 �� ������� ����= ���� ��= ����� �= #������� � &� ��� �� #��=�� �� ����� �=�� ������ �� � � �
% ��d��� ������� ������ ���
 ��� ����� � ��� �� � ������ �� �� ∼ 2.5

� d�� �  � �������� ������ �=
∼ 10 %

��� � ���� ��� ��� ��� �� %���� � & �� !�� �� ��� �=���=���� ��= ��� � ��� � �� ��% ��� ���
�� � ���� �� ��� �� ���� ��� ∼ 20 %

�  � � ���"=
γ
�� ��	= �� 	%��=��
 ��� ����� %�� "����� �

���� ∼ 30
!���� � & �� #��=�� % �� �=��� ��� ��� %�� �=�� ∼ 6

!���� ���� ��$� �
� ��� �� ������% �$�� �"= ��� � ����� �= �� #��=�� �� �!���� � �����  ������ =� ���a= ��=

��% �=� ��=��� ��� a=�� �� �� �=� ��=���"= �� � ��� �� � �� ����� �� ���� %��� ��� � �� ��� �� �� �
Z[["
 � ���=��� �� � �� ���� �"= � ������d�= �" �� �� �� � ����� �� �=� ��� ��= �� % ��=� ������� � % ���
�=� ���� ��d � �� ��� � =� ���d� ��%�� ��� % �� �� % ���� &� ��� ��� %��� d�� ��� �� � �#�=��= % ��
���� �� ��� �"= �=���=� ��� � ��=�� � ��=��� ��� d =� !� �� ������������ �� �a ��� �� ��������
�� � ��� � ��% ���� ��� �� ��%�� ���� ��=�� %�� �������� ������� ��=	����� �= �� ����� % �� ���
#���=�� e�� !��� �� ��� �_ � �=� ��=���� #��=��� ������ ��� �= �� ��=�� � �� & � �� �

� �� ��� �	�� �
 ���
�	

��� ���

�	 
�� �	 ��� 
��
�
 �
 �	 
���
��	

^ � �� %���=� �� ��� � �� �� ��� � ��=�� � 	��� � %���� � ������ �=�� ��=��� �� �������� � ����
�������� ���� ���� � ��=������ �� �= h ��� �  ����� ��= �

qj = 0.1
� � � ��� � �� %����=��

������� ����� ��� �=������h� ��= ��  ������� ������� �� ��� d �� ���� ���=�� �� �� �������� �"= � ��
����� ��� � �� � & ����� �=� � �������� �"= �� ���� � �� ���� �= �� �� 
 � ����� ��� �=������ �� ��� �
��� �� �%��	 � � � �� ��������� ^� ��=�����"

E ′max
p = 100

e�� � &
Γ = 10

%��� �� #����� ��
 ���=�$  ������"% ��� ��� � �� � ���� �� � �������� �"= �� ��� %����=�� ������� �����  �=��� � ��
��� ��� ������� ��� d=� ��� ��% ������

α = 2
&
α = 1.5

�
 �� ��&��

γ
���a= ���������� % �� �������� ������� ��=	� ���� �= ��  ������� �� �� �������� �

��� �=�� �� �$a� �� � ������ �=� �d=�� �� �= ��� ���� �"= �� %���� � � ��� ���  a� �=������=��
�=���$�� �= ���� ���� �� %�������"= �� =�����=�� ��� ���� ���= ��� ���� � ��=�� �� % ��=��
��������� � � �  ������� ��� %��% ��� ��=� ��� %����=�� � ��=�� ����� �= % ��� �

ρ(r) = ρc

[

1 − (r/R?)
2
]

,
�� �\�


��=
ρc ' 0.05

�l� 3 � �� ������� ��= �� ��%� �� �������� ��=�������� �
9A!� ���! !� ��$ * ��! �� *!�!  ! !�� ��!��+� � "�s'��+� "�  !� *!�� <�'  !� ��� $ '��� $ ������ &'� �����! �� �

td(Emax
p ) <∼ 29

� �
td(Emin

p ) <∼ 203
� *!�!  �� $ � "� �� �����"��!"�� ,

�
Lj = qj 5.7 1038

��x �
−1	?� �����"��!

θ = 0
� � �!$ (�! '� ��x�� * �� �!���  ! ��!��s��$ !��+� "� A������ ! �����$ ! "�  ! �����  ! ,7�� �r*����+� y}{~ �� ��$ ��� v � ��  !�! y}44�~ ,


A! "����"!" "� $ !����! "��"� �� *�� "'���  ��
π±

�� �� �!� ! �! ��$ � *!�! &'�  �� *����� �����!��(��!���� "� "��!�� , A! �����+� �� �!� ��
σπ±p ∼ 25

$( � � � ���$ *� "� ��"! $ �"�!
τπ± ∼ 10−8

� ,
��



��
������
γ
�� � ������ � ��� �������� � � � ��������

�= �� ����� � �� ��#���=� �� ��� ���������� ��� =�����=�� ����=$�= �=��� d�� �����=��
�� e�� � ����=��  �&�� �=�� #���� ��� ��=�� �� ���������"= �� �j�jb]� � ^� �����=�
Cν,(α=2) = 3.7 1032 erg−1s−1 & Cν,(α=1.5) = 3.1 1034 erg−1s−1 �  � ����� %��� �= �_ � �=��
∼ 2

f% � %������ �= ���� ����
Nµ = 3.25

 ��=�� % �� ��� � � �= = ���� ��
S/N = 3

��
=�������� �=��=��� �= ��� %� �� �������� �"= ��

Tobs ∼ 15
���� � `����� ��� �� =��������

��� �� �d=�� �� �� � ����� #�� � �= a=�� �� % ������ ��= �� �� � �� ��� � ��� & � �� ��$ ��= ��
% ��=� �� �� "����� %��� ����=��$�� �� ������ �"= �

��
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�������� 10
�	 
�
�
 ��	 	 � �
 �������� ������
���

g������� ��=�� �� �d=��� �� � �� ����"= �= %� ������ �� ��&�� � !�= % �� �� ��� ��� � �� ���
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Ėiny ∼ Jmax Vmax ∼ 1036 )�, �−1 �
�-*)�) ��) ). ��
+�*- /) 
�-*-=)� �).+* �� ��*+� �-��) ). / ���- =- �� .- - ����) )= �= 
�=*-
)�
 )� 	� �- � ��=- �-��) �= ��)+ �-= �=+ ��)�*+ )	*)=���= �+/ �+. � �+ ��) .+ �+�) /) .+� .	=)+�
/) �+�
- )� +��+�*�+/+ �-= ). � +*)��+. +��)*+/- � � .,�=-� +�*-�)� �=�-�
-�+= �= �+�*-� /)
�-.�� +���= - ���� 	
� 0

∆Ω/4π ≈ 0.3

 + .+ .�� �=-��/+/ ��) )��+
+ � 
+�+ *)=)� )= ��)=*+

)= �-�� + �)=-� )=-.�, ��+ .+ / ��)�� �-=+.�/+/ /) .+ )� ����= ��) )� )�,) 0��)=, )* +. � ��� � ��-� )�- )* +. � 2�� �
 �
� *�- )�)�*- ��) ,)=)�+ ). �-��+�/)- /). / ���- 
-� )�*+ �-���)=*) /) 
�-*-=)� )� .+


 )�*���+� ��= /) �� )�*���*��+ � �= .+ +�*�+.�/+/ .+� �=)�*+��.�/+/)� )= / ���-� /) +��)� ��=
�) *�+*+= � )/ �+=*) ���� .+��-=)� =�� 
���+� 0)� � �)�)�� )* +. � 2��� � � )�.-= � 
 �+�+��� �=
2��	
 � � �*-� +�*-�)� �)�+.+= ��) ). )�)�*- )�*+��.��+=*) /) .+ +/�)�� ��= )= / ��)�� ��= �+/ �+.

�-�+� .)� )=*) ..)�) + �= �-�
 -�*+� �)=*- .	� �*) /) * �
 - -�� �.+*-��- 0
�-�+� .)� )=*) /+=/-
-��,)= + .-� �+�,-� /) -�� �.+��-=)� ��+���
 )���/ ��+� ��) �) -��)��+= )= �+�-� � 
 � �= ). �+�-
)= ��) .+ 
 )�*���+� ��= ��) 
�-/��) .+ �-���)=*) /) 
�-*-=)� =- 
�)/+ �-=�=+��) + �=+
-�� �.+� ��= ��+�) /) .+ +.*��+ /). / ���- � ). ��)��� �)=*- )	
 -=)=��+. /). )�
 )�-� ..)�+�	+ + .+
).�� �=+� ��= /) .+ 
 )�*���+� ��= 
-� ). ..)=+/- /) .+ ��)��+ /) +�).)�+� ��= � �= *+. �+�- � ).
/ ���- �) �)+�-� -/+�	+ + �� )�*���*��+ =-�� +. �+�*+ ��) )�)=*�+.� )=*) �) �))�*+� .)��+ .+
�-���)=*) /) 
�-*-=)� � �)�� .*+=/- *+���
= �= �-�
-�*+� �)=*- -�� �.+*-��- 0� �)..+=+ )* +. �
2���� 
 �


� �
�
� 
��������� �� ����� ����� � �������� ����� ������ ���
����� �� ��������

1+ �-.���� /) 
!-*- )� !).+* �� ��*+� �- *!+ ). / ���- /) +�!)� �� 
!-/��) .-� !)�� .*+/-�
���+.)� /) � *)!+�� �- )�

pp " ��� 	 �) )�*�/ �� ) /)*+..) .+ !+/ �+� �� 
γ

��) �) 
!-/��) 
 -!
/)�+ �� �) *- /) 
 �- )�  )�*!-� # � .-� )�)�*-� /) �� 
!-
+,+� �� " � *+. � �) �- ��/)!� �-� -
�+�- /) )�*�/ �- .+ $� +!�+ /) !+�-� � � �%�%& 2	 " � �*) ���*)� + 
!)�) *+ � �-�
-!*+� �) *-
�� .* ���!)��) � �+  -*+$ .) # 
 -! .- ��) �+ ��/- )�*�/ �+/- ) �-!� + � *) ���+ � )/ �+ *) / ��)!�+�
�+�
+�+� /) -$�)!�+� �� " � �-�+  )..� 
 � !+� �+* � 0�''2
 $!� /+ � +!*	�� .- /) !)� ���� 
�-$!) )�*+ $� +!�+( "

� �%�%& 2	 )� � ���*)� + �- +.*+ )	 �) *!�� �/+/ # �-!� +/- 
-! � 
� .�+! /) !+�-� � 0�- 

 )!	-/- ��� �
 # � .+ )�*!)..+ )*� 2�%��� /) *�
- )�
 )�*!+. +�, ,, " � . 
 )!	-/- -!$�*+. )�
/) ��� / 	+� " 1+ / ��*+ � �+ )�* �� +/+ )� /)

2.6 ± 0.4
�
 � " �!)��) *)� ) *) �) �+ -$�)!�+/-

)�) *-� *!+ ��*-!�-� /) *�
- )	
 .-���- ) .+ )� ���� /) !+�-� � /) )�*+ ��) *) " * ���-� - ./01
� 23453/141 �+ � -�*!+/- / ��)!�+� � *) ��/+/)� 0�)! �- ) )* +. " 2��	 � ��� !)�)!) � �+�
 "

6�'�&'� ���� 789:8; �! �$ *���! ! &'�"!� "��!��'! ��!"� � �� ����! "�  !� �'��!� �(����!������ ,
'%



�������� �� � ������� ����� �� �����	�� �
	�������

*�!+ *) )*+
+� /) +�* �� �/+/ ) !+�-� � �) �+ -$�)!�+/- *!+ ����- )� ) *!) )�*+/-� /)
)� ���� ) ). ,� # .- ��+. 
+!)�) ��,)!�! ��) .+� )	
 .-��- )� ) !+�-� � �) � � �� .+ + � 
� �!)� ) *- ) .+ *+�+ /) +�!)� �� /) � +�+ # � + .+ 
!)�) � �+ /) � / ���- *!+ ��*-!�- +.!)/)/-!
/) .+ )�*!)..+ + ) 0) +�,� )* +. " 2��� 
 " � � !� /�*!-� )* +. " 02���$ 
 �) !)
 -!*+ �+!�+� �- )�
/) .+ .	 )+ )

α "� �)!*-� !+�,-� ) ). )�
 )�*!- # �)!�+ /) .-� ��� � )� # �+ ��/- -$�)!�+/-� ) � �%�%& 2	 "� �*-� �) !).+� �- + �- )� ���� �� �!-*!� # ) � / ��+ ��) ). �+�
- � +, 
*��- / �
 -.+! /) .+
)�*!)..+ /)  )�*!- )� )� ∼ 1013

� +��� 0� � ,)! )* +. " �''	
 " 1+ 
!-
�)�*+ /) ��) ). � )�+ ��� -
/) ��) ,�� �/)!� + 
-/!	+ )�*+! -
 )!+ /- ) � �%�%& 2	 ��) !)+.��+/+ 
 -! �-� )!- )* +. "02�� �
 
+!+ $!� /+! � + )	
 .��+� �� ��) � � �� .) + )�*) ���*)� + �- .+ ��) *) /) !+�-�

γ��� ��%�2& 2	�� # �- .+ ��) �- � � �/) 
 -����- +.� ) *) " � �!)..+ + )* +. " 02���$ 
 �)� -�

!-�� / ��+/- ) ). *!+*+� �) *- ��+ * �*+*��- /) +��)..+ 
!-
�)�*+ -!�, � +. " �- ��/)!+� -�
� + )	
 .-��� , �,+ *) ) !+�-� � ��) �+ )�)�*�+/- � �%�%& 2	 /�!+ *) �)$!)!-�� +!�- /)
�''� � 
) +� ��*� � + �� ��� ��+�) /). *�)�
- + .+ ��!�+ /) .�� 0/+/+ ) .+ � �,�!+ ' /)
� � ,)! )* +. " �''	
 # ��) /)*)!� � +
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 )!���) /) .+ )�*!)..+ /)  )�*!- )� " � ) )!, 	+�
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γ
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� ��$ � ��� ������7  !� $ ���+# �� . ,%� �� �%���� ��� $ ���� �(� ��#�� ,%� �� �������� !� � �%� "� �� ���������� �� ���� ������� '-�%.� ������� �� �� � ��� �� ���%��� / �� ��$  ��� � ���� $ �� �� ��� � ������ �� ����� ��$ %��� . � � �  ��0��� �� �� %�  �� �� ����$ �� #��%�� . � �� ����  #%��� �� ���.� � *�. ����#�� ����#���#1# ���  $ � ��#��#�� '2��� %�� ����� � � !� $ 1� ��#������ �� �� #��� �� �� �������� !� � �%� "� "�� ��%�. � !,: � '
&&%



� ���� �
� � � �	�
���� � ���
�� � ���
���� ����	�
��

- /+� /) ��-��) ) +�$�) *)� +�*!-�!���-� .- $+�*+ *) )���) *) �-� - 
+!+ /+! ��) *+ /)
.+ +�).)!+� �� /) .-� !+�-� ���� ��-� " � + 
+!*!�� .+ /) +.*+ ) )!, !+ / ��� /) ) ��+.�� �)!+
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E
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 .�- /) .- +�� ! )

�)�*- # 
+!+ *!+*+� �) *-� /) )�)�*-�
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� *)!)�*).+! "

(*)��)! 0&'��� �)�+.+ ��) )
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-! )� " * )!� )! 0&'�	� # (*)
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 �! � �!�� � �� �� ��
 �!�� �� �� ! ���!�!! # �$�� �� � ( ��
dτγγ = (1 − ĕγ · ĕ?)nεσγγdεdΩdl #� "&$�

�� �� dΩ �� �! " "� !� �� !��� �� !�� ���� �� �� �� ���� � ( # � nε
�� ! �� ��� � �� ! ! � � ��� 

#����! !� � ���� �� ��−3 �!"−1 �!−1 "% ���� �� ��� � �� ! � ��! �� �� �� ��� ���� �� #
σγγ

# ��
 � �� �� !� �� ! � �!" ! ��� !
� �! ������  �	 # ���  � �� � ���  !�� � ��

s =
εE

2m2
ec

4
(1 − ĕγ · ĕ?), #� "&&�

� ! � ��! �� �� � ��!!� �� !� ��
s > 1 " * � ��� �� � �� �� 
���� �$�� �!�� ! � �!" ! � ! ��  #

εmin

 ! ��� !�� ���� �� ����! !�� ��  � 
 ��� ��  $��!$ �!  ! ���� �� � �!" ! E " % ������ ��� � � �� � � � 
 �! #��� !� 	 (��!%��! &''��

σγγ =
πr2

0

2
(1 − β2)

[

2β(β2 − 2) + (3 − β4) ln

(

1 + β

1 − β

)]

, #� "&��
�� 

β =

(

1 − 1

s

)1/2

, #� "&%�
� �� � ���!�� �� ! �

!���� ��! ! � �� � !"���� ��! �!���!� 

r0 = e2/mec
2 "
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γ
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% �� ���� �� ! ���!�!! 
���� �� ����! !��  �!�  !� � �� ��� � �� ���!
 �  �"!� " ( � ! ���!�!! � �� � ! � ��
R?

� ���
 �! ��! 
T?

# � �� ���
nε =

2ε2

h3c3
1

exp(ε/kT?) − 1
ph cm−3erg−1sr−1. #� "&'�

� !�� �  �� �! ������  �� !���!� � � �� �! �� � ! ���!�!! �� � ��� ��� �! ���� γ ��

!�
 "�� � �! 
 !  � x�z # � �� ��� ! �$�� � �� � � �!����� �� %��� ����  ����!� �  � �

�! �! " "� !�

ψ
� ! � ���  � � 

d " � �� � �� �� !�� " "� !�� ��� ���� � ! � �"�! � "�!��� !� 
1 − ĕγ · ĕ? = 1 + cosψ cos θ + sinψ cos φ sin θ. #� "&��

� ! " "� !� �� !��� �� !�� ���� �� ��� � � �   � � �!����� 
ĕ?

��
dΩ = sin θdφdθ. #� "&��
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z
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��
�� �� ���	
����� � �� 
�� ��� ��� ����
γ
� � �
��� �� ����	 ������ �

"
% � ���  � � ��� �! ! �� " ��  !���!!� ����� �! !�" ! �� �� �� �� �� ��� �� � !! �  ��

l " � ! �! !�" ! �� �� ���� #
� �� ,� ! � ���  � � ��
d0

� �! " "� !� !��
 ����  ! ���!�!! # ψ0

#
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��  � !�  � !� �� �! ���� � � �  � �!��� � � �� � � � ! ���!�!! " � �� � �  � �� ��� �� !�! � ��   ��"' 
ψ = tan−1

(

d0 sinψ0

d0 cosψ0 − l

)

para l < d0 cosψ0, #� "&'�
�
ψ = π + tan−1(...) 
 ! l > d0 cosψ0 "

% � ���  � � 
d

���
 !� d2 = d2
0 + l2 − 2d0l cosψ0 "% ��
 � �� �� �� dτγγ

�� 
E
#
ε
#
φ
#
θ

�
l ��  ��! �

 !�� �� " % �
 � �� � 
 ! ! 


!�
 " � �� � �� � �$��!� ��! !��   � !��� !� �� � ��"! !

τγγ =

∫ ∞

0

dl

∫ 1

cmin

d cos θ

∫ 2π

0

dφ

∫ ∞

εmin

dτγγ

dεdΩdl
dε, #� "$��

�� �� cmin = (1 − R2
?/d

2)1/2 " � ! !� !�� ! ���� �" !�� !� �� � �� � � �$� ! �� � !� $ !� �

�! $ �  ! �� 
β

��� ���  !!�$ � ! �

!���� #� "&�� # �� �� β � !! � �! � ��!� !� [0, 1] "
���� "� # �� �� �!" �!  ���!�  ! ! � ��"! ! � l � �  � ��"! ! ��� �� ��$!� ψ � �!�
[ψ0, π]

$ � � ! �� � ���� 
d0 sinψ0 ≥ R? #� �! ���� " ��  ��
 �� !" ! ���!�!! � "

��  ��
R? � d

# ! � ��"! ! #� "$�� ��$!� !�� " "� !��
θ
�
φ

�����!�� !  
!�
 ��  � �� ����� �� 
� �� !
dτγγ = π

(

R?

d

)2

σγγnε(1 + cosψ)dldε, #� "$&�
�� �� ! � �!" ! ��$! ! ��

εmin = 2m2
ec

4/E(1 + cosψ) " � ��  
!�
 ��  ��� �� � ��  ! ���
  $ !�� � �� $��  � � �� ��� ψ ≈ π

# � ��� ! � ���  �� �� d − R? < R?
� �! 
� �� � "���!�  � �� ! �! �����!�  ! ���!�!! " � ����� � ��� # ��!" 
!���!�$ !� � �" !�� !� ���
 !����� #� "$�� "

� ! �" !�� !� �� ! �
 � �� � ��� � �!��� �! � �
� ! � � � ��� �� � � ���� 
 !  � �� ��� �! !
 ! � �� �� ! ���!�!! " % � �"�! � "% �����! ! "��� ��!! �� ����! � " � ���� � �� ! 
�! �����!� ��! ���� " ��  � ��� � �! 
� �� , # �� � !�!�� � �� � !��

d0

�
ψ0

� �   � �� � ! ���
 ! � !�� � " "� !�
Φ

!��
 ���� ��! �� � z �� ��� ��!! ��! � ���� " % �

!���� #� "&��� �$�  
dΩ = | cos η|RdR

l̃2
dϕ. #� "$$�

+ ����! 	 �  � ��� #&''%� �$� �� � ! !�! � �� "��� %�!�� 
cos η = −cos(ψ + Φ)d

l̃
#� "$&�

�� ��
l̃2 = d2 +R2 + 2dR sinψ sin(ψ + Φ). #� "$��%�� � �$��� �� � !� $ !�� �� ��� �! !��  ! � �� ��! � �
� ! � � � ��� ����! ! # 
 �!� ! � ��"! !�� " "� !� �� !��� � ��!
�! !�� !!� ���� �� ! � !� $ !� R � �!� � �!� !�� ! � ��� � ��! � �

�
��! � ��! � ���� "
&$$
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������ ��� �� ����  ��� �! �  #� �&$� ! 
��� ��!�� � �� ��� �� �!������ ����� ��'� ����� ����� ����! � 
 �� � ��
 ������ ���
��� ������ ���" � � 
��

dτeγ = (1 − βeĕe · ĕ?)nεσeγdεdΩdl, #� �$��
�����

ĕe
��  ��� �! ������ �� ! � �������� �� � �� �� ����� ��! �!������ ��� ����� ��!� ��� �

βe
�� ���� ��� �� c �  ! 
 �"� ���� �� ! ������� ��� � !� ��

η =
εEe

(mc2)2
(1 − βeĕe · ĕ?), #� �$'�

����� Ee = mc2/
√

1 − β2
e

�� ! ����" ! ��! �!������ � % ������� ��� � ��� � !�� ! � 
 ��� !��� � ���� �� �� &"$" # � � !�

σeγ =
3

4
σT

{

1 + η

η3

[

2η (1 + η)

1 + 2η
− ln(1 + 2η)

]

+
1

2η
ln(1 + 2η) − 1 + 3η

(1 + 2η)2

}

' σT (1 − 2η) if η � 1

' 3σT

8η

[

1

2
+ ln(2η)

]

if η � 1. #� �$��
��� ! �� ���!��� ! ������� ��� � �� ���� ��� # σT = 8πe4/(3m2c4) ≈ 6.65 × 10−25�� 2 �

 ! ��
 ����� �� ������� γ ��� ���� !� �� ! � � ��
 �������� !� �� �� �����%� ����� ! ��!�� �" !�� !�� �� � �� � � �!������  "�%� �� � ��� ��� �� ��
 !�� ��� �� � $ �� �� ��"���� ! 
 
��% ��  ���� � � 
 �� &���� #&"'�� # � �� ��� � �� ����  ��� �! �  '��� ��� #&""�� � 
��� !�� ������� !!�" �  ! �!������ �� ����   �������
 �� # 
����������� �� ! ��
 ������ �� ! 
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�����!! � � � �� � � ���� 
��� !��  !! �  � �� µ  ! ������� � ���� ������ ��! "�"� !� �����! � � ���������� �� � �� �� ����� ��! �!������ � �� �� ����� ��� �! ��� ����� ��' �  ��� ��
µ = cosψ cos θ + sinψ cosφ sin θ, #� �$��

����� 
 �� � ! ��� � ��� �� �!�� �� �� ��� !�� ���� # � ��� � ���������� ��� !�� "�"� !�� �� ��������  ! � �� �� ����� ��! �!������ �  �� ��� ψ
������ �� �� 
 �� �! !�" � ����� � ����� ! 

����� ����� # !�� ����� "�"� !�� � �! � �� 0 ≤ θ ≤ θmax

�
0 ≤ φ ≤ 2π # ����� cos θmax = cmin� �� � ������� � %�� � !���� �%���� �� ��� ���  ! ������� µ ���"� ����� ! � �
 ������

{cosψ, cos(ψ + θmax), cos(ψ − θmax), 1} # ������ 1 �� !� 
���� !� �� ��� ψ < θmax �  � �������� ��� �"� # � �� � ��� ���
 ������ �� !�� � !���� � ������ ��� �� �������� µmin

�
µmax # ������!�� � �� ��� � 
 �"� ����� ��

ζ1,2(Eγ) =
Eγmc

2

εγ(1 + βµmax,min)(E − Eγ)
, #� �$"�

�� �� ���� ��� ����� ! ����" ! ε ��! ����� ��� ����� ��' � �� ���� ��� � � ��� ! Eγ
�� ! 

����" ! ��! ����� � ��
 ��� �� ��� ��  '� � �� � !� # � γ �� �! � ���� �� %������ ��! �!������ �
 ! 
 �� ��"������ �� � !! � ��% 
 ��� ��! ������ !� ����� ζ1 �

ζ2
���" ������ ��! (1 −

β, 1 + β) # ��� �� 
 ��� �� ��� 
�� ! ����� "��� �� ! ����� ����� !� � %! �  � �� ζmin

�
ζmax !�� � !���� �%���� �� �� � ! ������������ #�� �� �� � � ! � � � � �!�� ��� ! �%
������ $�' ��&���� #&"'�� # �� 
���� ������ ��  ! ��
 ����� �� ������� γ ��� ���� !� � �� ! � ��
 ������ �� ! 

��"������ ����  

dN

dtdEγ
∝ Eγ

(1 −Eγ/E)

(

ζ − 2 ln ζ − 2

ζ
− (Eγ/E)2

(1 − Eγ/E)ζ

)
∣

∣

∣

∣

ζmax

ζmin

#� �&��

 � γ � 1 �  ! �� ������ ����� ! � ����" ! � ��! ����� γ � ��! �!������ ��� !� � ��
 ���� ���" ��� �� 
��

Eγ

E
≤ 4εγ

mc2 + 4εγ
. #� �& &�

� 
� 
 �������� ����� ������������ � ���� �����
��� � �����
�� �"���� # �� �%���� 	 ���� � �!� �� �� !����� ��� � " ��� �� �� ��������� 
������ !� ���� �� �'� ���� 
 � ����!��� �� 
��� !��  �  ��� � ���� �%���� � ���������� ���� ��� � �� � %���� 
������� 
 � �� !�� � ������� �" !�� !�� # �� ��
 ��� !  ���!!�����  �� �� ���
 !�� �� ��� � 
 � ������ � ��  
��% ��  ���� � "� ���������� ! � ���� �! �����  
 !���� � �� �� � %���� 	 ���� � �!� �� �� � �� 
��� !��  �� ��
 ���� �� ! � ��� �!�� ���� �"���� ��! 
��� !��  �� �! # ���� � "� ���� ��! ����� �� ������� ! �!� �� � ��� ����� �������� �� �'� ����  !  � � ��������" �� ! ����!����� � �����  
 !�� ��� ����
�� �� 
���	
��	
�
 �	 
� ����	
�����	��	 ��
��������� �
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���� !� 
 ���� �� ������
 ������� �! ���� !� �� ���� �� ��� �! ���
��� � ����� ��
 �� �� ���� ������  ���� �"�� ��� �
�� 
��� !��  ���'� ���!� ��� �! ������� � �� � !��

x
�� �� � � � ����������� p(x) #������ �� �� � �"� (x1, x2) � � � �!�� ��� R 
 � ��
������ � �� �'� ���  !� ����� ��� 
���� ��!�� � �� � ��������� �� ����  ������� � �� �! � �"� (0, 1)
� � (� �� �! � �"� �� �����%� # !��

� !���� �� p ���  ��� ��� # ����
�� 
���� �� �!�� ��� �� � %���� �� ���� �� 
 � ������� �
x #��� �� � & � �� &"��� �  ! 
�� ��� �� ����� �������� �� ������� � 
��� ��� �� ! � ������������������ � �� (x1, x2)

 �� �%� ��! � !��  !� ����� R1

� �� ��� �! � ���� �� � �� � !�
x = x1 + (x2 − x1)R1 #� �&$�

� !��"�  ��
� � � ���� � � x �� � ��  ���� �'� ���  !� ����� R2 � (� ���� � x � �� ��
 ��� �� ����� ��
R2 >

p(x)

pmax
, #� �&&�

����� pmax
�� �! � !�� � "% �� � ��� ���  

p �� (x1, x2) �
������ ���� � %���� 
���� ��� �� �� 
 � �� !����� � ����������� # ���� !� ��� ������������ p(x) ��  
 �� ����� �� �� � ����������� ������� � # �� ���� � �� # �� "���� � ������

� !����  !� ������ � �� �����"��� �� � !�� �� x  ��
� �� �  � !  ��� !�� � � � ���� ������ � � ��
���� !�� 
 � ������� � �� ! � � ������������� � "� ���� ��� � # �� �!�� ��� �� !� ���'� ��� 
 ������ �� � !����  !� ������ � ���� "� # 
 � � ������������� ��! � �� � ���� ���
 !�� #����� ���� ���� ���"�� ���� � ��"! � # �  ����� # ��"! � � "� ��������� ���"�� �� ������ ���� � �
�� �� ��
 !� '� �! �� �! � %���� �� ! ������� ������ � 	  � �� � ����������� p(x) # !! � �� ��

P(x)
 �� ������� ���� ! ��� �� 
��� ��!�� � #! ����"� ! �� p � �� x� � % ������� P(x) ���� ����������� �� ! � �� � !� x # � 
�� !� � ��� ����� �� ������� ������ � % �� ������  ����

ξ = P(x)
����� �� ���� � �� � !� ��� ���  � !���� �� �! ������ !� (0, 1) � 	 �����  ! 

������
������� ����� x �
ξ ��� � ������������� ��� � ��! ���� � � 
�� pξ(ξ)dξ = p(x)dx �%��"� #

pξ(ξ) = p(x)

(

dξ

dx

)−1

= p(x)

(

dP(x)

dx

)−1

= 1, #� �&��
�� ����� �� �% ��� ξ ����� �� � ����������� ������� � �� (0, 1) # � 
���� ������� ��� � ����� �
� ���� ��� �

ξ = R � % � �� � !� x 
���� !��"� ��������� ��� �
x = P−1(ξ) # � ���  � !����

�� (x1, x2)
��� � ����������� p(x) �  ��� 
����� �� � %���� 
�"�� ��� 
 � "���� � � !���� ��

x �� ��� �! "���� ��� �� R � ������ ��� x �� ! #'��� � � �� �� ! ��� ����
ξ =

∫ x

x1

p(x′)dx′, #� �&��
��� 
���� !! �  ��� ! ��� ���� �� �������� �� ! � �� � !� x � % � �"�� � �' �!���� �!�����
�� �  ��� 
�� ��� �� ����� �� 
 �� ��� ! �� ���� '� �! 
 � � ������������� p(x) ��� ������������  � !!� �� � ���
 !�� � 
 ��� ���� ����!��� � ���%�  � !!� �� � ���� ! ��� ���� #� �&�� �


�� 	 � �	�
�
+ 	 �	 ���
�
� 
���� ������� ��	 
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x


����
����
��� �� ������ ������
f(x)

�
�

� ����� ! � ����������� ������� � ����� ������ ���� ��� � ���  �� ��� � ��� � �������������
� � ! � ��� �� ���� ��� ��"! � �� �������� # ��� �� � q(x) ∝ [q1(x) + q2(x)]

�����  �� ���%�� ���� � �! � �� (0, 1) �  ������� �� ������� � �� �� q1 � �� q2 ��� �� �� ������ ��
�����

α =

∫ 1

0
q1(x)dx

∫ 1

0
q2(x)dx

, #� �&'�
�� ��� �! ����� �� ��� A = 1/(1+α) ��� �  ! ������ !� (0, 1) �� ��� � ���� ��� ����������
�� α �  ������� # !��"� �� "���� � �� � !�� � � R # �� R > α �� ������� �� q1 # � �� R < α�� ������� �� q2 �% �  ���! �� ! � ��"! � �� �������� ��� �� � � ��� !�� ��� �� �� �! ��� �"� � � �����! ���� �� � �� � � ��� ���!! �� # ��"��� � ���� ��� � ���� !�� !!�� � # � ! � ����� � ��� ��!�� �� � � �� � �������� #&"�'� �
� 
� 
 ��� ����������  �� ������� �� ��� �������� �������	

� ��������
 ! � ! ���� �� �� ��� ���� �� � ������� ��� � �� ! �%������� #� ��� � � ������� �� ! 

���!����� �� �� � � � �� ! ���� �� �!�������� # �� �" !��� �� � ��� ��� !�� ��� ����� ���
� ��� � ����� ����" !  !�� �!�������� �� � �� ������ ������� ��� ���� � % ����" ! � ��� �� 
#� �� � �� � � � ���� � ��!������ �� �� ����� ����� �� �� � �� �!������ ��� � ��� �����
� ���� ��� �� ���� � ����" ! �  �� ���� ����� �� �%���� 

− Ė/E � Ncσ, #� �&��
������ Ė ! � � �� � %�� �� �� ����" ! # σ ! ������� ��� � ��� ! # � N ! ������ � ��� %��� 
�� �! � �� �� #' !�� ���� ! �  �� !� &"��� �  � ������� ��" �� ���� # ��� ����� � � � � ���� ��� �
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��� �����	
γ �

	 � �	���� � ��	 ���
�
���	 � � � ��

�
���	�

�! '��� ���� � !��" � �! ������� ������� #�� �! !!� ��� �� � !� ������� �� � �� ���� !�� ���
#� �&�� # � ��� �! �!������ �� ������ �� �� ����� ��� ��� ��� �� �� ����" !  �� �� !� ����� � ������� �� � �� ����� ��� �������� � �� � ! ���� � �������� # ��� � ��� ��� ������� ! � �!��� ���!!� �� � �� � � �!������  "�%� �� � �� �� � �� �� �

����������� �� ���� ���� !��" ���� �� ! # ����� t �� �! � �"� ���� �� ! ������� �� � # � �!
� �� �� ����� ����� �� ���������  ����� �� � %! �  ��� �� f(t, E)dE

 ! �'� ��� � �� �� ��
�!�������� � �� ���� � �� ��!�� �� ��� ����" ! ����� E �

E+dE
 ! ������� �� � t �  � ����  

 �"!�" ����� � �� ��� g(t, E)dE
 ! �'� ��� � �� �� �� ������� #��� ����� � �������� !� � % �

��� ������ �� ���� " ���� �� ������� �������� ��� !�� ��� ����� ��  �������� � �� ����� ���� ����� !�" � �� �� � � �� ��� ���� � �������� ! dt �  ��� � ! ����  � !!���� ��� ��� ���!! ��
�� ������� �� ��� � �!��� � ��� ���� �� �� # � � ��������� �� � �� % �� � � ��� �� #&"&������� ����� �  ! �������� �� ��� ������  ��� ! � � ��� ���� !� � ����� ��� ����  

λe
∂f

∂t
+ f −

∫ ∞

E

wee(E,E
′)f(t, E′)dE ′ −

∫ ∞

E

weγ(E,E
′)g(t, E′)dE ′ = λeF, #� �&��

λγ
∂g

∂t
+ g −

∫ ∞

E

wγe(E,E
′)f(t, E′)dE ′ −

∫ ∞

E

wγγ(E,E
′)g(t, E′)dE ′ = λγG, #� �&"�

����� λα
�� �! � � ��� !���� � �� �� � � �� � �� !�� ! �� ���� α #α = e o γ)

� �����
�%���� ���  �� �%� �� ! ������� ��� � ��� ! � � �� �%� �� F �

G �� ���������� ! � ���� ��������� �������� � % � ��������� wαβ(E,E ′)
������ �! ��� ����� � �������� ! #����� ! ����" ! E ′��� � ��!�� ! � ������ �� � �� ���� β #β = e o γ � � ������ ��� ��� � ���������  � ����������!����� � � ��� !�� ��� ������ � �������� !�� �� � ��� ��� �! ���� !� �� �� !�� �%�� ��������"� ��� �� �! �'� ��� �� � ��!�� ! � �� ���� α ��� ����" ! E ��� �� �������� ��� �

������ �� � �� ! ����� ����� �� � �� !�� ! � β # �� ����" ! E ′ ����� �� � ���� �  ��� �  !
 ��� ! � ����� �� ��� � ��� ������ ����"���� �������� !�� �� �%� !!���� � ����� ����� ���� � � �
�! �������� � ��� ����� ����� ��� �! � �� �� # !�� ������� �  ���� !�� � � ��� � !�� �!��������
�� ���� ������� �

�� ���� � � � !� ���������� #$��&� ����� � �� ������� ���� ��� !! � �� �� ������  ��
��� ������ ��� �! �  ! �� ��������  ���� # ����� ��� ! ������� ���� �� �� � %���� ��� %����
� � ! ����!����� ��! � ��� � # �� � ��� �� � �� ��� ��� �"%���� �  � ����� #&"�$� ������ !! ��� �� ������� ���� � "�  ������ !� # � � �! � �� �� !  � !�� ����  �� � �� �� �  ���� !� � � ! !! �  � ����% ��  ���� � �
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, � � ��!! � �  � � ��� ���
� �����������  �� -� �� -������ # $..� # /01 # 2'� � 2�� � 3 �������4.�.���.5
������'� �%6 % )78'"% $ )� "##"$% 9 '$� � "#�:";% )6 � "<'$=7�#�'#
 �  � ��� ��� � , � � ��!! � 
� �������� � � ����������� # $..� # >?0 # $&� � $�� � 3 �������4.�.�$��5
@ �6'$%"< A ";A�)% )'; ; �����'� )� "##"$% 9 '$� 8A ) � "<'$=7�#�' BC D

+61 303
 �  � �E� F�E # $ � � � G����H�I��F� # , � J �FKKI�I
� �H�E������IK &E���IK # L..� # M?/ # 2."N � 2."� � 3I�H�E���4.�.O�N�5
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� �H�E������� I�Y -�I�F -��F��F # L..� # N." # NN"�N�N � 3I�H�E���4.�2. �.���5
\)' A ";A )% )'; 

γ
�'� )� "##"$% 9 '$� + �'� 8'�%#")%8# 67'"%; � �P $' $78W7'#8#

, � J �FKKI�I #  �  � �E� F�E # ] � & � �FKK���I # - � [ �Y���
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